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STRESS GENERATION IN THERMALLY GROWN OXIDE FILMS

Albert J. Kumm1cg and Lynn J. Ebert#®

ABSTRACT

A three-dimensional finite element analysis was conducted, using
the ANSYS computer program, of the stress state an a thin oxide
falm thermally formed on a rectangular piece of NaiCral alloy.

The analytical results indicated a very high compressive stress

in the lateral directions of the film (approximately 6200 MPa

a low tensile stress in the normal direction an the film (approx-
imately 2 to 10 MPa), and tensile stresses in the metal substrate
that ranged from essentially zero to about 55 MPa. It was found
further that the intensity of the analytically determined average
stresses could be approximated reasonably well by the modification

of an equation developed previously by Oxx for stresses induced
into bodies by thermal gradients.

*# Of the authors, Dr. Kumnick was formerly Assistant Professor
of Metallurgy and Materials Science, Case Western Reserve
University, and 1s now affiliated with Gould Inc., Cleveland,
Ohio. Dr. Ebert is Professor of Metallurgy and Materials
Science, Case Western Reserve Unmiversity, Cleveland, Ohao.



STRESS GENERATION IN THERMALLY GROWN OXIDE FIIMS

Introduction

The superalloys employed in aerospace applications generally exhibit
relatively poor oxidation resistance at elevated temperatures. To
withstand these high temperatures, the superalloys must be coated with
more oxidation resistant alloys. The success of the coating alloys is
dependent on their ability to form a protective oxide scale which serves
as a barrier to rapid oxidation. These highly protective oxide scales must
exhibit good adherence to the metal substrate. However, under thermal
cyclaing conditions, stresses develop i1m the scale whaich promotes spallation
of even the most adherent oxide scales. The attainment of a fundamental
understandang of the oxidation of coating alloys requires a knowledge of
the stress state which develops in the oxide scale and the anfluence of
these stresses on oxide spallation. Currently, the genmeration of stresses

in thermally grown oxide scales 1s not well understood

Phenomenologically, the oxidation of coating alloys has been well
documented and models which describe oxidation and spalling have been
proposed (1-5). These models, however, do not incorporate a detailed
analysis of the stress state in the oxide scale. Other investigations
(6-8) have considered the stresses in the scale in somewhat more detaal
but still a complete rationalization of the observed oxadation character-

istics of coating alloys is not possible.

Experimental Approach

The state of stress in a thin oxide scale formed at elevated temper-
ature and cooled to room temperature has been analyzed with the three-
dimensional finite element method (3-D FEM) using the computer program
ANSYS. A one um thick layer of A1203 was assumed to form at 110000
(= ZOOOOF) in a stress free condition on one surface of a 25.4 x 10.2 x
2.54 mm (1.0 x 0.4 x 0.1 1n) rectangular slab of NaCrAl, Fig. 1. After

oxide formataon, the solid was cooled to 2500(77°F) and stresses were cal-



culated in both oxide and metal assuming linear elastic behavior. Physical

~

and elastic parameters were assumed to be independent of temperature with

values as follows:

Metal (NiCrAl) Ox1de (A1203)
Modulus of elasticity, E 206,000MPa 402,000 MPa
Poisson's ratio, v 0.33 0.23

Thermal expansion coefficient, -6 0 -6 .0
o 20 x 10 /¢ 9 x 10 “/°C

The symmetry of the oxide coated metal sample about the z-axis allows

simplification of the FEM modeling to one quarter of the total sample as

shown an Fag. 2. The elements used for modeling were all isoparametric solids
of the STIFF 45 type. These elements are defined by eight nodal points and
have three translational degrees of freedom at each node. A total of

675 elements arranged in 27 layers of 25 elements were used. The oxide
contained five layers cof elements of equal size and the remaining 550

elements were distributed through the metal. The metal elements have

the same initial x and y dimensions as the oxade elements but the =z

dimension becomes larger with increasang distance from the oxide-metal

interface, Fig. 3.

Results and Discussion

The results of the computations for the stresses in three different
Jateral positions on the oxide-coated metal sample --- the center, the
outside cormer, and a locatron midway between the first two (locatioms 1,

13, and 25 of Fag. 2) ——— are shown as a function of vertical (z-direction)
in Table I,

As a result of the large temperature change assumed in this calculation
the normal stresses in the X and y directions in the oxide are very large.
They are always compressive and nearly uniform through the film. The

magnitude of these stresses is on the order of 6200 MPa (900 ksi). On
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crossing the oxide metal interface, the normal stresses in the x and v
directions become smaller and are tensile in nature. The largest stress
1n the metal is = 15 MPa (2.2 ksi1) and occurs near the oxide metal inter-
face. The stresses decline toward zero as the lower surface of the
metal is approached. The normal stress in the z direction range from
=10 to +10 MPa (1.5 ~+1.5 ks1) in both the oxide and metal. It 1s a
function of all three coordinates and does not vary in a simple fashion.
Shear stress in both metal and oxide are small by comparison with the

normal stresses.

The large stresses reported above for the oxide would mot occur in
practice. Cracking of the oxide or plastic deformation of the metal
would undoubtedly occur first. None the less, this treatment 1s of
value for comparison with the existing laterature (8-11) whach has con-
sidered the problem stresses induced in oxides or than films i1n two dimen-
sions only. For example, the work of Oxx (8) indicates the maximum stress

in an oxide ceating can be calculated from the relation

EmEc

s, = £ (aT) (o - )

fn + 2B, &)

m

Sc = maximum cecating stress
Ec’ Em = elastic modull of coating and base metal respectavely
a @ = thermal expansion coefficients of coating and base metzl
tc’ tm = thicknesses of coating and base metal respectively

AT = temperature change.

The geometry of the present example allows for a simplification of the

Oxx equation because tC/tm << 1, Thus

Sc = Ec AT (ac-um)



Since AT = 1075°C (=1900°F) and E.» E , o, and a_have values
m

given earlier
Sc 2 4800 MPa(700 ksi)

This value 1s 20 to 25 percent lower than the FEM calculations reported
earlier indicating that one dimensional estimates predict somewhat lower

stresses than would actually exast.

Knowledge of the FEM results can be applied to modify the Oxx relation-
ship to predict more accurately the peak normal stresses in the oxide.
Since g, oT cy are nearly equal and uniform throughout the oxide film
and since Gz 1s much less than cx oxr Oy’ the stress in the oxide can

be approximate as biaxial. The strain in the x direction £, can be

X
written as

=1 _
e =% on vcyl

E = X
x g (1=v)
or
o = Eg = E AT(a —o )
x c “m
I-v

£ 6200 MPa(900 ksi)

The Oxx equation can therefore be modified with a factor of 1/1-v and
w1ll predict the peak oxade stresses for a thin film in good agreement with

a full three-dimensional stress analysis.

The preliminary results presented above clearly demonstrate the use-

fulness of the 3D FEM approach for analyzing the stress state in oxide
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films, A complete description of all stresses is developed without

need for assumptions which may be invalad or too limating to describe

the geometry of the problem. In addition the 3D FEM method can be readily
extended to handle more complex input characteristic of a real metal-

oxi1de system such as:

1. Temperature dependent elastic properties in both metal and

oxi1de
2. Plastic deformation of the metal

3. Cracking of oxide

It might be noted that the very large values of the stresses 1n the
oxide layer seem unreasonably great (nearing 900,000 psi), and in fact
they are. However, this does not invalidate the analytacal approach, either
in its exact form, or in its approximate form. It merely means that other
failure criteria —-—— plastic flow of the substrate, crackang or crushing of
the oxide, spallaing of the oxide under Hertzian stresses, etc. —— must be

superimposed on the generated stresses appropriately to determine the relevant

limitang condition .
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DTST. FROM AIR-

TABLE ¥
COMPUTED STRESS VALUES IN METAL AND OXIDE FILM*

NORMAL STRESS - MPa

ELEMENT  OXIDE INTERFACE
NUMBER Microns X Jy 0z
CENTER OF SAMPLE
1 0.1 -6154 —6153 1,65
26 0.3 ~6154 -6153 1.65
31 0.5 -6154 -6153 1.65
76 0.7 -6154 -6153 1.64
101 0.9 -6154 -6153 1.64
126 1.1 12.0 12.7 1.75
151 1.3 12.0 12.7 1.75
176 1.8 12.0 12.6 1.71
251 ﬂ6.0 11.7 12.2 1.50
401 46.0 10.0 .8 0.28
501 301.0 7.9 .0 -0.21
601 1250.0 2.5 .5 -0.37
651 2250.0 -3.5 -3.4 -0.0012

SHEAR STRESS - MPa

Txy Ty Txz
0.0035 -1.20 -0.59
0.0035 -3.49 -1.21
0 0035 -5.92 -2.46
0.0035 -8.20 -3.71
0.0035 -10.60 -4.49
0.0016 -11.79 -5.08
0.0017 -11.71 -4.86
0.0017 -11.49 -4.91
0.0017 -10.10 -4,56
0 0017 -2.38 -2.75
0 0016 0.50 0.35
0.0009 0.065 0.076
0.0005 ~0.0038 0.070



TABLE T ~ Continued
COMPUTED STRESS VALUES IN METAL AND OXIDE FILM*

DIST. FROM AIR-~

ELEMENT OXIDE INTERFACE NORMAL_STRESS - MPa SHEAR STRESS -~ MPa

NUMBER Microns 0x o 0z Txy Tyz Txz
MIDWAY BEIWEEN CENTER AND CORNER

13 0.1 ~6142 ~6134 8.80 0.035 -1.12 1.07
38 0.3 ~6142 ~6134 8.80 0.035 -3 79 ~1.42
63 0.5 ~6142 ~61.34 3.78 0.035 -6 16 -2.03
88 0.7 ~6142 ~6134 8.77 0.035 -8 50 ~2.96
113 0.9 ~6142 ~6134 8.75 0.035 ~10 60 -5.13
138 1.1 21.8 25.5  9.07 -0.017 ~12.10 -4.91
163 1.3 21.8 25.4  9.03 -0 017 ~11.8 -5.17
188 1.8 21.6 25.1  8.90 ~0.017 -11.6 ~4.92
263 6.0 20.4 231 7.94 -0.017 ~10.5 ~4.60
413 46.0 12.8 115  2.15 -0 017 ~3.6 ~3.08
513 301.0 6.7 69 -1.46 0.016 1.0 0.07
613 1250.0 2.7 2.5  0.12 0.009 -0 8 0 18
663 2250.0 -3.4 -35  0.09 0.005 0.05 0.07



ELEMENT

TABLE I - Continued

COMPUTED STRE3S VALUES IN METAL AND OXIDE FILM*

DIST. FROM AIR-
OXIDE INTERFACE

NORMAL STRESS - MPa

dy

az

NUMBER Microns 0%
25 0.1 ~6117
50 0.3 -6117
75 0.5 ~-6117
100 0.7 -6117
125 0.9 -6117
150 1.1 37.1
175 1.3 37.0
200 1.8 36.8
275 6.0 35.1
425 46.0 23.7
325 301.0 6.92
625 1250.0 0.47
675 2250.0 -1.67

* The first five sets of stresses listed for each of the three locations are values

thatlie in the oxide film.

CORNER OF SAMPLE

SHEAR STRESS - MPa

~-6080
-6080
-6080
-6080
-6080

54,
54.
54.
51.
30.

6.
-0.
-0.

Ww QO N~ W

51
26
76

6.5
65
6.5
6.5
6.5
6.4
6.3
6.3
5.7
2.3
-1.5
-1.54
-0.0028

Txy Tyz Txz
0.13 ~0.21 -3.36
0.13 ~3.47 -3.97
0.13 ~4.43 -3.96
0 13 -8.81 -3 33
0.13 -11.64 -6.44
0.062 -12.40 -5.38
0.062 -12.18 ~5.35
0.062 -12.00 ~5,29
0.063 -~11.62 -4.82
0.083 -8.62 -3.95
0.25 -2.03 -1 49
0.24 1,29 0.75
0.015 0.49 0.42



FIGURE 1. Illustration of the metallic block of alloy used for
the finite element analysis. The shaded volume 1s the
one-quarter which was divided into 27 layers wath 25
elments in each.
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FIGURE 2-

Dimensions of the block
used 1n the finite element
analysis, and the lay-out
and numbering system used
1n the conduct of the
calculations.
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APPENDIX

PRINT-OUT OF FINITE ELEMENT ANALYSIS RESULTS



_THREE=DIMENSIONAL OXIDE STRESS PROBLEW MESH GENERATION _ _

ANSYSTSTENGINEERING ANALY
SWANSON ANALYSIS SYSTEMS,

INC.

18

SYSTEN

HOUSTON, PENNSYLVANIA 15342

REVISIGN 3

OPOATE 87T CHI

JUNE 71,1979
PHONE (412) 746~33D4 _ .

_ 1845403 2/20/83 CP=_1843.049 __

, Amasa LLEMENT STRESSES wwaxa TIME = .DooDoo LOAD STEP= 1 ITERATION= 1% CUM. ITER.= 1% SR
_EL® 1 NODES= 1 7 8 _ 2 37 43 44 38 MAT= 1 voL= «5000+D6 . . _ _3-p SOLIpD 4%
XCy¥Ly2C= « 125404 500. + 100400 TEMP= 25.0 TAUMX= 3077.6 SI§E= 615541
_EP= _ _ -.011790 ~.011785  _ 007045 _ »000000- ~.000007, _=.000004 EPPR= 007045 _ -.011787 -.011787
SIG6= —6154.2 -5152.7 1.6507 234957-02 -1a204% -.59125 SIGPR®  1.6502 ~5153.5 =6153,5
EL= ?  NODES= 7 g8 L R ¥ T YA A 19 MAT= 1 VOL= 5000406 3=D SQLID 45
XCy¥Cy2C= «125+04 4150404 100400 TeMP=_ 25.0 TAuMX=  3I082.3 516E=  6160.2 .
EP= -.011790 -.011817 «0070G45 -.000000 000308 -.000002 EPPR= 007045 -.011790 ~.011817
__ 5162 =6158.8_ _  =6167.8  =3.0969 -a22543-02 = 1.3544 -.27953  SIGPRT. =~3.0972 =-6158,8 _=6156748
EL= 2  NODES= 3 9 10 4 39 45 L4 50 MAT= 1 voLs «5000+06 3-p SOLID 45
XCsYCe2k= 125404 e 25004 = 100+00  TEMP= 2540 TAUMA= 2007749 SIGE=  614%.5
EP= -.011760 -.011750__ 007046 .000000 -. 000304 =.000003 EPPR= 2007046 -.011751 -.011789% __ .
SIG=  =6149.3 ~613644 L6978 «15942-01 ~+59659 -.43504 SIGPR=  6.4973 ~613645 ~614942
ELE 4  NODBES= 4 10 M 5 40 46 47 41 MAT= 1 VOL= .5000+06 - T 31«p SOLID 45
XCa¥Ea2C= « 125404 «350+04 »10G+400 TYEMP= 25.0 TAUMX=  3090.4 S516g= 616848
EP= -. 011790 ~ 011864 .007048 .000000 000003 -.000003 EPPR= 007048 -.011790 -,011844
_§16=_  ~6164.9 ~6189.1 =Bu.2342 «83705-92 Wh4114 -43716 SIGPR= ~Ba.23%49 ~616449 =6189.3
EL= 5 NODES= 5 11 12 & 41 47 48 42 MAT= 1 VOL= 5000406 I-p SOLID 45
XCaYCy2CF «125404 450404 « 100400 TEMP= 25.0 TAUMX= 30714 SIGE=  6115.7
EP= ~.011790 -.011623 007005 000001 -, 000004 -.000002 EPPR= .007005 -.011623 -.011790
§S16%  =6137 <3 —5082.9 S.3816 « 11003 YT EL) ~. 27174 SIGPR= 5¢3310 ~6082.9 -6137.3
T EL= & NODES= 7 137 714 8 43 49 55 L4  MAT= 3 VOL= 5000408 " 3-D SOLID 45
RE,vC,2C= « 375404 500. +100+00 TEMP= 2S5.0 TAUMXS  30%0.0 _ SIGE=S  6157.2 oo . e
ER= ~ =.011803 -~.011785 «007045 ~.000000 ~.0002057 .000003 EPPR= 007045 -.D11785 ~.011803
Si6= -6160.4 -6154.6 ~.332490 - 4B46D6-02 ~1.2017 48510 SIGPR= ~.33289 -5154,7 ~6160.3
EL= 7 NODES= 8 14 15 9 L4 50 51 45 MAT= t VOL= «5000406 i _ 3=D S0LID 45
“XCs¥Cq2C= «375404 77 1504047 L100+00 TEMP= 25.0 TAUMX=  3082.1 S1GE=  6162.3
EpP= -.011803 ~.011817 007045 000000 060007 .000003 EPPR= +007345 -.D11804 ~.011816
T O8I6=" T =41485.0 -514%9.7 ~5.0805 «56216=02 1.2013 048467 S1GPR= =5.0B09 -6165.3 “8169 44
Er= 5 RUODES— v 15 16 TU 1Y) 5T 5S¢ TE TRMATET T VOTLE YN E 2 I=D SOLID 45
XCa¥Ce2C= 375404 250404 100400 TEMP=  25.0 , TAUMX=  3080.1 SIGE=  6151.6
T Ep= -.011803 T =.011750 007045 ~.000000 -.000099 -.0D0001 EPPR= 007045 ~.011752 -.011803
__S1G=_ ~6155.5 =613843  4.7095 -+19138-01 _ -1.5306 -.19815 SIGPR=  4.7093 -5138.3 “6155.4 o
EL= 9 NODES= 10 16 17 11 46 52 53 L7 MAT= 1t VOL= «5000+4086 3-p SOLID 45
XCs¥Cs2C= . 375304 w350+ 04 - T00+00 TEMP=s 25,0 TAUMX= 30904 S1GE= 617045
__EP=_ -,011803 _ __ -.011864 . «D07047 ____ .000DD0__ ___ .0DDD71. _ _...0D00D2_ EPPR= _ _.007D047. _ =-.011803. ~-.011Bé44_ _
$i6=  «6171.0 -46190.9 ~10.183 237667-02 1.8418 038537 S16PR= =1D.183 ~6171.0 ~5190.%
“EL="710 TNODES= 11 1777 16 12 7 47 53 54 48 MAT= 1 vOL= +5000+404 " ) 3«0 SOLYID 45
XCeYC,2C= 375404 450404 «100+00 TEMP= 25.0 TAUMX= 207304 SIGE= 6117.3
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orF Py

ok e

TTEPS = 0T1B03 = UTT62% Lou7oos = O0Tn0T = 0J0T0% pyifiliio) EPPR= L 007305 =L 01T762% = O1190%

. 516=  -8143.4 ~605448 344701 _ =413028 -264543 281961 SIGPR=  J3.4697  , =6334.9 ~56143,4 _ o
EL= 11 NODES= 13 19 20 14 49 55 56 50 mAT= 1 vOL=  .5000+0¢ ) e .. 3=D SOLID_ &5 _
XC,¥C,2C= 525404  SD0. 100400 TEMP= 25.0 TAUMXS  T076.8 SIGE®  6152,6

Efs ~, 011774 ~.011785 - (07045 000000 -.102207 -.000008_ EPPR= + 007045 -.0117275 -.011783
SIG= =6147.1 -5150.6 T,745¢ . 1235501 ~1.2169 -1.3834 SIGPR=  3,7451 ~6147,7 -4149.9

TEr="T 12 NOBES= 14 7 207 T217 157 sg S5&7 57 51 wAT= 1 veLs  L.5000406 - T T 773-p SOLID 45

XC,¥Cy2C=  .625+4D4 L150%04 _ 2100400 TeMP= _25.0 TAUNMX= 1082.3 .  SIGE=m  6157.7 -
Ep= -B11774 -.011817 007045 -.500000 .2300209 -.000005 EPPR= « 007345 “ 011774 ~. 011817
S16=  =6151.6 -6165.7 ~1,0080 - 60401~02 1.4583 + =,77035 £1GPR= _ =-1,0082 ~6151.6 «6165,7
EL= 13 NODES= 15 21 22__ 18 51 57 58 52 MAT= 1 VOL=  .5000+0¢ I« SOLID 45
XCy¥C,2C=  .625+404 . 250+04 «100400 TEMP= 25.0 TAUMX=  3075.4 S166= 6147,0
_ Ep= -.011774 ~.011750_ 007046 000005 -.020007 _ L000007 EPPR= JO07046 . =.D1175%7 . -.011774 _
$16=  =6142.1 ~5134.3 8.8013 «35033-01 «1.1151 1.0694 SI1GPR= B.8010 “6134 .5 “6141.9

TELE T4 NOGES= T8 2 23 7 52 54 oYy S35 RAT= 1 VOL= - S000+0% 3~p SOLID 45
XC,YC,2C= 425404 2350404 _ 2100+00 TEMP=  25.0 _ TAUMX=  3090.4 SIGE= 616462 .

Ep= ~011775 -.011864 «D07048 -.00000D «D00012 «000D14 EPPR= L007348 ~.011775 -.011864

. SI6=  -6157.8 618649 _ _ =641826 ~a31679-01 1.9525 2.2735 SIGPR= =5.1819 _ _ _=6157.8 _ _ =618649
EL= 15 RODES= 17 23 24 18 53 59 &0 54 MAT= 1 vOoL=  .5000+06 3-p SOLID 45
XC,YC,2C= 82S5+04 e W50+ 04 100+00 TEMP= 25.D0 TAUMY= 3068.9 S$I1GE= 6113.1

EP= __ -.011775 -+011623 007005 .0006001 -.000007 _.000005  EPPR= 007005 -.D11623 . =,B11775
§16= 7 -8130.4 ~4080.B 73679 017540 “1.1873 +B4504 SIGPR=  T7.3676 ~6080.8 ~5130 44

EL= 1& NODES= 19 25 ~ 26 720 55 &1 &2 56 "MAT=" 1 ¥OL= 5000406 T I-p SOLID 45
XC,YL,2¢= JA75+04 500. 100400 TeMP=  25.0 s TAUNMX=  3084.0 SIGES. 616146
EP= -.,011825 -«011785 «DG7048 -.000000 -.000007 -.000011 EPPR= 007043 -.011785 -,011824
_§16= =6170.2 =6157.3 _ __=2.2D84 =-.35789~01 -1.1987 ~1.8426 SIGPR: ~2,2085% “6157.4 ~61701

_EL= 17 NODES= 20 26 27 21 56 62 63 57 MAT= 1 VOL= 5000406 . .. _. 37D sOLID 45
XC,¥C,2C=  L875+04 «150+04 100400 TiMp= 25.0 TAUMX=  3083.8 SIGES 616645 R
Ep= -.011825 ~,011817 2007047 »000000 . 000007 -.000002  EPFPR= D07047 -.011818 -.011824
§16=  ~6174a7 —6172+4 —649490 c18292-01 1.2046 - 20683 SIGPR= =b6,9503 -6172.8 ~617445
Er="""18" NODES= 217 27 — 2B ~T22 TS57 &3 64 58 MAT= 1 VOL=  .5000+06 R - 3~p $OLID 45

XC,YC,2C=  .B75404 _.250+04  ,100400 TeMmp= 25,8 CTAUMRXE  IDB4LT, S1GE=  6156.0
EP= ~.011825 -.011750 007048 ~-.000000 -.0D0006 ~.000000 EPPR= 007048 0117590 -.011825
$16= ~=6165.3 -6141.0 2.8344 =-.53646-07 ~1.0817 -.11677=01 SIGPR=  2.B8341% -5141.0 -51465.3
EL= 19 NODES= 22 28 29 23 58 64 &5 59 MAT= 1 vOL= 5000406 3-p SOLID 45
XC,Y¥Cy2l= " LB75+404 ~.350+04° 100+00 TEMP= 25.0 TAUMX=  300D.7 SIGE=  4175.,0

_EP=  emoD19824 -.07118564 +007050 000001 .0D000B _ .000004 EPPR= _ 007050 ~-.D11824 ~,011863
S16= =56180.5 ~° TT=§193.5 -11.976 12284 123655 57588 SIGPR= =11.976 -6160.6 ~6193%544
EL=_ ¢0 NODEs=__ 23 29 30 14 Ty 85 L1 &0 HRT= 1 VOL= 500G +08 i) SOLED 45
XCy¥Cy2C=  JB75+04 4504046 __ 100400 TEMP=_ 25.0 __TAUMX= 2077, _ SIGE=  6121.% o R .

Ep= -.011823 -.011623 . 007007 ~.0000019 -.Lboone 000002 EPPR= .007007 =.011623 -,011823

__.816= ~6152.5 ~6087.3 o 1.7194 -, 21134 ~1,4280 238419 SIGPR= 17191 .. _ =6D87,3 ~6152,5

EL= 21 NODES= 31 32 26 &1 57 &8 62 MAT= 1 ¥0L= «5C00+04 3=p SOLID 45

25



TXOYGICE «T1Z%05 un, «TO0F00 T TEMPE 25T TAUMX= 3075 .6 SIGE= ST42.7

__EP=  =,01171% -.011785_ _ .007033 000001 ~.000007 -.000013 EPPR= .007033 -.011740 -.011785
16 =56132.4 “6147 44 2.9663 .82516=01 ~1.1428 -2.14558 SIGPR=  2.9646 -6132.5 -6147 44
TEL= 22 NODES= 26 32 "33 T 27 62 6B 69 63 MAT= T17TvoL=  L5000+06°7 77 T T T T T T T 7T 3-p s0L1p 45
XCy¥CaZC= o 112+05  .150+D4 100400 TEMP= 25,0 TAUMX= 305044 SIGE=  6$148.0
EF= —. 011739 - 011817 .067633 -.0d0600 LOGOGHE .00B004 EPPR= .007033 -.011739 ~ 011617
_SIG= _ =6137.0 | _=6162.5_  _ _=1.7644 _ _ _ ~a77019-01 162604 __+04908 _ _ STGPR= _w1,7647 _ -6137.0 _ -4162.3
EL= 23 NODES= 27 _ 33 34 28 63 6% 7D &4 _MAT= 1 vOL= 5000406 __3-Dp SOLID 45
KCy¥Cs2C= 112408 L250304  L100400 TEMP= 25.0 TAUMX=  3069.2 S16E=  £137.3
gps= ~,011739 -.011750 .007034 000001 -. 000008 L000025 EPPR= 2007034 =,0117%1 =~ 011748
51G=  =6127.5 -5131.1 8.0284 .11170 ~1.2881 4.0462 SIGPR=  B.0307 ~612842 -6130.4
TeL= T 24 NOpDES= 28 347 7387 207 64 T 70, 71 65 MAT= 1 vOLs 5000406 T 3-p SOLID 45
_XKC,yYCyeZC= 4112405  .350404 __ 100400 TEMP=" 25.0 _ TAUMX=  3086.5 §166= 515740 e - -
Ep= -.011741 -.011864 .007036 - 000002 2000007 -,000010 EPPR= .007036 -.011741 -.011864
$16=  ~6143.8 -5183 .8 ~6.8574 =,25298 140749 ~1.6144 SIGPR= =b.B574 -6143,8 631838
EL= 25 NOBES= 29 35 36 30 65 71 72 66 MAY= 1 VOL=  L5000+06 i I-p SOLID 45
KCy¥C,285 112405 W450+406  L100400 TEMPE  25.0 TAUER=  3061.9 SIGE= 61051
EP= ~,011743 _  -=.011627 _ __ 006995 L00ooat - 00200 -.00002% EPPR® «006995 -, 011627 ~eB11743
516" S4117.4 ~5079.5 4.5291 a13D26 «,21377-01  =3.3577 §16PR=  6.5303 -5079.6 -6117.3%
T¥LE 28 RODESE— 37T L3 L4 38 73 TR0 T 7L T RATE 1 VOLE 500008 3-b S0LID 45
_XCy¥Cy2C=  L125404_  500. L300 TEMP=  25.0 TAUMXS  3077.6 SIGE= 61551
EP= ~ ~ -,011790 -.01178s 007045 .000000 -.000029 -.000007 £PPR= 007045 ~. 011787 -.011787
_81G6= _ =6154.2 -6152.7 14491 _ 234766-02  ~3.4853 C=1e2146 SIGPA=  1.6505 -6153.5 6153545
EL= 27 NODES:= 3B &4 45 39 74 BD 81 75 MAT= 1 VOL=  L.5000+D6 3-0 SOLID 45
xC.VC,IC-”- 0125*04 5150“’0’! «300 TEMP= ZSaG TAUNX= 308203 SIGE= 6160-2
EP= -.011790 -.011817___ 007045 -.00D00OD .000021  =-.000005 EPPR= _ 007345 ~.0117%0 -.011817
§16=  ~6158.8 ~6167 8 =1.0920 - 22448-02 3L.3587 - 74704 516PR=  =3.0908 -5158 .8 ~616743
Tt ELs 28 NODES=" 39T TTTASTTTTRETTTUA0 TTT?S T 81T 82 76 TCMAT=T 1 TvoL=TT L5000406 7T TTTTTT T oTTO” 3-p  SOLID &5
XC,¥C,2€= 125404 250404 .300 TEMP=  25.0 TAUMN=  3077.9 SIGE=  6149.6
EPz -.011790 -.011750 007048 .3DoD0D ~ 0000232 -. 000007 EPPR= 007346 -. 011751 -.01178%
_.816= _ =6149.3 _ _ ~6736.4 6486904 415971201 -~3.5791 =1.2157. SIGPR= 646921 . -6136,6 ~6149.19
EL® 29 NODES= 43 46 47 A1 76 82 83 77 MAT= 1 VOL=_  .5000¢06 o ) . 3-p SOLID 45
XC,¥C,20= 125404 3504047 300 TEHPE  25.0 T TAUMX=  3090.4 S1GE= 6146848
EP= -.011790 -.011864 007048 008000 000016 -.0000%12 EPPR= 007048 -.011792 ~.011864
s1G= 5164 .5 "618900 =B ag2245 «B3705-02 26014 “-1.9956 SIGPR= ~Be2234 "616"009 -615909
EL= " 30 "NODES= 41" 4T LR L2 T 77 T 83 B4 78T MAY= T WOLSTTC,5000+06 T T 7T Tt TTTOO T 3-b SOLID 45
XC,¥C,2C0= 4125404 450404 4300 TEMP= 25.0 L TAuMX= 307144 S1GE=  86115.7 _ . . L
TTER= T T=L01790T T T ~u011623 7 7T L 007005 »000001 -.000018 -.000009 EPPR= 007005 -a011624 ~. 011790
§16= =611%7.4 -6083.0 5.3775 - 11005 -2,8723 -1.5185 SIGPR=  5,378% ~5083.0 ~5137.3
EL= 31 NODES= 43 49 5D 44 79 85 86 8D mAT= 3§ VOL= 5000406 e ... 3-D sOLID 45
£Cy¥C,20= L3I75404 506, L300 TeEMp= " 25,0 TAUBX= ~ 308061 SIGE= 41572
EP= ~. 011803 -.011785 LOD704S ~.D0B000 -.000021 000007 EPPR= __ _«0D7045 -.011785 _  =.011803 _

S16= ~6160.4 ~8154 .6 -,32852 -.45082-02  =3.4049 T TT1.p970 SIGPRE =o32715 T «4154.6 416045




CTELE TTT3IZTUNODESETTRY 5T 57 45 B0 RS T TTEYTTRTTUURTE T UVOLE 2500006 =G SaLT6 45
_XC,¥Cy2C= + 375404 «150+04 _ 4300 TEMP= 25.0 TAUMAS I0R2.2 SIGE=  &6162.3 .
Ep= -.011203 -.011817 007045 .o60000 L0062z .000009 EPPR= 007045 -.011803 -.011817
§16=  =6165.0 ~4169.7 _~5.0693 5716702 3.5171 1.3984 SIGPR= =5.0676 __ =5165.1 ~6169.5 _ _ _ _ __
EL= 33 NODES= 45 51 52 46 g1 87 58 82 MAT= 1 VvoL=  .5000+06 3~D SOLID 45
TRC,YC,2CE I < 250+04% .300 TEMP= 26.0 TAUMX= 3080.1 S1GE= 6151.6
VEPE _ ~,011803 ~.011750 007045 -.000000 -.Np602s . 000007 EPPR= 007045 . ~.011751, -.011303
$16= " =6155.5 -8138.3 Le7121 -.19214-01 ~4.04585 142130 SIGPR= 4477144 -5138.4 -615544
EL= 34 NODES= 46 52 537 47 82 85 ° B9 B3 MAT= 1 YOL= «5000+06 - - ) 3~ SOLID 45
XC,YC,2C= +375404 «350+04 2300 TEMP= 25.0 TAUMX=  309D.4 SIGE=S 65173.58
EP= ~ 011803 ~-.011864 L007047 LOC0G00 000020 .000002 EPPR= L007047 ~. 011503 -, 011884
5162 =4171.0 -6190.9 =10.169% $36716-02 3.2229 +39398 SIGPR= =10.148 -6171.0 -6190.9
EL= 35 NODES= 47 53 54 48 53 89 90 84 wAT= 1 WoL= 5000406 i _ o 3-p _SOLID _ 45
XC,¥L,2C= 375404 «450+D4 +300 TEMP= 25.0 TAUMX= 3073.4 SIGE=  6117.8
EP= ~,011803 -.011624 .007005 ~-.000001 -.000314 .G00D09  EPPR= 007005 -, 011624 ~-.011803
SIG=  ~6143.4 -6084 .9 1.4531 ~+13039 ~2.2260 Te4518 SIGPR=  3.4536 ~6084 o3 “6143.4
EL= 35 NODES= 49 55 T 567 50 a5 91 92 66 MAT= 1 voOL= «50004D6 T TtToTT 3-p SOLID 45
XC,YC.2C= 625404 500. L «300 TEMP= 25,0 ¢« TAUMX=  3077.0 SIGE= 615246 _
Ep= -.011274 -.011785 007045 000000 -.000021 -,000007 EPPR= 007345 ~ 011775 ~.011784
§16= =6147.1 -4150.6 3.7418 ! .13383-01 ~3,49R1 ~1.0631 §16PR= %.7433 «5147.3 -6150.4
EL= 37 NODES= 50 56 57 51 B6 G2 93 87 WAT= 1 voL= .5000+06 i N 3-D SO0L1D &5
XCy¥Cqe2C= «625+04 «150+04 o300 TEMP= ~ 25.0 TAUMX= 308243 SIGE= 6157.7 )
EP= -, 011774 -.011817 ___ .DO7045 _=.000000 000023 ~.000020 EPPR= _  L.007045 -.011774 ~-,011817
§I16= =6151.¢6 “616547 -.90762 -.592460-02 3.7744 -1.2552 SIGPR= =.99420 “6151.6 ~5165.7
TEL= 3B KODISE 51 ST 58 57 VY3 T4 8 WAT= 1 VOL= < S 00U¥0% $=0 SOLID 45
XCYC,28= 625404 « 250404 .300 TEMP= 25,0 TAUNMX=  3075.4 SIGE= 614740
Ep= - 011774 -.011750 «007046 000000 ~. 000323 -.000009 EPPR= 007046 -.011751 ~. 011774
$16=  ~6142.1 =6134..3 8.7659 «35118-01  =3.7859 ~1e4155  SIGPR®  BW7979 _  =61344h__ =6142.0
EL= 39 NODES= 52 58 50 53 5 94 95 89 MAT= 1 voL= «5000+06 ’ 3=p SOLID 45
XCiTCsLC= cG25t0% < 350+04 . 300 TEAP=E 2540 TAUMK= T050.4 SIGE= 616642
EP= - 011775 -.011864 ~U07048 ~.000006 .000G18 .000003 EPPR= 007048 -.011775 -.011864
T 816~ -6157.8 =518649  =641606 ~a31770-01 2.8¢c£0 «41204 SIGPR= -6.1f00 -6157.8 ~5186.9
Et= T 40 NODES= 53 59 &0 54 89 9% " 9% 0 MAT= 1 vOL= + 5000406 - 3=b SOLID 45
XC,YLy2C= 625404 L450+04 200 TEMP=  25.0 TAUMX=  3068.9 SIGE= 67132 /
EFE Ik i 1 = 0711623 . 007005 LO000a7T =. 0003723 000001 EPPR= .007005 ~.011623 “ 011775
§165  =&6130.4 ~6080.9 7.3699 217517 -3,7029 23441 SIGPR=  7.3715 -60B80.% -5130.4
EL= 41 NODES= 55 61 &2 56 81 97 eg 92 MAT= 1 voL= +5000+06 X 3= SOLID 45
XC,YC,ZC="  L875+04 7 500, £300° TEMP= 25,0 TAUNX= 3084.0 SIGE= 6716745
EP= -.011825 -.011785 007048 -, 0860000 - 000021 000006 EPPR= 007648 ~.011785 -.011825
S165  =6170.2 <6157+3 —2.1953 —a35760-01 =~3,4798 97114 SIGPR= =2.193% -6157.3 617042
" EL= 42 NODES= 54 42 637 5777 9z 98 99 937 wAT=" 1 wobL= TL5000+06 ° T T 7 T 7 ) -t T3-D7SOLID T 457 T
XCy¥0p20= 875404 2 150+04 300 TEMP=  25.0 TAUMK= 3083.5 SIGE=  £1664.6
Ep= T -.011825 -.011817 007047 .0000on 000023 000014 EPPR= L007047 -.01481% ~-.011823
£16= _ =6174.7 617244 -5,9385 «16253-01 3.7545 2.2073 S16PR= =~6.9361 -517209 -6174.2




TELETT A3 TONUMESE 2 S A I Ko I

_XC,‘H‘.,ICr-

. 53762-D1 ~231268~02 _SIGPRZ .

3~p SOLID

-.011825
~6165.3

3I=p SOLID

X e, 2C=
-.011864 _

XC,¥L,2C0=

-.011844
~6193.4

3-b S0LID

XC.YC,ZC=

~.011823
-6152.5

3-0 SOLI1D

-.01178%

XC,¥C,2C=
- 7706¢-01

=147 44
3=-p SOLID

~a011817
=6162.4

XCpYL 2L8=

3=-Dp sSOLTIO

= 011749
"6130.8

XCy¥C,2C= —t ik
"-011864

3~p SOLID

=, 011863

“6185-5___,.___ [ ——

3-bp SOLI1D

TERO,VCHICE
T 845439

XC,¥Ca20=

~2011743
~6117.3

1ed SOLID

«34576-02

TXCy¥Ce2C= T .125+04

~.011788
~6153.5

3-D SOLID 4

-.011817

~ 2263902
53 TNODES= 112 “maT=

T - 011750 T

615640
EPPR= 2007048 ~011753
2.8098 __  ~6141.0
617540
EPPR= _ 4007059 -, 011624 _
S1GPR= =11.951 - ~5183,5
612149
SIGPR=  1.7420 ~608743
6142.9 i
EPPR= .007033 -,.011740
STEPRE  2.9573 ~5132.5
614840
EPRR= .007033 «o0111739
SIGPR= -1.7834 5613740
6137.3 . "
EPPR= __  ,D07034 - 011747
SIGPR= 749845 612749
41570 3
EPPR= .007036 ~a011741
_S16PR=__~6.8697_ _ =6143.8 _ _
10541 ‘
EPPR= _  L006995_  ~.011627
SIGPR=" 445479 6079 .6
- - ‘y -
615542
EBPR= L007045 —B11787
__SIGPR=  1.6526_ _ =6153.5
6160.2 i
EPPR= 007345 -.011792
SIGPR= =3.0815 =515849
614926
EPPR= .007046 -.011750
SIGPHR= é.bﬁ?‘! -6136.5

=6167.7

3D SOLID 45

-~.011793°
-5149.3




v

TELETTTT54 T NODES®E 76 B2 B3 77T YTy T I R T AT E T T ValE . 5000%7% I<p sO0LID 4%
%L,YC,2C%  125+04  .350+04  L500 TEMP=  25.0 TAUNX=  30%0.4 S16E= 616847
T Ep= -.0117%0 -.011864 007048 .00C000 .000037 -.000014 EPPR= L007048 ~.011790 ~.0T1844
§1G6=  =416449 =5189.0 o =8.2134 WB4276-02 6.0084 -2.3072 SIGPR= =8,2073  _ _=5164.9 _  ~6139.0 _ _
EL= 55 NODES= 77 B3 84 78 113 119 120 114 MaT= 1 voL=  .50004+0s6 5-p SOLID &5
TR YL, 205 (125404 J450+04  ,500 TEMPE 25.0 TAUPX= 30714 SIGE=  6115.8
L EP= -.0117%0 -.011624 067005 000801 -,000039 _ _ -.000013. EPPR= L0D70085_ =.D115624 -~ 011790
S1G=  =6137.4 -6083.1 543747 . 11005 -6.3230 ~2.1418 SIGPR=  5.3814 -6283.1 -5137.4
EL= 5& NODES= 79 857 85 80 115 12177122 116 MAT= 1 voL=  .5000+06 e 3D SOLID 45
XCyYCa205  4375+04  5D0. .500 TEMp=  25.0 TAU*x= _ 30480.1 SIGE=  §157.2
tP= -.011803 -.011788 007048 =.00D000 -.00003% ,000012 EPPR= 007045 ~. 011785 ~.011803
S16= =6160e4 615446 _ ___=a33194 -249367-02 -5.95FR 2.0407 SI1GPR= =a32617 _ =6154.6 ~6160.5
EL= 57 NODES= B0 86 87 81 116 122 123 117 MaT= 1 voL=  .50G00+06 . _ 3-bD SOLID 45
XCy¥Ce2C= L 375+04 150404 7,500 TEMP=  25.0 TTAUFK= 3082.2 §1Gg= 616243
£p= -, 011803 -.011317 .CO7045 500000 L000038 .000012  EPPR= 007045 ~ 011804 ~, 011817
§16=  =6165.0 =6169.7 =5.0673 VS60TT~02 6e2ell 70303 SIGPR= ~5.00612 ~616542 -6169.4
EL= 5B NODES= 81 87 " 887 "82 117 123 124 11B MAY=s 1 voL= «5000+06 i o0 3«p SOLID 45
AL, ¥E,2C= 375404  .250404  .500 TEMP= 25.0 +  TAUrx=  3080.1 SI1GE= 615146 i
£p= ~. 011803 -.011750 ° L0G7045 - 000000 -,000039 .000014 EPPR= . 007045 =.011751 -.011803
$I16=  =6155.5 -6138.3 46946 ~.19224-01  =6.4045 2.3125 SIGPR=  4.7014 “5613844 ~6155.4
EL= 59 NODES= 82 B8 8% 83 418 124 125 119 MAT= 1 voL=  .5000+06 ) 3=D SOLID 45
XLa¥C, 2C= 375404 4350404 ~ .500 TEMP= 25.0 TAUFX= 309043 SIGE=  6170.8
_EP= __ =-,011803 « 011864 D07 047 .000040 . 000041 .000812 EPPR= (007047 _  =.011803 -.D11864
§16="" =46171.0 ~6190.8 ~10.154 236334-02 66279 1.9610 S1GPR= =~10.146 =6171.0 ~6190.8
EL= &0 NODES= aj &Y L] g4 179 Te5 71286 7120 mAT= 7 VOL= +2000+06 3-D SOLYID 45
XCy¥C,2C= 375404  L450+04 _ .500 TEMP=  25.0 ThUKX=  3073.4 SIGES 611749
EP= ~. 011803 -.011624 " .007005 -.000001 -, 000035 .000015 EPPR= +007005 ~. 011824 ~+011803
$16=  =614344 ~6085.0 3.4533 -.13031 “5.6776 2.3957 SIGPR= 31,4590 ~6085.0 . __ -6143.4
EL= 61 NODES= 85 91 92  B& 121 127 128 122 MAT= 1 wveL=  .5000+04 3-p $O0LID 45
~XC,YC,,2C= «023t04 500« « 200 TiMp= 25.0 TAULX= IN76 9 S1GE= 615246
EP= -~ 011774 -, 071785 .007045 _ .000000 -, 0000348 -.000020 EPPR= L007045  ~.011775 -.011783
TOS5IG= -4147.1 ~6150.6 7 7 T1.743% SA3241-01 =5.8042 =1,2343 S1GPR=  3.75D5 -6147.7 =$150.0
“Ebk= 62 NODES= g6 92 93 B7 122 128 129 123 MAT= 1 vwoL= 50004067 Tt T 1-p SOLID A4S
*C;¥C42E€= «025+D4 J150+04 « 200 TEMP= 25,0 TAUKX= IDB2.3 SIGE= 6157.7
—EPE L OTT77L =TO0TTEY7 JUHC7O4S = OO0To0 LOU003E -. 000020 EPpPR= 2007045 -011774 -~ 0118%7
§16=  =6151.6 “5165.8 -.95420 -.58213-n2 bolb84 -3.2466 SIGPR= _-.98700 ~615% .4 ~6155.6
EL= &3 NODES= 87 93 94  BR 123 129 130 124 MAT= 1 voL=  L5000+404 3-D SOLID _45
T OXCaY¥C L4205 425404 .250404 7,500 TEMP= " 25.0 TTAURR= IG75.4 SIGE= 6147.0
Ep= -.011774 ~,071750 007046 003000 « 130238 -.000612 EPPR= 007046 -.011751 - 011774
§16=  =6742.3 =6134.3 [ A FE] S I5CE0-0T . =£.1450 =2, 0303 S1GPR= EaT887 613445 61420
“EL= 64 NODESE B85 94T 76577 89 77124 130 131 1257 AATs T 17 bon=T T .500040¢ e o T T z-p sol1p 45 7
_XCyY¥CazC= 625+04 350404 4500 TEXP= 25.0 TAUNK=  3090.3 SIGES  61bb.2 o L
Ep= T =,011775° - 011864 L007G48 -.060000 000041 -,000001 EPPR= +D07048 011775 - 011864
$1G= “6157.5 -5186,9 ~6.1718 -.319%98+~01 G 7hi 5 ~.20271 SIGPR® «6,1652 ~65157+8 -6186.9




b

P B

j ir l—“"
TEWETT 85N o‘o'r-.“s?‘“"s%—‘?‘r—o T UNTTAESTTIT AL TG MAYE 1T vobE SO0+ 0% I~0 SoLIO 45
_XLy¥C,2L= 625404 «AS50+04 +500 Te¥p= 25,0 TAUlX=  3068.9 S16E=  6113.2
Ep= - 011775 ~.017623 .307G05 000001 -,000332 -.0000190 EPPR= 007005 -.011824 ~.011775
§16=  =613D.4 ~5080,9% 743640 17529 -5,2875% =1.626% _ S1GPR=__ 7.3683 __ __-6081.0 .. -6130.4 . . ..
_EL= 66 NODES= 91 97 98 g2 127 133 134 258 MAT= 1 VOL= 5000406 3-p SOLID 45
XC,¥C,2C= LB75304 500 «500 TEMP= 2540 TAUMX= 3084 «0 SIGE= 61616
_EP= ___ =.011825 _=<011785. __ «DD7048 -.000000 -.008035 000010 ___EPPR= .007048 _ ~.D11785 _ . -~.D11B25_,
'TU816= T =6170.2 “£15743 “2.1958 =.35561~01 ~5.79%9 1.6031% SIGPR= ~2419206 ~5157.3 -6t70.2
EL= &7 NODES= 92 98 T T g3 1247 134 135 127 MAT= 1 VOL= «5000406 - ) T 3-p SOLID 45
XC,YC,21C= LE75+04 «150+D4 «500  _TEnp= 25.0 TAUMX=  3083,7 SIGE=  6166.%
EP= -.011825 -.011817 007047 L060000 000038 000008 EPPR= 007047 ~,01181% -, 011823
$I16  =6174.7 L=6122,3 _ ~6.9308 «18101=01 €42265 1.2808 SIGPR®T =~6.9249 -6172.8 ~6174.3
_EL= _ 68 NODES= 93 99 100 94 129 135 136 130 MAT= 1 VOL= «5000+06 R _ L3=0 SOLID 45 _
XC,YC 20 875404 250404 +500 TEMP= 25,0 TAUMA= 3084.0 S51GE= 6156.0
Ep= -, 011825 ~,011250 007048 ~. 000000 -.00003s .00D006 EPPR= 007048 ~=.011751 -,011825
SIG= =6T165.3 ~5141.0 245232 -~ 53448-01 -5,77%8 94045 S1GPR=  2.8280 “5941.1 -5165.3
EL= &9 NODES= 94 400 101 ~ 95 120 136 137 131 MAT= 1 VOL= £5000+06 0T I 3-0 S0LID 45
XCy¥C,2C= LA75404 350404 .500 TeMP= 25.0 TAUMX= 309047 S16E=  6175.0__ _
EP= -.011824 ~,011844 007050 000001 .000041 .000007 EPPR= ~0D7050 ~.011824 -.011863
§16= ~5180.5 -6193% .4 -12.0006 12248 &.777D 1.2165 SIGPR=  =11.999 ~£1B3.5 ~5193.4
EL= 70 NODES= 95 101 102 96 131 137 135 132 MAl= 1 VOL= .5000426 ) . . 3~p SOLID 45
KC ¥YC,2C=  LB75404 «450+04 500 TEMP= 25,0 TAUMX=  3077.1 S1GE= §122.0
_Ep= ~.011823 ~.011624 007007 -.000001 -,000043 .000012 EPPR= . «an7007 -.011824 -.011823
§16=  =3152.6 -6087.4 1.7018 “-.21120 o =7.0825 1.9603 SIGPR= 1.7100 ~5087 .4 ~4152.6
TECE 7T NOBESS 97 103 10% TR TV3I T3V TAT 134 WMATE T VilE LRI i=D SOLID 45
XCy¥Cy2C= » 112405 500. _«500 TEMP= 25.0 TAUML=  3075.1 §1GE= 5142.9 o
Ep= -.011739 ~.011785 007033 .000001 -, 000035 ~-.000021 EPPR= 007033 ~.011740 -.011785
516= =6132.5 614745 _2a9270 «82593~01 ~5,7440 -3.3751 SIGPR=. 249336 _ _.  ~0132e8 . __=6147.3 ___ _
EL= 72 NODES= §& 104 105 9 134 140 141 135 MaT= 1 voL= 5000406 I-p SOLID 45
XC,¥C,2C= .112+05 «150+04 »500 TEMP= 25.0 TAUMX=  3080.3 S16E=  6148.1
_Ep= - 011239 C=a011817 « 007033 ~-.000000 30036 -.000007 EPPR= 2007933 _ ~.011740 =, 011817
S16=  ~6137.0 -4162.5 -1.7834 ~.77218-01 S.8147 =1.2038 S1GPR= =1.7783 “5137.1 -6162.4
EL= 73 NODES= 9% 105 106 100 135 141 142 136 HAT= 1 VOL= ~ .5000+06 - T 3=-p SOLID 45
XCa¥C,2C= L112+405 - 250404 +500 TEMP= 25,0 TAUNMXE  3069.4 S1G6E= 6137.3
EF= = UTT739 = 071750 LOUTO3E T L ooo00T -, 0000738 .000002 EPPR= 20070345 -.011741 i =e 0117459
SIG=  =6127.6 -6131.2 7.9543 11222 ~5.9504 +32303 _SIGpR=  7.9594 . =6128.0 ~5130.8
EL= 74 NODES= 100 1D0& 10?7 101 136 142 143 137 MAT= 1 VOL= +5000+06 _ ) 3-p SOLIG 45
XC,¥C,28= "7.112+05 +350+04 «S00 T TEMP= 25.0 TAUMX= 309844 SIGE= 6157.0
EP= -.011741 ~-.011863 0070386 -, 000002 0380336 ~.000021 EPPR= L00703% = 011741 ~, 011863
SYGE —€T43.8 =6 TEILE SELBET S L5 AT VR E =3.567% " SIGPR= =5.8401 ~5143,8 ~6183.7
EL= 75 NODES= 101 107~ 108 102 137 1437 144 132 RmAT= 1 “yoL= 77 .5000406 7 7 o T - T3ep SOLIDT 45
XC,¥Cy2C= 112405 450404 «500 TEMP= 25.0 TAUMx=  3062.0 SleE=  4105.2 . ]
TTEP= T T ~,011743 -~ 011627 T .006995 000001 -.000227 ~. 000924  EPPR= 004995 -.011627 - 011743
S1G= =6117.4 -5079.7 6ab954 «13037 -4.4292 ~3.9634 SIGPR= 5.4995 ~6379.7 ~6117e4




TRl ST HODESETT T 1TSS 6 T T A TS IS T YL AT E T 0TS +5000+0% ¥=0 S0LID 4%

XC,¥C,ZC= ,125+04  500. .7G0 TEMP=  25.0 TAUMX=  3D77.6 SIGE= 615542
Ep= ~-.0117%0 -.011785 007045 .a0co00 ~-,0303%8 -.000022 EPPR= 007245 ~+D11758 -.011788
§16=  =615442 =6152.8 | 1.6438 _  .34624~02  =P,2025 -3.7081 SIGPR=___ 1.6562 ~6153.5 -6153.5 L

El= 77 NODES= 110 116 117 111 146 152 153 147 4AT= 1 vOL=  .S000+06 3-p SOLID 45

XY ICET LTS0S . 150%04 L7040 TEAPE  2%.0 TAUFA= 308203 §1GE=  &160,2

TEP= _ _ =.011790 =.011817 _ _ ,007045 _  =-.000000 «G0CD4Y -.000019 EPPR= 007245 ~.01179D -.011817
516=  -6150.8 ~5167.8 ~3.0793 ~. 2244802 E.06BE ~3,0847 SIGPR= =3.0679 ~5158.8 ~5167.7

EL= 7B NODES= 111 117 118 112 147 1537 154 148 9AT= 1 VOL=  .5000406 ) ) 3~D SOLID 45

_XC,¥C,2C=  .125404 .250+04 . 700 TEMP= 25,0 TAUMYX= 30779 S1GE=  &14%.6
EP= ~.011790 -.011750 . 007046 000000 ~.00004%9 ~.000018 E£PPR= 007346 ~.011751 -.011789
S$16= _ =6149.3 =6136.5____ __ 6.6675 21600901  =7.9854 “2.9294 SIGPR®  4£.6786 ~513646 ~6149.2

EL= 79 NODES= 112 118 119 113 148 154 155 149 HAT= 1 vOL=  .5000+06 _ L 3~D SOLID _45

XCy¥C,2C= 125404 «350404 .700 TEMP=  25.0 TAUMX= 30904 S16E=  4168,7
Ep= -.0117%0 ~.011863 007048 . 000600 000347 =-.000020 EPPR= 007048 =. 011790 ~.011864
S1G= «6164.8 -6188.9 ~-8.2003 BL466=02 7.7012 ~3,2423 S16PR= -8.1898 ~6164 .8 ~5188.9

EL= B0 NODES= 113 119 120 114 149 155 156 150 MAT= 1 VOL=  .5000+06 i 3-D SOLID 45

XCeYCyZC= . 125404 450404 . 700 TEMP=  25.0 * TAUNX=  30717.4 S16E=  6115.8
Ep= ~-.011790 ~. 011624 . 007005 000001 -.000050 -.000019 EPPR= .007005 ~.011624 -.0117%0
S16=  -6137.4 ~6083.2 5.3576 .11000 ~6.2153 ~3,076% SIGPR= _ 5.3696 ~6083.2 ~5137.4

EL= 87 NOPES= 115 121 122 "116 151 157 158 152 MAT= 1 VOL=  .5000+06 : 3-0 SOLID 45

XCyY¥Cqa2C= " 375404 500, T L7000 TEMP=  25.0 TAUMK=  3080.0 SIGE=  6157.2
EP=  =-,011803 ~«011785 «007045 -.000000 -. 000050 _ .000017 EPPR= «007045 -.011785 -.011803
SIG=  =8160.4 -61544.6 ~.33353 -a49510-02 -8.23%¢% 2.8284 SIGPR= «,32184 =6154.7 ~616D.4

TECE B2 NODESE TTE 122 123 117 1Sy 158 150 153 WAT= | VOLE . S000+06 I=p SOLID 45

XC,¥C,y2zC=  L375404  .150+04 _ 700 TewP=s  25.0 TaUMx=  3D82.2 SIGE=  4162.3 -

EP= ~-.011803 011817 007045 .000000 +000051 000025 EPPR= 007045 -.011804 -.011817
SIG=  ~6164.9 “6169.6_ _  =5,0541 +56026-02 £.3052 4e0649 _ SIGPR= _=5.0410__  _-~6165.2 L=6169.4 .

EL= 83 HODES= 117 123 124 118 153 159 160 154 MAT= 1 vOL= 50060406 3~D SOLID 45

XU Y0 2C= L 375404 - LOETEA <700 TERP=  25.0 TAURX=  3080a9 SIGE= 61517

Ep= -.011803 -.011750 067046 -.000000 -. 000051 .000020 EPPR= 007046 ~.011751 -.011803

T8§16=" T ~8155.5 =613844 T T 7 4.6933 “s191856-01 ~8.2%40 3.2561 SIGPR=  4.7054 ~6138,5 -615545

EL= 84 NODES= 118 124 125 119 154 160 161 155 wAT= 1 VOL=  .5000+06 ) T 3-b SOLID 45

XCo¥YCyZC= 4375404 «350404 700 TEMP=  25.0 TAUMXS  3090.3 SIGE=  6170.3
EP= - 011803 -.011863 LOO7T047 .000000 000056 000020 EPPR= 007047 -.011803 -.011863
S1G=  =6170.9 -5190.8 =10.14D 23671602 9.1319 3.2164 $IGPR=  =10.126 “5171.0 -6190.8

EL= B5 NODES= 119 125 126 120 155 161 142 156 MAT= 1 WOL=  .5000+06 i 3-bp SOLID 45

THCLYC 2= T L375404 450404 TL700 T TEAP= 25,0 TAUMX= 3073.4 SIGE= 611749

EP= -.011803 =, 011624 007005 ~.00001 -.00n056 000020 £ppR= .007005 - 011624 -,011803
S1G=  ~&143.4 -6085.1 3. 4485 -.13028 -9.1252 3.3396 SIGPRS  3.4633 508541 ~614344

EL= 84 "NODES= 121 127 12877122 T157 1463 164 1587 MAT= 1 vOL= " L5000406 Tttt Tt - 3=D SOLID 4S5

XC¥Cy20=  .425+04 500, +700 TEMP= 25.0 TAUMX=  3077.0 SIGE=  6152.5
EP= - 011774 -.011785% 007045 006000 -.000050 ~.000024 EPPR= 007045 -.011776 ~ 011784

$1G+ ~614741 =615046 17322 »13231-01 =9.2163 -3.E511 S1GPR= 3.7449 ~6147.5 -6150.3




S EE T R T NOTESE I T TR 2 I3 IR T UEYTTTES 159 KATE 4T VOLE  LS0U0vDE I=p  SOLTp™ 45
XCy¥Cy2C= «4625404 «150+04 =700 TEMP=  25.0 TAUNMA= 10r2.3 SI1GE= 5157.7
Ep= - 011774 ~.011817 L007045 -, 002600 026051 -.000024 EPPR= 2007045 - 011774 -.011817
SIGx  =6151.6 -6165.6 ~.99597 -59735-02 R.1286 -3.8613 SIGPR= ~.08297 _=6151.6 . ~6165¢6 .. .. ..
EL= B& NODES= 123 129 130 124 159 165 166 160 4AT= 1 VOL=  .5000+06 T-b SOLID 45
XC,¥Cg2C= 625404 .250+04 .700 TENP= 250 TAUMX=  2075.4 SIGE=  6147.1
OERP= __ =JD11774 019750 .007048 _.202000 ~.030252 . -.000018  EPPR= L007045 ~.311751 -.011774
516= " ~6142.2 ~6134+4 8.7697 +35289=01  =B.5041 -2.9568 SIGPR=  B.7H22 ~6134,4 ~8142.0
EL.= B9 NODES= 124 130 137 125 160 166 167 161 MAT= 1 voL=  .5000+06 ) v B I-p S0LID 45
XCs¥CyZC= _ +625+04 350404 £ 700 TOMP= 25,0 TAUNX= _ 3C90.3 SIGE=  615b4.2
Ep= = 011775 = 017863 L0070487 =.0oodod L0005 =.000D13 EPPR= L007248B -.011715 -.0118563
$16= ~6157.8 -61864.8 _ “6,1555 -.31941-01 9.2125 “2.0642 SIGPR= ~5.1417 ~56157.8 -6186.8
_EL= 90 NODES= 125 131 132 126 161 16?7 168 182 MAT= 1 VOL=  .5000+D6 o i _3-p SOLID 45
ACeVCe2C= o625+04 2450404 . 700 TEMP= 25,0 TAUMX=  3068.9 SIGE=  6113.3
Ep= -,011775 -.D11624 007005 .302001 ~.359052 ~.000014 EPPR= 007205 ~. 011624 -.011775
S16= =6130.5 =6081.0 7e3437 L17436 -8 6225 =2.5531 SIGPR= 743552 ~5081.1 ~£130.5
EL= 91 NODES= 127 133 134 128 163 169 170 164 mAT= { VOL= «5000+08 i T 3=b SOLID 45
XC4YC42C=  B75+04 500 700 TeENP=  25.0 TAUMAE  3084.0 SIGE=  6151.6
EP= -.011825 -.011785 007048 -.0200080 -.030050 .000016 EPPR= 007048 ~-.011785 ~,011825
516=  =6170.2 ~5157.3 -2.1926 -.35570-01 ~2.,1979 2.5467 S1GPR= =2,1B13 ~6157.4 -6170,2
EL= 92 NODES= 128 134 135 129 164 170 171 165 MAT= 1 VvoL=  .5000+06 L _ 3-0 SOLID 435
Ty ¥C42Z0=  .B75+D4 2150404 700 TEME=  25.0 TAUMR=  3D83.7 SIGE=  &184.6
EP= -.011825 -.011817 _ +007047 _ 000000 .000050 .000027 EPPR= LO07047 -.011818 - 011824 .
S16=  ~6174.7 ~5172.3 ~649%27 «17987-01 8.1530 4.4063 SIGPR=s ~5.8995 61726 ~6174a4
EL= 93 RODES= 120 735 7138 T30 185 1?1 172 T8& HAT= 1 VOL® .5000+06 T~ SOLIP 45
XCaYCyZC=  JB75+04 .250+04 _ 700 TEMP=  25.0 TAUMK=  3084.0 §16E= 615641 _
Ep= -.011825 -.011750 007048 -.000000 -.000351 .000021 EPPR= LO07048 -.011751 -.011825
SIG= ~6165.3 -6141.1 2.8040 -.532906-01 ~8.2947 3.4425 SIGPR=  2.8165 “614tal__ . =6Y6543 . ...
EL=  §4 NODES= 130 134 137 131 146 172/ 173 167 MAT= 1 volL=  .5000+06 / 1-p SOLLp 45
XCsYCs2C=  +B75+D4 <350+04 w700 TEMP= 2540 TAUFR= 30907 SIGE=  6179.0
EP= -.011824 -.D11863 007050 0008001 000051 .000019 EPPR= _ 007350 ~.011824 _ =-.D11863
T 516= T ~6180.4 -5193.4 7 =11.951 £12257 8.3140 3.0052 S1GPR= ~11.939 ~6180.5 -4193.3
,{J
€L= 95 NODES= 331 137 138 132 167 173 174 6B MATE 1 VOL=  J5000+06 - I-p SOLID 45
XC,¥C,2C= «“875+04 +L50+04 - 700 TEMP=  25.0 TA.JMX:_“ 307741 S1GE= 512270 /
B = T8 =L 077623 LOurEeT = BogooT —. 533059 LB00533  EPFR= «007007 ~-.011624 -.011823
SIG= =4152.0 608745 146939 ~a 21145 -9,5981 5.3977 S1GPR=  1.7132 =6J8745 -6152.4
EL= 96 NODES= 133 139 140 134 169 175 176 170 MaT= 1 VOL= 5000406 3-p SOLID _ 45
T XCs¥Cy2C= o112405  S00. « 700 TEMP= 25.0 TadMx=  3075.2 SIGE=  6143.0
Ep= -.011739% ~ 011785 007033 .005001 -, 000050 ~.000024 EPPR= 2007033 - 011740 -, 011785
S1Gz  =6132.5 =614745 es9E00 CR2735-01 ¥ 2200 ~F.98G0 SIGPR=  2.9730 -5132.3 -6147.4
EL=  $7 NODES= 134 140 141 135 470 174 177 171 MAT= 1 VvOoL=  .5000+06 i 3=p SOLID 45
XC,¥C,26= 4112405 L150+04 .7G0 TEMP=s  25.0 TAUYX= 305043 SIGE= 6148.0
EP= -.011739 -.011%17 007033 -003000 N ALY - 000011  EPPR= .037233 -.011742 -.011817
S16= -4137.0 -5182.4 ~1.75¢7 ~.77409-01 F 4475 =1.5188 SICPR= =1.7482 -5137.38 -5162.4




~EL= T8 UNODESE TR I VR 13E 17 CVTT IS TR E 1T vocE 7500008 1=D SO0LID 4%
XC4¥Cy2C= 112405 250404 .700 TEMP=  25.0 TAUNX= I06F ik SIGEx  4137.4 ~
EP= - 011739 -.011750 007034 L.000001 -.00N0s0 ~.000021 EPPR= 007034 -.011740 «, 011749
§16= =6127.6 -6131.2 _ 7.9475 11245 ~-8,1537 “3.4087 SIGPR=  7.9598 __ =6127.9_. _ ~6130.9 —
_EL= 99 NODES= 136 142 143 147 172 176 179 173 MAT= 1 VOL= _ .5060+0¢ 3-0 SOLID 45
XC3YC22C% 112408  <350+04  .700 TLAP= 25.0 TAUMN= 30884 S1GE=  &157.0
VEP=  =.011741 -.C11863 _ _ Q07036 -.003082 CO0044 ~.000017 . CPPR= L007036 . =.011741 -.011863
$16=  ~6143.8 -6183.7 b 8443 -.25338 7.2441 -2.8353 SIGPR= =5.8351 ~6143.8 -5183.7
EL= 100 KNODES= 137 143 1447 138 173 179 1B0 174 MAT= 1 VOL= 5000406 ) - R 3~-b SOLID &5
KCe¥La2C= 112405 A50+04 LP00 TeMP=_ 25,0 __ TAUAX= _ 3062.0 SIGE=_ 6105.3
EpP= - 011743 —.011627 006995 La00091 -.000354 ~. 000020 EPPR= «00599% ~.011523 -.011743
§16=2  =4117.5 ~6079.8 6.5338 . 13081 ~R,8149 -3.3312 SIGPRS  5.5478 ~5079.8 =611744
EL= 101 NODES= 145 151 152 146 181 187 1EE 142 MAT= 1 voL=  .5000+06 i i 3«b SOLID 45
XC,¥0 4,20 L125+04  500.  ~.900 TEMP=  25.0 TAUMXS 307706 S16E=  6155,2
Ep= -.011790 -.011785 007045 L000000 -. 000065 -,000027 EPPR= 007045 -.011788 -.011788
5165 =81%54.7 -5152.48 T.63092 L i4§57<02 -10.602 ~L.5873 SIGPR=  1.6600 -6153,5 «6153.5
EL= 102 NODES= 146 152 153 147 182 18% 1869 183 MAT= 1 VOL=  .S000+D06 ) 3~p SOLID 45
XCy¥ECq42C=  .125+04 150404 «900 TCMP=  25.0 «  TAUMx=  3082.3 SIGE= 614342
EP= ~.011790 -.011847 .007045 -.000000 00067 -,000026 EPPR= 007045 ~.01179D -.011817
51G= =~6158.8 “616747 =3,0693 -.22543~02 11.00" ~4.1756 SIGPR= ~3.0475 -56158.9 -6167e6
EL= 103 NOPES= 147 153 1454 148 183 18 190 184 MAT= 1 VOL=  .5000+06 3=0 SOLID 45
XC,YCy2C= 125404 250404 TT.900 TEMP= 25.0 TAUMX= 3078.0 SIGE> £149.7
EP=s _ ~.011790 -.011751 007040 .000000 - 006063 ~.000026 EPPR= 07046 . =4011751 -.011789
$16=  =6149.4 “513644 6.6459 . 1599001 ~10.345 ~4.1781 SIGPR= 646655 -6136,7 “614943
EL=T 104 NODESE 148 154 155 140 8% 190 19T TE5 WAT= 1 voL=  .s000+06 I-b SOLID 45
KL ¥Co2C= . 125+D4 .350+404 900 TEMP= 25.0 TAUMX=  3093.3 SIGE=  £148.7
EP= -.0117%0 -.011843 007048 .00N0000 000065 -.000p27 EPPR= 007248 -.011790 -.0118643
51G= =6164.8 ~6168,.8 ~8.1801 SBL276-02 10.641 “4,3332 SIGPR= =B.1594. .. =6164.9 ~5188,8 _ ..
EL= 105 NOBES= 149 155 156 150 485 191 192 136 MAT= 1 voL=  .5000+06 I~0 SOLID 45
XL, iL,2C=  .125+404 “L5004 =900 TEMP= 2540 TRURX= 30734 S1GE= 611549
EP= -.011790 -.011624 007005 000001 -.000066 -.000026 EPPR= _ JDO700S -.011624 ~.0117%90
T S516= ~6137.4 -£083.3 77 543452 «10996 =10.,731 -4.,1678 S1GPR= 5.3663 ~6383.3 ~6137.4
EL= 106 NODES= 151 157 158 152 187 193 194 18& MAT= 4 vOoL=  .5000+06 - - 3= SOLID 45
XC4¥C,2C= 375404  500. L5900 TEMP= 25.0 TAURMX=  3079.9 SIGE=  6157.2 ’
EF=E =.0TT803 = UT17Es LO070%3 =, 000000 = G0b06E LU00D22 EFPR= .007045 ~. 011786 ~.011802
§16=  ~416D.4 ~6154.7 -.33432 - 49034~02  ~10.482 3.6162 SIGPR= =~.31508 ~56154.9 -516042
EL= 107 NODES= 152 158 159 153 188 194 195 189 MAT= 1 vOL=  L.5000+06 I-p SOLID 45
TRCLYC 20 4375404 150+04 900 TEMP=  25.0 TAUMX=  3082.1 SIGE=  6162.3 i
Ep= -.011803 -.011817 007045 000000 00068 000028 EPPR= L007045 -, 011804 -,011816
§16=  ~&164+7 ~516946 =5.0397 256216-02 11.089 Le5411 SIGPR= =540170 =616543 616943
“EL= 108 NODES= 153 1597 160 154~ 189 195 196 190 MAT= 1 vOL= ~.5000+06 77 ~T T 7 Tttt oo 3~-p7S0LID 45 T T
AC,YCs2C= 375404 .250404 +500 TEMP= 25,0 TAUMX=  3040.1 S1GE®  6151.7
£p= ~.011803 -.011751 007045 ~ . 000000 -.000063 000026 EPPR= 007046 -.011751 ~.0111803
§1G=  =6155.5 -5138,4 L 6676 ~.19147-01 -10,343 45,1997 SIGPR=  4.6R72 -6138.5 ~5155.5



“ELETT 109 BOBESS IS4 T ADTTTTET A5STYROTTTIGE T YR CTVRTT OMRTE T VoLET JS5TUOF0E SR SOLTI0 4s
XCoYCeZCx 375404 L350+04 900 TCMP=  25.0 TAUMX=  3090.3 S1GE= 617047
EP= -.011803 -.011863 007047 .003000 .000068 .000023 EPPR= 007047 -.011803 ~4011863
§16=  =6170.9 -6190.7 ~10.124 $37647-02 114106 3.6925 _ §16PR= =10,703 L =6170.9 -6190.7 .
EL= 110 NODES= 155 161 162 156 191 197 198 192 MAT= 1 VOL= .5000+06 . 3-0 SOLID &5
TRETVCICE L 375904  LL50+D4 2900 TEHP=  25.0 TAUNK=  3073.5 S16E=  6118.0
£Ep= -.011803 -.011624 _ 007005 -.0003001 ~,020071 000021  EPPR= .037005 _ =.011624 ~.011803
$16=  ~6143.5 ~6085.2 344333 -.13022 =11a8464 31,5043 SIGPR= 344569 -6085,2 614345
EL= 111 NODES= 157 163 164 158 193 1997 200 194 MAT= 1 VvOL= «5000+0% Tttt e - I-p S0LIp 45
AL, Y0268 625404 500. .900 TEMP=_ 25.0 TAUMX=  3077.0 S1GE=  6152.6
Ep= 011774 -.011785S LO007045 .00e2000 -. 000064 ~.000039 EPPR= 007345 -.011776 -.011784
S16= =6147a1 “8150,7 . . __3.7244 21327401 -10.498 ~5e33561 S1GPR=  3.74B1 «5147,5 615043
_EL= 112 NOBES= 158 164 165 159 194 200 201 195 MAT= 1 VOL= .5000+06 . B 3-p SOLID 45
XCa¥Co2Cs 625404 «150+04 .900 TEMP=  25.0 TAUMX=  3I082,.3 S1GE=  6157.7
EP= -.011774 -.011817 007045 -.000000 2000064 -.000029 E£PPR= 007345 -, 011774 -.011817
516z =6151+6 ~616546 ~ GTE7 S -.61923-02 10.4E9 ~4.7877 SIGPR® =~.95769 “6151.6 “816546
EL= 113 NODES= 159 165 164 160 195 201 202 1967 MAT= 1 VOL= <S000+06 T . 3-p SOLID 45
XCa¥Cy2C= 625404 «250404 __ 4900 TEMP= 25,0 + TaUMx=  3075.4 SIGE= 614741
£EP= -o011774 -.011751 L007046 .000000 -.000265 -.000031 EPPR= 007048 -.011751 -.011774
SI6=  =6142.2 -5134 44 B.7452 «35175-01 -10.551 ~5.1301 SIGPR= B.7668 -5134.6 614241
EL= 114 NODES= 160 166 167 161 196 202 203 197 #MAT= 1 VOL=  .5000+06 3=p SOLID 45
KCy¥YCPZC=  o625+04 L350+04 2900 TEMP= 25.0 TAUMA=  3060.3 SIGE= 416642
EP= -.0%117275 -.011863 __ .007047 -.000000 000074 -, 000034 EPPR= 007048 -.011775 ~.011863
SI6=  ~6157.8 ~6188.7 —6.1482 -.31884-01 12.152 ~5.4842 SIGPR= =6.120% ~6157.8 ~418647
FLETTS —NOBESS 16T T67 168 162 197 203 204 198 MmAY= 1 VOLE  +5000%08 T=D SOLLID 45
XCa¥Cy2C= 5625404 450404 -900 TEMP= 25.0 TAUMX=  306&.9 SIGE= 611344
EP= -.011775 -.011624  ~ T.0070G05 .0090061 -.0J40371 ~.(00023% EPPR= 007205 =.011624 -.011775
$16=  ~6130.5 ~5081.2 _7.3317 17523 “11.562 =3.,7910 __S16PR=  T,3554__ _ =6D81.2 ~6130.5 e
EL= 116 NODES= 163 169 170 164 199 205 206 200 MAT= 1 voL= 5000406 3= SOLID 45
XC, YCqeZL=  -B75+04 500 <900 TEMF= 25.0 TAURY=  3083.9 S1GE=  6161.06
ER= ~-.011825 ~a011785 007048 ~-.000000 -.020065 .00D012 EPPR= 007248 -.011785 -.01182%
S16=s =6170.2 ~61573 =2.1999 “ua35565~01 =~10.557 1.9319 SIGPR= ~2.1819 -6157.5 ~6170.1
EL= 117 NOBES= 164 170 171 165 200 206 207 201 MAT= 1t VOL= 25000406 - - Tt 3-b SOLID 45
XC,YC,2C= 875404 . 150+04 .900 TEMP= 25.0 TAUKYX=  3D53,.8 SIGE= 6716648
EP= = 0tT82% 011817 Laorasy L00u000 . 00J068 .000072 EPPR= 007047 ~+011818 -.011824
$IG6=  =-6174.7 “6172.3 ~6.8878 +17987-01 11.093 1.9214 SIGPR= =b6,B680 617244 ~617445
EL:= 118 MODES= 165 171 172 166 201 207 208 202 HAT= 1 VOL=  .5000+06 3-p SOLID 45
AC,¥C,2C= ~ LA75+04 ~.250404° TJ900 T TEMP= 25.0 S oTAUMX= 308440 SI1GE= 615641
Ep= ~. 011825 -.011751 +007048 -.000000 -, 000062 .000021 EPPR= 007048 -.011751 ~,011825
S1T6E =6 71853 —&T4Te1 Te7997% = S ELE6=0T =i0.188 .05 SIGAR=  2.8174 =5141.2 ~6165.3
EL= 119 "NODES= 146 1727 173 16777202 208 209 2037 "maT= 17 voi= T .5000+06 St T e ) 3-p SOLID 45
_XC,¥Cy2C=_  J875+04 +350404 _.900 TEMP=  25.0 TAUMX=  3000.7 S1GE= 617449 _ i o
Ep= ~.011824 -.011863 007050 .000001 000263 .000021 EPPR= L07705D -.011824 «,011863
8§16z =6180.4 -419%,3 -11.910 12244 10,318 3.4155 SIG6PR= -11.892 ~6180.5 -6393.2




JEbal nd D N mm'ao

WA= 1
TAUYX=

~. 000074
-12-11&

HAT= 1

-.011823
-6152.4

3=p SOLID

43

TAUNX=

-. 000064
-10.423

MAT= 1
TAUNL=

-«011785,

=£147.5

3-p SOLID

45

000067
10.914

MAT= 1
TAUMX=

= 000064

-.011817
=6162.4

3-p SOLID

~.01174%

J43

=10.513

MAT= 1
TAUMX=

0000672
10.184

-6130.8
5~p 50LID

=«0113863
-6183 .6

45

MAT= 1
TAUMX=

~.G0007
=1teb42

3=b SOLID

~a011743
“6117.5

45

MAT=
TAUMX=

-.000152
=11.791

naT= 2

3=D S0LID

~«000086

45

-6,7608 _ _ _

3«p S0LID

45

TAUMX=

000153
11817

HAT= 2
TAUKX=

~. 000095
=13.0722

3-b SOLID

45

-.000151
=11.707

MAT= 2
TAUMX=

000155

-.000077
=+ 17140

3~D SOLID __

-.000112

435

glﬁﬁD
TEUET 1207 NOFESTETTEY IS 976 168 2030y 20T 20%
XC,¥C,20=  L875+04 WA 50+04 500 TEMP= 25,0
Ep= -.011823 “.011624 007007 ~.000001
§16=  =5152.6 -6087.46 17145 ~.21130
EL= 121 NODES= 169 175 176 170 205 211 212 206
XC, Y0 2C= . 112405 500. <900 TEAP= 2540
VEP=  _ =,011739 -.011785______ 007033 .000001
§1G6=  =6132.5 ~5147.5 2.9493 «82740-01
EL= 122 NODBES= 170 176 177 171 206 212 213 207
XCy¥YC,ZC=  «112+05 «150+04 « 900 TeMpP=  25.0
EP= - 011740 ~. 011817 L0070%3 ~.000000
$16=  =6137.0 =616244 __ __ ~1.7210 - 77256=01
EL= 123 NODES= 171 177 178 172 207 213 214 208
XC,¥C,I0= 112405 « 250404 .900 TEMP=  25.0
EP= -.011739 ~.011751 007034 000001
SIG= ~4127.6 -5131.3 729429 11220
EL= "124 NODES= 172 178 717977473 208 214 215 209
AC,YC,2C= 112405 350404 900 TEMP=  25.0 .
EP= ~. 011741 -.011863 «00705%4 -.u00002
SIG"_‘ -6143l8 “6183.6 “6.8102 —125329
EL= 125 NODES= 1?3 179 180 174 209 215 21& 210
XC,¥C,2C% « 112405 J450+04 T .900 TEMP=  25.0
_EP= «,011743 -.011628  _  .006995 __  .000001
$16=  ~6117.5 -5079.9 646953 « 13066
FI=""T26  NOPES=E 18T T1B7 18E ~T1BZ <17 <23 <<k 218
XCgY¥C 2C= «125+04 500. _1.10 TEMP= 25.0
EP= . 00035 000040 -.,000031 .000000
$16= 12.030 12,718 . 1.7503 _ «16454-02
EL= 127 NODES= 182 188 189 183 218 224 225 219
TXCsYCylC= T125+04 S T50+04 110 TEMPS 2540
_EP=s _ .0DOD35 . .000D08 _ -.000032 -.000000
SIG= 7.1497 2.9285 ~3e2462 ~.10729-02
EL=" 128 NODES= 183 189 ~ 190 184 3219 225 226 220
XC,¥C,2C= 125404 $ 250404 1.10 TEMP=  25.0
EP= . 0000735 000075 =L o00nEd Loa0000
S16= 17.207 23.237 69188 JT5776-02
EL= 129 NODES= 184 190 191 185 220 226 227 221
XAC,y¥C42C= 125404 3504047 1.10 TEMP= 25.0
Ep= 000035 -.000038 -, 000025 000000
§$16G= 1.2315 -10.097 —B.1350 L L0T20-02
EL= 130 NODES= 185 1971 1927 "184™ 221 "227 228 222
XCs¥C,2C= L125+04 450404 1410 TEMP=  25.0
Ep= " .00003s .000200 -, 000099 000001

51G= 26.009 5t.604 5.2698 «52137-01

11.978

MAT=""2
TAUNX=

-.000153
"11-516

=21.4618

3=p SOLID

-.000123
1.5502

45




TEUSTTI3TT O RODESS 187 VI U494 188 223 22972307 224 MAYS 2 VOLE .5000+0¢ $-b soLiD 45

_%Ca¥Ce2C= 375404  500. 1410 TEMP= 25.0 TAUNY= 13.754 SIGE=  24.052 .

Ep= 000622 000040 -.000032 ~. 508000 ~.020152 000061 EPPR= 000392 000224 -.000986
_§l6= 7.9652 10,687 __  =.34429 ~.23035-02 =11,.735 4.7013  __S1GPR= . 18s76%1.. __B.2972... =Be?S03. _ ___.______
EL= 132 NODES= 158 194 195 189 224 230 231 225 MAT= 2 VOL=  .5000+06 3-p SOLID 45
XCeYC42C=  +375+404 . 150+04 1.10 TEMP= 25.0 TAUMX=  13.2135 SIGE= 23.551
_EP= . 000022 .000008 __  -.0D0032 .000000 .0083153 L000065 EPPR= .000375 L« 000022 -.000297

$1G= 3.0898 89831 -5.3390 $26957-02 11.8586 5.0658 SIGPR=  11.3D1 2.7168 =154369
EL= 133 NODES= 189 195771967 190 225 231 232 226 MHAT= 2 VOL=  .5000+06 T o ) 3~ 50LID 45
XCy¥Ca2C= «375+04 . 250+04 1.10  TEMP=_25.0 TAUMx= 15,222 SIGES 264403

EP= .000022 .000074 —.000032 -.006060 -.000153 .000064 EPPR= .090117 .000828 -.000280

SI1G= _13.140 21,201 h.8210 ~a90652-02 ~11.,854 4L.9778 SIGPR=  27.804 .  13.999 -2,4400
EL= 134 NODES= 190 196 197 191 226 232 233 227 MAT= 2 VOL= 05000+06 . . 3-p SOLID 45 . __
XCs¥C4ZC= 375404 +350404 1.10 TEMP= 25.0 TAUMX=  13.122 SIGES 23,481

Ep= . 000622 -~,000038 -.,000026 008000 .000152 .D00059 EPPR= .000958 . 000311 -.000111

S1G=  =2.779T =12.104 =10.193 L17761-02 11.753 4.58098 SIGPR=  2.8234% -4 4795 -23,420
EL= 135 NODES= 191 167 198 192 227 233 234 228 MNAT= 2 VOL= «5000+06 - T 3«Dp S50LID 45
KC,YE,ZC'—' « 375404 450404 - }_‘10 TLHP= 25.0 * TAUMA= 260707 S16E= “16.357 _ - .

EP= 000022 .000200 -.000099 -.000001 -.000158 000062 EPPR= .000220 .030028 -.000t125%

§16=  22.032 49,574 3,2318 -.417319-01 =12.249% 4.7962 SIGPR=  52.661 22.929 -,7527%

EL= 136 NODES= 193 199 200 1%4 =229 235 23& 230 MAT= 2 VOL=  .5000+06 i i 3-p SOLID 45
XC,YCyZIC=  .625+04 500. ~  ~1.10 TCMP=  25.D TAUMX= 13,923 SIGE= 25,051
_EP= __ .0DOOS1 .000040 _  ~.000032 .000000 -.000151 -.000063 EPPR=  _ .00DD95 . «00DD4Y -. 0300385

§1G= 16640 14.954 3.9071 6308702  ~11.724 -4.8896 SIGPR= 234406 15,355 =4.3502
IS TX7 ROBESE 19% 200 207 195 230 238 237 237 THATE & ViL=  .5000+0¢ 3-b SOLID 45
XCy¥Ly2C2  .A625404 150404 1.10 TEMP= 25,0 TAUNY= 13.738 SIGE= 244591

EP= ,000051 .000008 -.000032 -.000000 .000155 ~.000061 EPPR= * L000D81 000042 -.0000%96

$16= 11.753 5.1607 -1.1001 “a29526=02 12.014 =L 7467 S1GPR=  16e462 _ _10a365  _ ~11.0%3 o
EL= 138 NODES= 195 201 =202 196 231 237 238 232 MAT= 2 wOoL=  .5000+0¢ 3-p SOLID 45
XUT VL 20= < 6e5+04 L 250+04 PR L TERP=  25.0 TAUMXE 154356 SIGES  27.093

EP= . 000051 000074 -.000032 .000000 -.000156 -,000063 EPPR= .000117 _ -000053 -.000279

Tos16= T 21.821 25.470 7 9.0680 216625-01 -12.100 ~4,5090 SIGPR=  32.424 22,224 17114
EL= 139 NODES= 156 202 203 197 232 238 239 233 MAT= 2 VOL=  .5000+08 o 3~p SOLID 45
XC,¥C,2C= 625404 «350404 1.10 TEMP= 25.0 TAUMX= 13,904 SIGE=  25.344

~TEP= PHDEY) = 00038 —. 0000723 = . 000000 Ld015% = 00005¢ EPPR= 000068 L0J0029 - 000111

SIg= 507650 "'7.8958 _ -600311 "l15110"01 11-953 ‘4-0’!2? SIGPRZ 3;5520 2._5423 "194256
gEL= 140 HODES= 197 203 204 198 233 239 240 234 MAT= 2 vOL=  .5000+06 3=-b SOLID 45
XCye¥CyIC= 625404 «450404° T1.10 TEMP= 25.0 TAUMX= 264549 SIGE= 46.027

Ep= 00050 .000201 -. 000099 000001 ~. 000156 -.000059 EPPR= .000220 . 000054 -. 000123

SiG= XX T3.793 73285 s 82962-01 =12 0672 “Le5600 SIGPR= Sbav%0 31.138 3.6526

“EL= 141 THODES= 199 2057 206 200 235 241 242 236 “MaT= 2 voL= T,5000+06 - T -t T 3-p SOLID 45 7
XCy¥YC,2C= LB75+06 500. 1.10 TEMP= 25.0 TAUNX:  13.419 SIGE=  23.243
T Ep= T .000001 006040 -.000027 -.000000 -.080152 .000050 EPPR= .0000%1 .030004 -.000082

$1G= 2.0860 8.1458 -2.1425 -. 16798 =01 ~11.752 3.9031 SIGPR= 15.168 2.5913 =10.470




EL="""142 7 NODES= 200 206 207 20T 236 242 4TIV OMAYE TTZTVOL=TL5000+08 I-b50LI0 &5
XC,YC,2C% 875404 2150404 1.10 TemP=  25.0 TAUMX= 13,066 S1GE= 22.702
EP= 008001 .000008 -, 060026 .000000C 000155 .000056 EPPR= 000074 000001 -, 000095
S$16=  =2.7850 =1.46294 _ =Ta1262 «85288-D2 11.965 4.4890 SIGPR= 846215 ~2.6518 -17.510 _
EL= 143 _ NpDES= 201 207 208 202 237 243 244 23F MAT= 2 voL=  .5000:08 3-b SOLID 45
TXCp¥Cq2C= LE75404 2250404 1.10 TEMP= 25.0 TAUMX=  15,13C S16E= 26.250
Ep= . 000000 L000074_ __  =.000027 -.000000 -.000151 ,O00D067 EPPR= 030117 -000009 ~-.000079
516= 7.2323 18,649 3,0065 - 2534701 -11.705 5.2139 SIGPR=  25.261 8.6257 ~4.9993
EL= 144 NODES= 202 208 209 203 238 244 245 239 %AT= 2 VOL=  .500D+D6 - 3= SOL1D 45
AC4Y¥Cy2C= . B75404 2350404 1,10 YEWP= 25,0 TAUMAS 12,744 $1GE= 22,376
EP= .00C007 ~-.000038 -.D004621 L000001 000154 .000052 EPPR= .000055, -.000003 ~.00010%
S1G=  =B.4599 -14,551 _ «=11.4924 «55025-01 11897 4.0154 SIGPR® =.13229 -%.2113 -25.621
EL= 145 NODES= 203 209 210 204 239 245 246 240 MAT= 2 VvoL=  .5000+06 L T«D S0LID _45
KCa¥Cy2C=  LB75404 450404 T 1410 TEMP= 25.0 TAURXE 264641 S51GE= 46,530
EP= . 000002 .D00200 -.000094 -.000001 -.N00159 000068 EPPR: 2000221 .000010 -.000123
$16= 16.556 47.277 T.60%1 -. 10010 —12.324 Se254b SIGPR=  5D.45D 17.827 ~2,6324
EL= 1446 NODLS= 205 211 "212 ~ 206 241 247 248 242 MAT= 2 voL= 5000406 -0 - T 3~b SOLID 45
XC,Y¥C,2C0= .112+0% 500. 1.10 TEMP=  25.0 . TAUMKR= 15,636 SIGE=  29.341
£p= . 000085 000040 -~ 000052 .000001 ~.000152 ~.000066 EPPR= .000103 .000078 -.00009%
SIG= 24,257 17.165 2.9981 229051-01 —11.744 -5.1031 SIGPR= 264949 21.79% -4,3235
EL= 147 NODES= 206 212 213 207 242 248 249 243 WMAT= 2 VOL= « 5000406 . . 3~D SOL1D 45
XCy¥Cy20= o 112+05 « 150404 110 TEMP=  25.0 TAUMX=  15.422 S§1G6E= 28,288
EP= + 000085 «0000D8 __ _ -.000053 ~. 000600 000152 ~.00004% EPPR= . «000093 _ .000D54 -.000106
S1G= 19.380 7.3929 -1.9869 ~.346572-01 11.736 ~3,7786 SIGPR=  ?22.578 14,470 “19.265
EL= 7148 HODES= 207 2985 21t 08 2L3 249 250 244 MAI= 2 VWOL= ALEDT) 3-p SOLID &S
XCyYCy2C5  L112+05 «250404 __ 110 TEVP=  25.0 TAUMX= 16.076 SIGE= 29.952 _
EP= .000085 000074 -.000052 000001 -.000152 ~-.000059 EPPR= 000116 .000083 -.000092
S1G6= 29,422 27,667 _ B.137% _#53246-01 ~11.786 -4.53%23 SIGPR= _ 3441460 .  __29.099 .. _ 1.9869 _ _. -
EL= 149 NODES= 208 214 215 209 244 250 251 245 MAT= 2 VOL=  .5000+06 3=D SOLID 45
TNE,YCe21l= 112405 L350+04 110 TERP= 2540 TAURX=  17.009 51GE=  30.037
EP= .000084 ~.000038 _ -.000045 -.000002 000154 ~,. 000074 EPPR= .000098 .000025 -.000%22
§I1G= 13.109 -5,7105 -6.8208 =.12000 11.907 ~5.7376 SIGPR= 154302 3.9924 =18.716
EL= 150 NODES= 20% 245 “216 210 245 251 252 246 HAT= 2 voL= «5000406 o 3-p SOLID 45
XC,¥C,26= .112405 L450404 1.10 TEMP= 25,0 TAUMAE  27.677 SIGE=  4B.523
TTEPE SOOD0RZ SO0 T97 ERI IR R T L GOGTTT = 000180 . 000069 EPPR= L000217 «000DE? -. 000141
S16= 17.111 54,881 5.3697 6201801 ~12.39% -5.3815 SIGAR=  57.950 37.815 2.59643
EL= 151 NODES= 217 223 224 218 253 259 2460 254 MAT= 2 voL= 5000406 3-0 sOLID 45
XC,YC, 2C= 2125404 500.7 ~ 1.30 TEMP= 25,0 TAUMAE 13,793 SIGE= 244396
Ep= " .NODO3S 000040 -.000031 .000000 -.000151 -.000063% EPPR= .000053 0000348 -.000285
§16= 12.017 12.657 Tev407 «18556-02 ~11.709 4 .6502 SIGPR=  20.964 12,112 “6e6219
EL= 152 NOBES= 218 224 225 219 254 "260 261 255 MAT= 2 "voL= " T.5000+06 T Tt T 3-b SOLID 45
AC,YC,2L= 125404 +150404 1.30 TEMP= 25.0 TAUMX= 13,400 SIGE= 244030
£P= 000035 .000008 -.000032 ~.002000 £00G154 -.000061 EPPR= .000077 000031 -.000096
___s16= 7.1721 2.9822 -3,2220 -.10654-02 11.954% “4.7115 SIGPR=  13.534 6.4635 ~13.146
A0
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a1 BOV



TELETTISITTNOVEYE T 219 T 225 226 22l 255 261 242 25 WAY= 2 VOLE L5000+ T% TEPTSOTTT A4S

XCy¥Cy2C= 125404 250404 1430 TeMp=  25.0 TAUlX=s 15,105 SIGE= 264343
T Ep= .000035 000074 -,000031 .303000 ~-.020153 - 000062 EPPR= 002117 000039 -.000078
S16= 17.158 23141 4.8775 | L756536-D2  ~11.564 -4.7856 _ SIGPR= . 22.803 174071 _ —440292 e
EL= 154 NODES= 220 226 227 221 254 262 263 257 MAT¥= 2 wor=  .5000+06 3-p SOLID 45
TACsYCsllE -125+04 e 550+04 1.30 TEMP= 25.0 TAUMX=  13.803 Si6g=  24.B84
_EP= . 000035 -.000037___ _ ~-.0000235. _ .002000 .000157 -.000060 EPPR= 000065 _ L000022 . ~.000113
'516= 1.2855 ~%.9701 ~8.0891 .39§39-02 12.188 -4L.6385 SIGPR=  5.9%104 -.98377 ~21.695
EL= 155 NODES= 221 227 22877222 257 263 264 258 HAT= 2 vOoL=  L5000+06 - 3-p SOLID 45
XCL,YC,ZIC= 5125404 +450404 130 _TEMP=s  25.0 TAUMX= _26.370 S1GE= _ 45.690
Ep= 000035 .000200 -.050099 L003001 -.030452 -, 000061 EPPR= 003218 2000943 -.000922
$16= 254946 SVT.447 _ __ S.2447 «52146=01 -11.75% ~4.7078 SIGPR=  54.311 244755 1.5709
_EL= 156 NODES= 223 229 230 224 259 265 266 260 Mav= 2 VOL®  ,5000+06 ) o . 3-p SOLID 4S5
XCy¥Cs2€=  o375+04 500, 1.30 TEMP= 25.0 TAUMX= 13,709 SI1GE= 23,975
EP= 000022 000040 -.000032 -.000000 ~.030151 000061 EPPR= 0200861 .030024 ~,000386
SIG= 7.9642 10,671 -.34507 ~.23057-02 -11.670 447346 SIGPR= 184702 8.3016 -B.7169
EL= 157 NODES= 224 230 "231 225 260 266 267 261 nRAT= 2 VOL= 5000406 ) - T 3=-p SOLID 45 B
XC,YCy2C= «375404 « 150404 1430 TEMP= 25.0 « TAUMXT  13.314 SIGE= 23,553
£P= 000022 000008 -.000032 .J00000 0001583 LO000D44 EPPR= 003075 030220 =-.0002397
S16= 3.1258 . 95898 -5,3091 W 26867=02 11,883 4.9515 SIGPR= 114318 Z.7721 ~15.315
EL= 158 NODES= 225 231 232 226 261 267 268 262 MAT= 2 VOLs +5000406 o . 3-p SOLID 43
XCy¥Cy2C= « 375404 L250+404 1.30 TEMP= 25.0 TAYUMX= 14,953 S1GE= 25.928
EP= 000022 «000674 -.000032 -.000600 -.000151 _  .000058 EPPR= .000115 _ _  .000027 -.000078
SIG= 13.103 21.110 4.7837 -.91418=02 -11.715 4.4941 SIGPR=  27.540 13.823 -2.3658
TELE TIRY ROTESE 296 232 233 CTLY J6F T 268 &9 286 hWAT= 2 VOl= L 5D00+086 3-D SOLID 4S5
_ XC.‘!n(_'.!IC'-*- .3?5‘\‘0‘! 3350"‘04 __1030 TEMP= ZS.U TAUNYS 13-6"1!’ SIGE= 23-25b _
EP= 00022 ~-.000038 ~  -.000026 000000 000149 000063 EPPR= 000059 000010 -.000110
__816= ~2,7128 -11.971__ . =10.142 «18031~02 T1.522 4.8647 _ _ SIGPR=  2.9296 ___ 45983 _ . =23e7157 _ . _ . __
EL= 140 NODES= 227 233 234 22B 263 269 270 264 MAT= 2 VOL= 5000406 1-p SOLID 45
XCyTCyZC=  «375+04 L 450+04 1.30 TEMP= 25.0 TAUMA=  26.554 S16e= 46,102
__Ep= « 000022 «000200 _ _ =.000099 -.000001 -.000157 .000058 EPPR= _  .00021% _  .000027 ~.000124
$16= "7 21.984 494425 3.2166 -.61712=-D1  -12.185 444605 S§16PR=  52.484 22.764 “o52416
“EL= 161 NODES= 229 235 236 230 245 271 272 266 MAT= 2 VOL= «50004+06 o T 3=D SOLID 45
XC,YC,2C= 625404 500. 1,30 TEMP= 25.0 TAUMX= 13,718 SIGE= 244719
EPS . 000051 . 000040 = pouu3z .000000 -, 000150 -.000059 EPPR= « 000293 . 000047 -.000084
_S16= 164609 14,920 3.8803 W63786-02  -1t1.622 -4.5609 SIGPR= 23,248 164349 ~4,1876
EL= 162 NODES= 230 236 237 231 266 272 273 267 4AT= 2 VOL= 5000406 3-D SOLID 45
TRC L YCsZC=TTT W625+404 0 <T150+04 T71.30 7 TEMP=  25.0 TAUMX= 13,743 S16E=  24.%30 T i
EpP= . 000050 .000008 ~,000032 -,006000 000152 ~.0000867 EPPR= .000082 000040 -.000394
S§1G= TV 765 52105 0782 <. 2BE70=02 T1.78% -5 1584 SIGFR=  16.608 10,172 ~10.880
ELl= 163 NODES= 231 2377 23877232 77267 2737 274 2687 sa¥= 2 voL= 5000406 T Tt TTTTT T 3-pTSOLID T &S
XC,¥CyZC=  .625+404 «250404  1.30 TEMP= 25.C TAUNX= 15,194 S16E=  26.834 )
Ep= .000051 L000074 T T=.000D32 L0000 -.Dah153 -.000067 EPPR= 000118 .Q00053 -.000078

§16= 214765 25.372 F.0311 s 16£58-01 =171.614 =5.1710 S1GPR= 32.168 224219 1.7810




TEL=TTS6ATONODES®E 232 238 23T 233 2687 274 275 289 UARTETTZ UTVOCETTTUNI00VDE 3=pTSOCTE RS
ACs¥C 2= L 625+04 .350+04 1.30 TEMP= 25.0 TAURA= 144393 S1GE= 25,775
Ep= 500050 -.000037 -.000326 -.0000060 300150 -.000071 EppPR= 000075 000523 ~.0001%1
S16= 5.8099% -7.7717 ~5.9838 -.15110~01 11.648 =5.4865 _ _ SIGPR®  9,6563 _ 15279 _ _ =19.130 _ __.
EL=s 165 NODES= 233 239 240 234 269 275 276 270 wAT= 2 WVO0L=  .5000+406 I=D SOLID 45
TXC,YE 428 aG25+04 L5004 1.30 TENP= 25.0 TAUNX= 2hebbl SIGE= 454,845
EP= _ _ 000050 000200 __ _ =.C00099 000007 -, 060153 -.0000862 EPPR= 000219 . 000055 ~,000123
‘$16= 20,382 51.626 7.2882 .83052-01 =11.2851 -4.8314 SIGPR= 564538 31.143 23,6153
EL= 166 NODES=s 235 241 242 23& 271 2?7 273 272 wAl= 2 vbL=  L5000+06 ) B 3«p SOLID 45
__E_E!_:(CQZC: _':8?5"0‘4 SD[]. 1.30 N Ti’:MP: 25.9 TAUM}=__“‘13.SOB SIGe= 23.337
EF= L 050007 000040 . too0z7 =, 00ato0 - o750 000058 EPPR® L00Ca71 .000303 -.000083
SIG= 2.1001 B.1382_  =2.1373 ~.16819-01 =11.632 §.5272 SIGPR= 164173 247698 ~10.842
EL= 167 NODES= 236 242 243 237 3zve 278 279 273 WAT= 2 VoLs +5000+06 L . 3-p SOLID 45
AC,¥L,2C=  L875+04 +150+04 T 1430 TEMP=  25.0 TAUMX= 124887 S1GE=  22.394
Ep= .000001 000008 ~-.0cp628 .000000 000151 .000060  EPPR= .000073 .000002 -, 100093
§165 ~Z2.7327 ~1+45597 ~7.0827 8501702 11.700 446701 SIGPR®  B.4905 -2.58%06 ~17.283
EL= 108 NODES= 237 243 244 238 271 279 280 274 MAT= 2 WOL=  .5000+06 B -t ; 3-p SOLID 45
XC,YC,ZC=  LF75+04 L250404 1.30 TEMP=  25.0 | TAU®FXS 146527 SIGE=  25.273
EP= 000000 000074 -.000027 -.000000 - 300149 .000049 EPPR= .003115 000006 ~.000273
$16= 7.2198 18.575 2.9979 =.25352=01 =11.5647 31,7701 SIGPR= 244917 8.0119 =4,1363
EL= 169 NODES= 238 244 245 239 274 280 281 275 HKAT= 2 voOL= 5000406 I-p SOLID 45
XL, ¥C,2C= LB75404 L350404° 1.30 TEMP= 25.0 TAUNX=  13.166 SIGE= 23.058
EP= 000001 -. 000037 -.00002% .000001 L000156 .000060 EPPR= . 000059 ~.000004 -.000111
$16=  =8.4133 ~144415 ~11.872 «58043-01 12.10% 46396 S1GPR= 46030 -9,2895 —25.871
TELETTI 0T NODESE 23Y 245 246 250 275 28T €BZ 276 RATETTZ VOL= FERIELT) 3-p SOLID 45
XCy¥C42C=  LBT75+04 450404 1.30 TEMP= 25,0 TAUMX= 264589 SIGE= 464375
EP= 000002 000200 ~  -.000094 -.000001 - 050154 000076 EPPR= p03219 000012 ~. 000124
$16G= 164510 47,125 1.5766 -.10012 -11.965 5.8789 _ SIGPR=  50.146 ___  18.098 Lo=3.0318 _ .
EL= 171 KODES=T 241 247 248 242 277 283 284 278 RAT= 2 VOL= .5000+06 3-0 SOLID 45
X YC 2L TT12+035 500 T30 TENPF= 250 TAURR = T5.40¢2 SIGE= 28.094
EP= . 060085 000040 -« 360052 000007 ~.00D158 -.D00Ds2 EPPR= L000901 «00007) -.000298
516= 24.218 17.132 T 2.9771 +38995-01 -=11.606 wl o744 SIGPR= 244456 21.819 ~4.1486
EL= 172 NODES= 242 248 249 243 278 254 285 279 HMAT= 2 VOL=  .5000+06 I=b SOLID 45
XC,YC,20=  .112+405 150404 1.30 TEMP= 25,0 TAUNMXE  15.551 SIGE= 284345
EP= LUDDCES +000008 =, 000033 - 003000 000150 -.000056 EPPR= «000095 000052 ~.000106
$16= 19.383 Tebh15 -1.9634 -.16594-01 11,616 -4.3361 SIGPR= 204875 144274 ~10.228
EL= 173 HNODES= 243 249 250 244 279 285 286 3280 MAT= 2 VOL=  .5000+06 3-b SOLID 4§
XCyYCs2C=_ 112405 L250+404 1.30 TEMP=  25.0 TAUMX=  15.876 SIGE=  29.b662
Ep= .000085 000074 -.000052 +002001 -, 000152 -.000050 EPPR= 000114 . 000084 -,000791
§16= 294364 27575 8.718% W SIZT3-0T ~711.796 -3.9061 SIGPR=  33.854 29.100 2. 1027
Et= 174 NODES= 244 250 2517 245 280 2¥6 287 281 MAT= 2 VOL= .5000+06°° - Tt T I-p SOLID 45
XCa¥C,2C= 112405 .350+04 130 TLMPs  25.0 TAUMX= 164812 SIGE= 29.598
Eps . 000084 -.000037 -.000045 -.500002 LO00153 -.006N70 EPPR= +D0DO%6 «0020028 -.000121
S16= 13,131 ~5.4030 -6.7998 -.11993 11,823 ~5. 4088 SIGPRE 154110 441320 18,514




“EL= 1757 NODESE 045 RS RSYTRu T T R8T ZET T 2EETTRRY T OMATE T 2T WoLUET T L50U0R0E Y50 SO0LID 45
XCs¥CZC= 112405 L65D404 1.30 TEWMP=  25.0 TAUMX=  27.524 SIGE= 48,257 _
EP= .0ooge2 000196 ~.000116 .500001 -.030157 -.000069 EPPR= .002215 020086 ~.000145
S1G= 317.009 54,599 6.3066__ 62244=-01 ~12.184 ~5,3478% SIGPR= _ 57677 .. _ 37.709 _2.6282
_EL= 176 NODES= 253 259 260 254 289 295 296 290 MAT= 2 VOLS _ .2000+07 3-p SOLID 45
RC,¥Cs2C= 125404 500. 1.80 TEMP= 25.0 TAUFPX=  13.620 SIGE=  24.125
. EP= . 000035 .000039__  -.000031 000000 ~. 000148 -.000063 _ EPPR= «002392 _ .08003%5 | -.000084
S16= 114983 124643 1.7140 +16586-02 =11.428 “4 49145 SIGPR= 204750 12,080 624906
EL= 177 NODES= 254 260 261 255 290 296 297 291 MAT= 2 VOL= +2000+07 ) - ) T 3-5 S50LID 45
_XCa¥C,a20=  .125+04 150404 1.80 _TEMP= 25,0 TAUMY= 134115 S1GE= 23,519
Ep= 0000635 .0000079 -.000032 -.00p0000 .000149 -.000063 EPPR= .003376 .008333 ~.000094
5162 7.2307 3.1179 -3.1590 -, 1065%4=-02 114557 ~4 8406 S1IGPRE 134481 b.458D ~12.749
EL= 178 NODES= 255 2461 262 256 291 297 298 292 MAT= 2 VvOL=  .2000+407 } _ I-b SOLID_ 45
AL, ¥YCsZC= 125404 250404  1.80 TEXP= 25.0 TAUFX= 144919 SIGE=  26.027
__EP= . 000035 000073 -. 000031 .000000 -.1100151 -.000062 EPPR= 002115 000033 -,000077
§1G= 17.035 224899 5.7693 L75416=-02  =11.650 =5.7670 SIGPA=  2Fa447 17.648 =.39054
EL= 179 NODES= 254 262 263 257 292 298 299 293 MAT= 2 WOL=  .2000+07 ) ) 3-D SOLID 45
XC, YL 2C= 125404 350404 1.80 TEMP=  25.0 TAUNKs  13.608 SIGE= 244458
Ep= . 000035 -.000036 -.000026 .000000 2090153 -.000062 EPPR= 030065 -000019% ~.000111
$16= 1.4189 =5,6571 -2.9755 .39759-02 11,854 ~4.8230 SIGPR=  5.0254 -1.0500 -21,190
EL= 180 NODES= 257 243 264 258 293 299 300 294 MAT= 2 voL=  .2000+D7 3-p SOLID 45
XKC,¥CpZC= 125404 «450+04  1.80 TEMP= 25.0 TAuMx=  26.419 SIGE=  45.773
EPz . 000035 000198 -.CO0C98 .000001 ~, 000157 -. 000061 EPPR= -0002148 000040 -,000123
§16= 25.789 51.058 5.1816 «52128~01 -12.162 =L T44 e SI1GPR=  54.134 25,400 142951
L= TET TROBESS 2S5V 265 266 260 295 IUT 07 296 mATE 2 voL=  .2000+07 I-p SOLID 45
XC,YC;ZC’-‘ 375404 S00. 1.80 TLMP= 25.0 TAUMX= 13.554 SIGE= 23.?1’!_
Ep= .000022 .000039 -.000032 -,.000000 ~, 000148 000061 EPPRS L000290 000024 - 000085
§1G= 7.94610 10.632 -.36203 ~e23748-02  ~11.467 47571 S16pR=  18.517 _B.3p55 =8.5918._
EL= 132 NODES= 260 266 267 261 296 302 303 297 4AT= 2 VOL=  .2000+07 ‘ -0 SOLID 45
TRV, 0 L 37504 < T50+04 1260 TERP= 2540 TAUPES  12.095 SIGE=  23.005
Ep= . 000022 000009 ~.000032 000000 000149 .000053  EPPR= 000073 .000020 - 30095
S1G6= ~ 3.2146 “1.1087 T =5.2328 +26551-02 114559 L.8449 SIGPR=  11.107 2.8664 -14.583
£
EL= 183 NOBES= 261 267 268 262 297 303 304 298 MAT= < VOL=  .2000+07 ) - T-p SOLID 45
XCy¥La2C= 375404 « 250404 1.80 TEMP= 25,0 TAUNY= 14,507 51GE= 254858 .
TTERE JTO00072 LTOoUu?s = 000032 =.00aco0 = 000150 LUU0G5T  EPPR= +000114 Looaoer -.000078
$1G= 13.012 20.88¢4 4.6901 -.%0958~02 =11.605 4.7566 SIGPR®  27.294 13.5810 ~2.5191
EL= 184 NODES= 262 268 269 263 295 304 3CS5 299 #a¥s 2 VvOL=  .2000+07 3«p SOLIB 4S
XC,¥C,2C= 375404 2350404  T1.80 TEMP= 25.0 TaUMX=  13.169 SIGE=  23.437
EP= 600022 ~-.000036 -. 000026 403000 LDU0151 000062 EPPR= .000060D 000011 ~-.000110
T S16s  -—2.5478 ~11.643 ~10.014 LA1E031-02 11,708 L.830% SIGPR=  3.2343 -4.3350 -23.104
EL= 185 NODES= 263 269 270 264 299 305 306 300 MAT= 2 VOL=  .2000+07 T T T 3ep SOLIG 45
XC,YC,ZC= 375404 450404  1.50 TEMP=  25.0 TAURE= 264407 SIGE=  45.830 _
Ep= . 000022 . 000198 -, 060098 ~ . 000001 -.0006155 L0D0062 EPPR= « 000217 .000028 -. 000122
S16= 21.5861 49.054 3.1722 -.81721-01 ~12.040 4.7793 S1GPR=__ 52.070 22.750 - 74323

1



TECETTIES NGEESE T 265 T RV TTTETY 264 301 IO 3n8T 307 AATS 2 VoLE .2 OTaF 07 T=p SOLID 45
XC,YC,2C= 4625404 5C0. _ 1480 TEMP=  25.0 TAUMXE  13.671 SIGE= 244626
Ep= .000050 000039 -,000032 .000000 ~. 000148 -, 000062 EPPR= «009093 «00024% -.000283
$16= 16.546 14.854 3.8450 L62529-02 . -11.471 ~4.7968 SIGPR= _23.166 16257 .. ~ho1772 o
EL= 187 NODES= 246 272 273 2467 302 308 109 303 MAT= 2 VDL= _ .2000+407 i~p SOLID 45
%€, YC,LC=  .625+04 150404  1.80 TEMP= 25.0 TAURK=  13.404 516E= 24,372
JEP=  _ .000050 L00000%_ _ _ -.G00032 _~.000000 000146 _ -.000062. EPPR= L000029 __ __ 000041, - 000094
51G= 11.791 5.3302 -1.0301 -, 2E0P4-02 114569 -4 ,8013 S1GPR= 164297 10.306 «13.512
EL= 188 NODES= 267 273 274 2685 303 309 310 304 #MAY= 2 voL= ~ .2000+07 Tt T oTh 3ep SOLID 45
XC,YC,ZC= 625404 L250+84  1.80 TEMP= 25,0 TAUMX:  14.%25 SIGE= 26,374
EP= .000050 .000073 -.000032 .000000 -. 000150 -.000064 EPPR= 000116 .000053 -.000077
S1G6= 21.609 254414 _ B.9044 2 16679=01 =11.612 =6.9269 SIGPR= 314726 . _22.025 1.8759%
EL= 189 NODES= 268 274 275 269 304 310 311 305 #MAT= 2 VoL~ 22000407 i . 3=b SOLID 45
XC,YCy2C= .625+04 350404 ~ 1.80 TEMP= 25.0 TAUNMX=  14.139 S1GE=  25.413
Ep= 000050 -, 000036 ~.00002¢ ~.000000 L000151 -, 000064 EPPR= 000073 .000025 ~-.000110
516= 5. 9090 —7e4760 “5.8907 —.151d2-01 1M.702 ~Le9B37 SIGPR=  9.3012 2.0380 “18.887
EL= 190 NODES= 269 275 276 270 305 311 312 306 MAT= 2 VOL=  .2000+07 - T ot 3~p SOLID 45
XEL¥C 4205  L625404  J450+04 1.80 TEMP=  25.0 TAUMAS 264418 516E=  45.7&9 _
Ep= +00Na50 000198 -.000099 .005001 -.000157 ~-,000060 EPPR= .000218 .000054 -.000123
§16= 30.195 53,223 7.2123 L 82944-01 ~12.149 —-4.6233 SIGPR= 564289 I0.886 3.4540
EL= 191 HKNODES= 271 277 278 272 307 313 314 308 MAT= 2 wvor=  .2000+07 ) o 3~b SO0LID 45
XC,¥C+2C=  LR7S404 5005 1.80 TEMP=  25.0 TAUMXE 134456 S16e=  23.308 "
EP= . 000001 .000039  _ ~-.000027 _ _-.000000 -.000148 L000062 EPPR= .000091 _ _ . .DOODOB -.000083
516= 2.1278 8.1125 ~2.1389 -.16927-01 ~11.482 L.7713 SIGPR=  156.071 2.8710 “10.841
Er= {67 RODESS 272 o788 o7y 273 308 314 375 %09 RmAT= 2 wolL=  L2000+07 3D SOLID 45
XC,YC,20=  .875+04 .150404 ___1.80 TEMP= 25,0 TAURX=  12.792 S16E=  22.233 3
EP= 000001 .000009 ~,000028 0056000 L000149 000062 EPPR= 000073 .000002 -.000093
S5I1G= =—2.6189 ~1.4013 _ | =7,0069 «84882-02 11,533 4.8036 _SIGPR=__ B.5038 _ _ _=2.4501_ __ =17.081 ___. ...
EL= 103 NODES= 273 279 280 274 309 315 316 310 MAT= 2 vOL=  .2000+07 3~D SOLID 45
TKC,TL,2C= 875404 L 250+04 T.80 TE®P= 25+0 TAURXE 144939 SIGE=  25.921
__EP= 000001 _.000073 _ -.000027 ~.000000 -.000150 .000045 _ePPR= __ 000115 . 000309 -.000078
516= 7.1506 184354 2.8980 -.25379-01 -11.623 5.0112 SIGPR="~ 24.918 B.h443 =4.9599
EL= 194 NODES= 274 280 "281”°275 310 316 317 311 mA¥= 2 WVOL= «2000407 - ) ot I=D SOLID 45
XC,YC,2C=  L875+404 350404 1.80 TEMP= 25,0 TAUMX=  12.954 SIGE=  22.473
3.5 L0000 = 0000335 SR LD M EEES LUU006Z EPPR= LU00058 -.000005 -.000109
$16= -8.2193 -14,075 ~114735 JSTYRE-01 11.812 448099 $1I6PR= 452228 ____ ~9.1660 -25.385
£L= 195 NODES= 275 281 282 276 311 317 318 312 MAT= 2 vOoL= 2000407 3-0 SOLID_ 45 -
XCeYC,2C= ~ oB75+04  450+04 1,80 ° TEMP= 25.0 TAUMX=  26.250 SIGES  45.B86 - i
£p= . 040002 .000198 -. 006094 -.000001 -,000156 LO00063 EPPR= 000218 .000013 ~.000121
516= 164617 46.767 1.5420 -+ 100735 =12.079 %.0053 SIGPR=  49.B41 17543 ~2.6583
EL= 196 NODES= 277 283 " 28477278 313 31977320 314" aav=" 2 VOLE T L2000407 T T T e n T T o3-pTSOLID 45T T
XCy¥Ca2C0=  112+05 _ 500, _1.80 TEWP= 25.0 TAUMXS 154417 SIGE= 284636 _ i
EP= . 000685 000039 ~.000052 ,000001 -.000148 -.00004% EPPR= .003102 .00006% -,000098
S$16= 244134 17.061 2.9522 .39105-N1 -11.486 -5.0104 SIGPR= 255685 21.611 -4 ,1485




TEL=T IOV TRODESE T Z7E 2LWT 28T 279 314720324 T3S MATETZT volE . 200D+07 3-b SOLID 45

XCy¥C,2C= .112+C5 2150404 1480 TEMP=  25.0 TAUMK= 154575 SIGE= 28.350
Ep= L000D85 360007 -,000052 -.20J000 030149 -.0D0G59 EPPR= 0030095 020051 ~.000106
S1G= 19.388 7.5572 _=1.90C62 -.36504-01 114542 L ~heS5719 SIGPR=_ 21.015_ _ _ 144159 | =10.135
_EL=__198 nOD[S= 279 285 286 280 315 321 32z 316 MAT= 2 VOL= .2000+07 3-D SOLID &S
ACsYCp2C= 112405 e250+04 1.80 TEMP= 25.0 TAUMXYS 16.06% SIGE=  29.883
 EP= . 000635 _ .000073 _ _ -.000052 000001 -.N30149 -.,000066 EPPR= .000116_ _ . -000082 ~.000092
S$16= 29.180 27.306 7+.9890 +53318~01 -11+575 -5.1042 SIGPR= 3T3.925 28,755 1.7949
EL= 199 NODES= 280 256 287 281 316 322 323 317 MAT= 2 VOL= .2000+07 T -7 I-p SOL1D 45
XC,YC,y2C= » 112405 .350+04 1.80 __IeMp= 25,0 TAUML=  16.522 SIGE= _ 29.30%9
EP= . 000083 -.0D0036 -.000045% -.000002 L0a0153 -.000061 EPPR= 000094 «030228 -.000120
$I6G= 13.213 =5.30467 ____ ~b6.6B54 -, 12000 114541 w4 7584 S16PR=  14.818 L hab2B4 -18,225
EL= 200 NODEs= 281 287 288 282 317 323 324 318 MAaT= 2 \VOL= .2000+07 ) . } I-p SOLID 45
XC,YC,2C= . 112405 450+04 1.80 TEMP=  25.0 TAUMX=  27.281 SIGE= 47,855
EP= . 000082 . 000155 -.000116 200001 ~.000155 -.000068 EPPR= .000213 000085 -, 000139
§16= 36.805 She2G7 6e2514 L62199-01 ~12.003 -5.2876 $16PR= 57.211 37.496 2.6481
EL= 201 NODES= 289 295 296 290 325 3371 332 326 #AT= 2 VOL= «2000+07 T T o © 3ep SOLID 45
KC4¥C,y2C= L125+04 500. 2400 TEMP=  25.0 . TAUMX= 130346 SIGE= 23.642 )
EP= .000035 .000039 ~.000031 .000000 -.000145 -.000062 EPPR= « 000092 «000035% ~-. 000982
SIG= 11.929 12.557 1.6722 ¢ L16566-02 -11.212 -4,3221 SIGPR=  20.414 12023 ~6.2786
EL= 202 NODES= 290 296 297 291 326 332 333 327 MAT= 2 VOL= . 2000+07 _ X 3-p SOLIO &S
XCs¥Cs2C= 125404 «150+04 77 2,40 TEMP=  25.0 TAUMY=  12.782 SIGES  22.947
EP= . 000035 «000009  _ -.000032 -.C00000 . 000745 -.000061 EPPR= .000074 000030 -.000091
$i6= 77,3218 3.3309 -3.0602 -.10503~02 11.205 “h 7482 SIGPR= 13.302 6.5526 ~12.262
EC= U3 RNOPESE 29T 297 ~ 298 292 327 333 33% 328 BATE ¢ WOL= < 2 00DF07 I=p SOLID 45
XL, ¥C,2C=  .125404 +250+04 2.60 TEMP=  25.0 TAUMX= 14.722 S5IGE= 25.700
Ep= 000035 .000072 " -.000031 000000 -.000148 -.000062 EPPR= .000113 .000039 -.000077
SIG= _ 16.842 22.519 66002 JT5684-02 ~11.497 =44 7854 SIGPR=  2B4974 __ _ 17457 ____ -.46980
EL= 204 NODES= 292 298 299 293 328 334 335 329 MAT= 2 VOL= .2000+07 I-p SOLID 45
XCyYCsLC2 .125+04 < 350+04 Ze G0 TEME= 2540 TAUNK= 13,399 S1GE= 23,963
EP= . 000035 ~-.000035 -.000026 +000000 000150 ~,000061 EPPR= 000044 .000019 ~-.000108
T s16= 1.6298 -9.1627 7 ~7.7953 «39759-02 11613 —heb937 S16PR=  6.0488 -~ 78733 -20.590
EL= 205 HNODES= 293 299 300 294 329 335 336 330 MAT= 2 VOL= «2000+07 - ) I-p SOLID 45
XC,YC,2€= 125404 450404 2.60 TEMP=  25.0 TAUMX=  26.076 SIGE= 45.175
T EFE MIHES) L 000798 = 0L00yY GO0 SMOTIIEETA —.000067 EPPR= . 000215 . 000049 -.000122
516G= 254542 SN.443 5.0836 +52110-01 ~11.907 ~La 7446 SIGPR=_  53.430 28,362 1.2773
EL= 206 NODES= 295 301 302 296 331 337 338 332 #AT= 2 VvOoL=  .2000+07 3=p SOLIP 45
KEoYC42CF 4375404 500 2.60 TEMP= 25.0 TAUMY= 12,271 S1Ge= 23,232 ) )
EP= 000022 .00003% -.op032 ~.000000 -, 000145 000060 EPPR= .000088 000024 ~.000083
Y6 T U577 TO571 = 3TTEE = 2319302  =11.206 46503 SiGPR= TE198 BelO&? —B.3441
EL= 207 NODES= 296 302 303° 297 33z 338 339 333 4av=  277voL=" TTL2000+47 -oT e Tt 3-p7SOLID T 4S5
XCa¥6,28= 375404 150404  2.80 TEMP=  25.0 TAURY= 12,675 S1GE=  22.463
Ep= .000022 . 000009 -.000032 000000 L000146 LOD0060 EPPR= 000071 .000020 ~. 000092

Sl6= 3.3559 143461 ~5.1103 2677602 114271 he 8440 SIGPR= 10.955 1.03213 ~14.,394




TTEL=TTZOB T UNODESSTTZOTTICT TTROS T 29833 TEROTTRAN RIS WA = E TVWOLE T UU20004077 3= soi1o 4s
XC,¥C,2C= 175404 « 250404 2.60 TLHP=  25.0 TAUMX=  14.716 SIGE= 254536
EpP= «000022 000072 ~. 000031 -.C00000 -.000147 .000062 EPPR= .003113 «000028 -.000077
$16= 12.870 20.528 445451 - 9074702  ~11.422 L.T7976 SIGPR= 264847 13.681 _ _ =-2.5854 _
EL= 209 NODES= 29& 304 305 299 334 3240 341 335 HAT= 2 WOL= .2000407 I«p SOLID 45
TXC,YC 2= . 3754004 350704 260 CYERPE 2550 TAURX= ~13.047 STGE= 7,281
Ep= .000022 -.000035 -.000026 300000 .000150 L000051 _EPPR= .0D025% _ £ 000011 -.00010%
SI6=  -2,2467 -11.124 -9.809¢% .18031-02 11.631 47607 S1GPR=  3.4392 ~4,0058 “22.554
EL= 210 NODES= 299 305 306 300 335 341 342 336 RAT= 2 vOL= «2000+07 STttt "7 3-p SOLID 45
XC+Y¥C,2C= 375404 LA50+04 2.60 TEMP=  25.0 TAUMX= 256,007 SIGE= 454239
i . 0a0g2% L000196 =, 000097 -.006007 -. 000154 0000617 EPPR= L.000215 .000028 ~.000122
516= 21.664 A8 464 __3,0973 -.61721~-01 -11.8%6 4.6918 S1GPR=  S57T4441 22.537 -.75365
EL= 211 NODES= 301 307 308 302 337 343 344 338 MAT= 2 VOL= 2000407 L . 3-b SOLID 4S5
XCyvCq2C= 825404 500.  2.60 TEMP= 25.0 TAUMX= 13,505 S16e= 24,332
__EP= 000050 .D0003Y -.000032 0000090 -.000145 -.000064 EPPR= 0031992 000048 -.0p0082
s16G= 164443 144745 3,782 .62320-02 -11.204 ~4,958¢ SIGPR®  22.928 16.124 -4.0822
EL= 212 HODLES= 302 308 309 303 33& 344 345 339 NAT= 2 VOL= «2000+07 ) - T 3-p SOLID 45
XC,¥C,28= 625404 150404 2.60 TEWP=  25.0 ¢ TAUMX= 13.297 SIGE= 244123 .
EP= . 000050 000009 ~.000032 -, 060000 000146 ~.000065 EPPR= 000079 000040 ~.000092
S16= 11.834 5,5208 -,95065 ~,27948-02 11.319 -5.0001 SIGPR=  16.372 1D.254 -10.221
EL= 213 NODES= 303 300 310 304 339 345 346 340 MAT= 2 VOL= .2000+07 o 3-D SOLID 4S5
AL,YC,2C= 625404 T 250404 2.40 TEMP=  25.0 TAUMX= 14.778 SI1GE= 26,138 i
EP= . 0000540 000072 -.000032 .005000 -.00G148 -,000045 EPPR= 000114 L030053 -, 000277
$16= 21.367 24.711 8.7156 2 16679-01 =11.447 -5.0521 SIGPR=  31.277 21.796 1.7213
EL= " 2T4 NODESTS 304 3T0 31T 305 3&0 346 347 34T WAT= ¢ GOL= < 2000¥07 3=D SOLID 45
XCa¥C,2C= «525+04 W350404 2.560 TEMP= 25,0 TAUMX= 14,033 SIGE= 254232 )
Ep= 000050 -.000035 = " ~.000026 -.000600 .0D0150 -.000064 EPPR= «000072 000025 -.00010%
$16= 6.0698 -7.0062 =5,7327 -.15092-01 11,664 -4 .9611 SIGPR=__ 9.5531 _ _ _2.2911__ . =18,513 ___ ___
EL= 215 NODES= 305 311 312 306 341 347 34E 342 MAT= 2 VOL= 2000407 I-0 SO0LID 45
XE, Y0, 2CE «625+04 NATEL 260 TENE= 2540 TAURX=  26.108 SIGE= 45,236
EP= 000050 +000196__  -.000098 000001 -,008154 -. 000082 EPPR= 000215 «020054 ~.000122
S$16= 29.899 52.585 7.0918 8293501 -11.8%4 ~4.8215 SIGPR=  55.547 IN.658 3.3519
EL=x 216 NOBES= 307 313 314 308 343 349 350 344 MAT= 2 VOL= 2000407 T 3=) SOLID 45
XC,YC.ZC-“- «875404 500. 2a610 TEMP= 25-0 TAUMX= 13016’4 SIGE= 22-333
EP= L 0o0a0d 0000639 = 000027 - 0000060 - 000145 ,000060 EPPR= 000289 000006 -.000281
§16= 2.1701 5.0701 =2.1455 ~.16931-01 -11.202 4abhtd SIGPR= 134764 _ 2.8956 -13.564%
EL= 217 NODES= 208 314 315 309 344 350 351 345 MHAT= 2 vOL= .2000+07 3=D §OLID 45
TXCLYC,2C7  LB754047 7 L150+404 2.60 TEMP=" 25.0 TAUMX= 12,577 S1GE= 21,862 7T ) '
EP= 000001 000009 -.000028 003000 000146 .D00061 EPPR= .0030371 .000302 -.000091
S16= =2.4303 ~T«1436 —6.8699 B85243-02 11.301 Ge7524 SIGPR=  B.4795 -2.2492 -16.674
EL= 218 NODES= "30% 3157 316 210 7345 351 352 3467 MAT=T T2 TvOL=T T L2000+07 e oo T 3-5" 50L1ID" 45§
XCyY¥C,y2C= 875404 «250404 2+60 TEMP=s 25.0 TAUMX= 14604 SIGE= 254441
EP= 000001 000072 -.,000027 =.500000 -.000147 000063 EPPR= 020113 000009 ~.000076
$16= 70557 18,019 2.7684 -.25388-01 ~11.402 4L.8859 SIGPRT 244435 B.33224 ~4 B934
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TEL=TTT219T TNCDES ST IS T ST ST AT T35 TARYT 347 O NAYET 2 VolFE 00007 I~D SOLTID 45

ACy¥YC,2L= 2875404 2350404 2,40 TEMP=  25.0 TAUMX= 12,661, SI6E=  22.158 o
“Ep= .000p02 -.000035 ~.000022 603001 008148 000062 EPPR= 030257 ~-.000004 -. 000107
SIG= =7.9114 -13.536 _  ~-11.513 $58151-01 11.407 . 4.B325 SIGPR= 201528, _ _=B.B739 __. =24.707. . . __
EL= 220 NODES= 317 317 316 312 347 353 354 348 MAT= 2 voL=  .2000+07 3~D SOLID 45
XC3¥Cp2C= 975404  «650+04 2460 TEMP= 2540 TAUMX=  25.034 SIGE®  45.471
EP= __ .000D003 .000196 _ _ _-.GDOCS3 ~.000001 -.000156 _ _ .000064 EPPR= _ L009216 __ .000010. -.000120
's16= 16.268 46.198 14840 -.10022 ~12.082 L9286 SIGPR=  49.306 17.405 -2.7611
gL= 221 NOBDES= 313 310 77320" 314 34¢ 355 “354 350 MAT= 2 VOL= .2000+07 . T 3-0 SOLID 45
XC,¥YL,2C= .112+05  50D. 2.40 TEMP= 25,0 TAUMX= 15,003 _ SI1GE=  27.988
“TEPT . 000085 .000039 = 000052 L0G000T - 0007145 -.000058 EPPR= .007299 L000067 -.000095
§16= 23.994 16,943 2.8992 #39099~01  =11.201 =4.5078 SIGPR= 264150 | 21.542 -3,8559
EL= 222 NODES= 314 220 321 315 350 356 357 351 “AT= 2 VOL=  .2000+07 o i 3-b SOLID 45 ;
TXC, Y0, 2C= «112405 7 4150+04  2.60° TEMP=" 25.0 TAUMX= 15.651 SIGE= 28.322
£Ep= « 000085 .00000% ~.GOG052 -.000000 000146 -,000067 EPPR= 003097 000049 -, 000105
516= 19,390 7e7354 ~TeB2%7 < 36540-01 T1.259 -5,i770 SIGPR= 214354 13,806 ~G. 9485
EL= 223 MNODES= 315 321 322 "316 351 357 358 352 MATY= 2 vQL= «2000+07 - - T 3-p 50LID 4S -
XC3¥C,2C= 112405 «250404 _2.60 TEMP= 25.0 . TAUMX=  15.778 S5IGE=  29.427 -
Ep= ,000085 .000072 -.000051 .000001 -.000148 -.000061 EppR= 000113 000082 -,000090
516= 28.904 26.897 7.8148 L53246=01 =11.428 —b4 e 7494 SIGPR= 33,346 23.479 1.7896
EL= 224 NODES= 316 322 323 317 352 358 359 353 MATs 2 VvOoL= ,2000+07 o 3-D SOLID &5
XC.¥YCo20=  +112+405 350404 2460 TEMP=  25.0 TAUNX=  16.264 SIGE=  28.799
EP= . 000083 ~.000034 _  -.000045 ~-.000002 0061437 -. 000062 EPPR= 000093 _ _ .000027 -.000117
S1G= 13.341 ~4 48415 -645114 -.11986 11.507 -4.7727 S1GPR=  14.932 6a6524 ~17.596
TEEE PYS WODESE 317 323 CFZLTITET CISIT ISYT ILUT 354 WAT= 2 VOLE  .2000+07 3~b SOLID 45
XCsYCy2C= 4112405 450404 2460 TCHP=  25.0 TAUMX=  27.018 SIGE= 474381 .
EP= .000081 000192 -.000115 .000001 -.000156 ~-.000062 EPPR= « 000211 . 000085 -.000137
$1G= 364475 53.654 6.1471 62325-01 -12.117 =Ll 7842 SIGPR= 5646356 37,048 _ . 2.5999. _ . _. _
EL= 224 NODES= 325 337 332 326 361 3467 368 362 ¥AT: 2 VOL®  .5000+07 I-p SOLID 45
T XL YC,ZCE . 125+404  500. 4.00 TEMF= 250 TAUPX= T2.8%0 SIGE= 224871
Ep= . 000035 .00003¢9 - 000031 000000 ~.000139 ~-,000061 EPPR= .000087 . 000035 -. 000080
$16=" " 11,338 12.412° 7777 T1.6016 +16589-02  =10.742 4 6880 SIGPR= 19,853 11.925 ~5.9266
" EL= 227 NODES= 3267 332" 333 327 342 368 349 34T MAT= 2 VOL= «5000+07 - 3-p SOLID 45
XC¥Cy2C= « 125404 +150+404 4.00 TEMP= 25.0 | TAUNMX= 12,443 SIGE= 224354
EpP= . 000035 M IER =, 00ua%2 ~.000000 OO0 T40 - 000081 EPPR= 00007 e L 000830 -. 000089
516= 74747 3.6891 -2.5936 ~.10548-02 10.813 ~4.7019 SIGPR= 134222 $.7128 -11.664
EL= 228 NODES= 227 333 334 328 363 369 370 364 MATS 2 VOL=  .5000+07 3= SOLID 45
TRELYC 2= T 4125404  W250404  4.00 TEAP=  25.0 TAUMXS  14.224 SIGE=  24.858 T T
EP= 000035 .000070 ~. 000021 000000 -, 000142 -.000050 EPPR= 000109 000039 -.000074
§i6= 16.51% 71876 6.3133 - 7550602  +~11.008 <L . 6744 SIGPR=  2B.020 17.112 -l 2723
EL= 229 NODES= 328 334 33577320 364 370 371 365 wAT= 2 yoL= T .5C00+07 o o 3=p SOLID 45 -
XC4y¥C,2C= «125+04 350404 4 .00 TEMP=  25.0 TAUME= 12.99% S1GE= 23.364
Ep= . 000035 -.500n32 ~, 000026 000000 008146 ~. 000060 EPPR= - 000063 .00001% -.000105

S$1G= 1.9665 ~8.3259 ~7,4896 394 88=-02 11.296 -4 6658 $IGPR= bo.2854 =a41742 ~19.697




TELUST2F0UNOBESE TR SIS U3 E 3307 365 37T 572 U366 MATET 2T vOL=T LSU00¥D7 $=6solap 45
XC,¥Ca2€C=  L125+04 450404 5,00 TEAP= 25.0 TAURX= 25,651 S1GEs 44,437 i .
Ep= 000035 006192 -.00009¢ .300001 -.00015% -.008060 EPPR= .000211 000040 -.000120
$16= 25.122 49,398 _ _ 409167 .520583-01  =11.850 —446659 _ SIGPR=_ 52,410 . _25.920 ___ .. 1,3073 e
EL= 231 NOCGES= 331 237 338 332 347 37?3 I74 368 MAT= 2 VOL= .5000+07 3-p SOLID 45
XCs¥Ce2C" L375+404  5900. L.00 TERP= 25.0 TAUMA=  12.B7h SIGE=  22.564
__EP= ___ Q00022 . .000632___ _-.000031 -.000000 -.000139 __ _ . .000060 EPPR= »000385% 000029 -,000181
$16= 7.9527 10.468 -, 40978 -.23035-N2  =10.742 4.6789 SIGPR= 17727 8,333% -8.0204
EL= 232 NODES= 332 338 339 3337 355 374 3?5 369 MAT= 2 VOL=  L50G00+07 " T 3-p S0LID A4S
XC,¥C,2C= o375+404 .150+04 4.00 TENP=_ 25.0 TAUMXE  12.302 S16E= _ 21.813
EP= .000023 .000011 -.000032 .000000 .000140 000060 EPPR= .000079 0000212 -.000D89
SIG= 345954 TeThbh___ _—449030 $26281-02 10.820 446519 sIGPR= _10.B84 3.2743 -13.721
EL= 233 NODES= 333 339 340 334 369 375 376 370 MAT= 2 VOL= +5000+07 e 3= SOLID 45 )
KCwCy2L0= L 375404 £250+404 L0007 TeEHMP=  25.0 T TAUMK= 14,227 S1GE= 24,699
EP= . 000022 .000070 ~.000031 -.000000 ~.0ub142 .000080 EPPR= .00010% 000027 -.0002375%
S1G= 12,629 19.927 4.2989 -.91283-02 -10.99D Geb27b STGPR= 254955 13,400 =2.4991
EL= 234 NODES= 334 340 341 335 370 376 377 371 MAT= 2 VOLE +5000+07 T e T T 3~b SO0LID 45
XCs¥C42C= 375404 350404 L.00 TEMP= 25.0 CTAUNX=S 12,731 $16E=  22.723 )
EP= .000023 -.000032 -.000027 .300000 000148 .000061 EPPR= 000052 .000012 ~-.000106
S1G=  ~1.8429 ~-104245 ~9.4625 .18121-02 11.3%2 L.7064 S16PR=  3.7192 ~3.52560 ~21.743
EL= 235 NOBES= 335 341 342 336 371 377 378 3172 MAT= 2 VOL=  45000+07 L o T=p SOLID 45
XC,¥C,2€="  .375+04 L450+404 T 4.80 T7 TEMP=  25.0 TUrAUMX="T 25.710 SIGE= 44,626 -
EP= .000023 L000191__  _~.0000%96 -.000001 __ -.0D0154, 000060 EPPR= _ .000211 . .bDDD28 -.000121
SIG= 21.3320 47,4060 2.9715 - 6178401 11,903 4e6579 S1GPR=  5D.494 22.193 ~a92522 :
EI= P s ROPESS 337 " F43 344 338 373 379 350 374 MAT= 2 VOL= - SUCG+07 3=b SOLID &5
XC.YC,Z(_I= «H25+04 500. __.IO:QD TEWP= 25-0 TAUME= 13.634 SIGE= 23.538_
EP= . 000050 000039 -,000032 .000000 ~-.000139 -.000D61 EPPR= 000089 000048 -.000080
$16G= 1542606 14,560 3.6746 W62681-D2 =10.743 _~4.7547 _ SIGPR=__ 22313 _15.942_ _ =3.7547 _ . . _.._
EL= 237 NODES= 338 344 345 339 374 30 3BT 375 MAT= 2 VOL= .5000407 3= SOLID 45
¥ES¥(,2C5  <625+0% LT50+04% .00 FEMFE 25,0 TAURKE  12.768 SIGE=  23:233
EP= . 000050 000011 -.000032 ~-.000000 009140 -.000061 EPPR= _  ,D20076 «000042 -.000088
$16= 11.901 S B3IBL T T=.82140 -.2B715-02 10.835 7 =4 .6%940 S1GPR= ~ 164033 10.387 -9.5024
EL= 238 NODES= 339 345 346 3407375 381 282 376 MAT= 2 VOL=  .5000t07 } N 3=p SOLID 45
RCy¥Cs2C= 625404 L 250404 4.00 TERP=  25.0 TAUMX= 144251 SIGES  25.2351
—EPE 00T SD ~O0CO 70 = 000031 < B0T000 LR A < 000067 EPPR= M HEEY . 000052 -.G00374%
sIG6= 20.955 24.028 8+3920 +16677-01 —10.997 ~4 7%26 SIGPR=  3}.268 214340 1.7667
EL= 239 NODES= 340 346 347 341 376 382 383 3IT7 MAT= 2 wOoL=  «50D0407 3-p SOLID 45
XC,¥C,2C=  «625404 " ~.350404° L.007 TTEMBE 25.0 CYAUNMXS  13.634 0 T SIGEs  24.553 ’ o -
EP= . 000049 -.000032 -.000027 ~.000000 000147 ~-.000081 EPPR= 000371 . 000025 -=,000195
516= 6.3618 ~b.2051 =S h6ek = 150:0+01 11347 Py ETY) SIGPR= 706156 2.7060 =17.652
EL= 2407 NODES= ~341 247 348 342 ~ 377 383 384 378 TMAT="2° yoLE TL5000+07” 7 T T T T " 3~5 SOLIDT 45 T
_XCa¥Cy2C= 625404 2450404 4000 TEMP= 25.0 TAUMX= 25,490 S1GE= 444514 .
EP= L00004%G 000192 ~,000096 .003001 -, 000153 -.000061 EPPR= .0080211 .000054 «,000120
§16G= 29.393 51.500 648903 oB2854=07  ~11.874 =4 .6591 SIGPR=  54.523 374115 3.1441




TELE TT241TRODESSET 543 TTXR9T 3507 344 T I70 TUNSSTUISETTISUT NATE 2 voLs L 5000F07 $=0 SO0CID &S
AL, ¥YC,ZC=  .875+04 500 4,00 TEMP=  25.0 TAUMx=  12.508 SIGE=  22.191 .
EP= 000002 .000039 -.000027 -.000000 -, 009139 .000062 EPPR= .020386 .000207 -.000279
S16= 2.2483 8.0019 ~2.1516 ~.16952~01 -10.743 L7761 SIGPR= 154338 _3.0364 -10.278 | -
EL= 242 NObBES= 344 350 351 345 380 I8  3F7 381 MAT= 2 yOL=  .5000+07 1-p sO0LID 45
THAT 4 ¥Ce2C= 87504 2150404 4.00 TEMP=  25.0 Taumx= " ~Te2.200 S1GeE=  21.215
EP= . 000002 .000011 -.000028 .C00004 060140 L000052 EPPR= 000069 _ -000303 -.000088
§16= =2,1103 -,70934 ~4.6400 L85478-02 10.622 448275 SIGPR=  B.4165 -1,8928 ~154983
EL= 243 NODES= 345 351 3527 346 381 3IH7 383 382 MAT= 2 vOL= 5000407 . o T o3-p SOLID 45
XCyYCs2C=  J875+04  ,250404 4,00 TEMP=  25.0 TAUMX= _ 14,220 _ _SIGE= _24.654
EP= . 000001 .000070 -.000027 -.000000 -, 000142 .000067 EPPR= .000109 .000009 -.000074
516= G 973 174455 2.5480 “.25442=01 =11.017 La7575 SIGPR= 23,418 B.103%1 -4,8216
EL= 244 NODES= 340 352 353 347 382 388 3£ 3B3 MAT= 2 voL=  .5000+07 . i 3-Dp SOLID_ 45
XC,YC,2C=  «B75+04  350+04 4,00 TEMP= 25.0 TAUMX= 12,463 SIGE=  21.307
Ep= . 060002 -, 000032 ~-.000022 .000001 000146 .000063 EPPR= L000057 -, 000004 -, 000104
SIG=  =7.3892 —124625 “11.152 L55052-01 11.291 4 6706 SIGPR= 140441 -B,3282 ~27,882
EL= 245 NODES= 347 353 7354 348 383 289 390 384 MAT= 2 YOL= +5000+07 . T 3-p SOLID 4S5
XKC,¥L,2C=  LB75404  .450+4D4  4.00 Tere= 25,0 +  TAUMX=  25.523 S1GE= 444577
EP= .000003 .000192 -,000091 -.060001 -.D00154 000061 EPPR= 000212 +000310 ~.000118
$16= 16,014 45.228 1.3785 -.10022 -11.914 L.6916 SIGPR=  &B8.305 17.057 -2.7414
EL= 2446 HNODES= 349 355 356 350 385 391 392 386 M4AT= 2 wOL=  .5000+07 ) ) I-p SCLID 45
XCyvC,2C= « 112405 500. 4 .00 TEMP= 25.0 TAUMXS 144680 SIGE= 27,572
Ep= . 000084 .000039 _ =+ 000051 .000001 -.00013% -, 060064 EPPR= .000099 000066 -.000093
516= 23.756 164746 2.8159 +39044-01  =10.737 ~4.9501 SIGPR=  26.055 2249269 -1.7059
L= LT RODESS 350 356 357 35T 386 3YZ 393 IE7T RATE £ U0L= 500007 T-0 S0LI0 45
XC,YC,2C5  .112405 L150+404 400 TEMP=  25.0 TAURX=  15.192 SIGES 27494 i
EP= . 000084 T .000011° T -.000052 -.600000 000140 -.000063 EPPR= . 000095 .000348 -.000101
516= 19.398 B.0624 =1.6677 ~.36536~01 10.825 ~4.3617 SIGPR=_ 214127 _____ 13903 L =9.2580 _____ _ .
EL= 248 WNODES= 351 357 358 352 387 393 394 358 MAT= 2z vOL=  L5000+07 3-p SOLID 45
TXC, Y0426 .112+05 L 250+04 k.00 TEMP=  25.0 TAUNR=  16.414 SIGE= 284792
EP= .000084 »000070 _ =-,000051 L000001 ~. 000142 -.000063 EPPR= 000110 | .000081 -.0B0D8Y9
$16= 28,427 26.199 7.5098 +53206-01 ~10.5%6 -4.8408 SIGPR=  32.532 27.859 1.7048
EL= 249 NOPES= 3252 3587 359 3253 38R 364 3%5  I8G  MATE 2 VOLS L 5000407 N 3-p SOLID 45
¢ KC,YC,2C=  «112405 .350404 4,00 TeMP= 25,0 . TAUMXE  16.048 $1GE=  28.411
EF= L 0U008e TS —. 000045 - 000032 L0o0146 <.000062 EPPR= .000093 .000027 -. 000114
$16= 13.548 -4 ,0604 -6.2252 -.11974 | 11.322 4 5269 $§16PR=  15.176 __5.0069 -16.920
EL= 250 HNOBES= 353 359 360 354 389 395 394 390 MAT= 2 VyYOL= 5000407 3-D S0LID 45
KC4¥YC42C=  «112405  +450+04 7 74.00 TEMP=  25.0 TAUMX=  26.513 S1GE= 46,532 -
ERp= . 000081 .000D188 -.000113 .000001 -.030153 -.G00062 ([PPR= 000207 . 000084 -.000135
TYGE 355505 LY IE Y L L JEFEDI=0T  =11.864 =L.79%8 STEPR=  55s.482 36,483 24557
EL= 251 NODES= 361 3877 3687736277397 403 404 3987 «aT= 27 voiL=" L 50D0+07 Tt T T T TN T T T zapTsoLin T 45 T
XC,¥C,2C= 125404 500, 6,00 TEMp=  25.0 TAUPX= 12,293 SIGE=  21.845
Ep= .000035 .000038 -, 000031 .000000 -.000130 -.000059 EPPR= .000083 .000035 -.000076
__816=__ 11.711 12,213 1.5040 «16656-02  =10.103 -4.5632 SIGPR=  19.110 114792 -5, 4748




CELE T RSy T ROGES =T 36 3B 38V 383 398 TR OA TR OS TEYY HATE T Y OLE IS D OO YD T=pTS0LTD 45

XC,¥YC,ZC= 125404 150+04  6.00 TeWp= 25,0 TAUNX=  11.507 SIGE= 214427

EP= .0u0D35 Lonon1z2 ~.000032 -.000000 000132 -.000059 EPPR= 000063 .030330 -. 000984

S16= 7.6839 4,1809 -2.4642 -, 10563-02 10.224 -4.5632 SIGPR= 13,035 _  6.9446 __ =10.779 o
EL= 253 NODES= 363 369 370 364 3I99 405 406 400 MAT= 2 VOL= .5000+07 3-0 SOLID 45
XCyYCp2L=  J175+04 V2504047 76.00 TERPS  25.0 TAUFX=  13.6289 SIGES  23.860

EP= _ .000D35 L000067 _ _-.000031 .003000 ~. 009135 _ -.000059 EPPR= 000104 L00003% -.000272

S16= 16.064 20.991 5.9175 £ 75506-02  ~10.486 “i V5542 SIGPR= 264798 16,636 - 46121

EL= 254 NODES= 3I&4 3707 371 3165 400 406 407 401 #MAT= 2 voL= 25000407 T .0 3-p SOLID &5
XCy¥CqaZC= 125404 350+04 6.00 TEWP=  25.0 TAUMX=  12.506 SIGE®  ?22.529

T EP= < CON035 -.000027 ~. 000027 .L00000 L 000140 -.000059 EpPR= .000061 .000323 -.000109

$16= 2.4785 -7.1707 __ __ ~7,0669 «39669-02 10.831 ~4e5549 SIGPR= 645572 13842 18,455

EL= 255 NODES= 365 371 372 366 401 407 408 402 MAT= 2 VOL= 5000407 i . i 5=D SOLID 45 )
XC,¥1C,2C= L125404 + 450404 &.00 TEMP=  25.0 TAUNKX=  25.001 S1GE= 43,317

EP= L 000035 .000186 ~.000093 .000001 -.000150 -.00005% EPPR= «DD0ZD5 090243 ~.000118

S1G= 24.5%8 L7947 4.6853 .52047=01 ~11.645 “4u5411 SIGPR=  50.934 25,304 .93225

EL= 254 NODES= 387 3737 374 368 403 409 410 404 mAT= 2 VOL= 5000407 ) “"‘ -7 3-D SOLID 45
XCy¥YL,2Cs L375404 500, 6400 Teup=  25.0 . TAUMX=  12.267 SYGE= 274539 o

Ep= 000023 .000038 -.008031 -.002000 -,000130 000059 EPPR= 000051 000025 -,000277

$16= 7.9474 10.327 - 45039 -.22877-02 -10.098 4.5412 SIGPR=  17.031 B.2958 -7.5027%
EL= 257 NODES= 368 374 375 369 404 410 411 405 HAT= 2 VOL=  L5000+07 i 3-0 SOLID &5
XC,¥C,2C= 375404 +150+04 ~ 4.00 TEMP=  25.0 TOYAUMX=  11.753 SI1GE=  20.833

EP= .000023 .000012 -.000032 000008 _ .000132 000058 EPPR=_ 2000267 -0J0021 ~,000385

$16= 3.9266 2.2973 “4e6163 «26100-02 10.212 445239 S$1GPR= 0.742 1.6313 “12.765
ElL= 258 NODES= X669 I 376 370 L1035 4171 [ 4 506 MAT= ¢ VoL= o Q00+ 07 3=p SOLID 45
XCa¥C42C= 375404 2250+04 &.00 TEMP= 25,0 TAUMK=  13.643 SIGE= 23,705

Ep= 000023 000067 T TT-.000031 -.008000 ° -.000135 000058 EPPR= 000104 000028 -.000073

516= _ 12.299 19.10% __ _ 3.9603 ~e90742-02  -10.475 444807  SIGPR= 244807 13.033 _ -2.479% .
EL= 259 HNODES= 370 3746 377 371 4086 412 413 407 MAT= 2 vOL=  .5000+07 3-p SOLID 45
XCa¥Cr2C= 3754004 < 350F04 §.00 TENF=  25.0 TAUMKE 12258 SIGE=  Z21.B98

EP= .000023 -.000027 ~«000027 .000000 030141 .000059 EPPR= _ ,000057 _  .000012 ~.000101

TTs163T T=1.2294 T=9.03067 7 -8.9829 +17941-02 10,896 T 4.5783 SIGFR= 440584 ~2.839% -20.459

EL= 24D NODES= 371 377 378 T3I?2T 407 413 414 408 CMAT= E  VOLE  .5000+07° . Tt T 3-D SGLID 45
RCy¥Ce2C= 375404 450+04 6.00 TEMP= 25.0 TAUMX= 25,053 SIGES 43,455

EFS L 000023 L000188 —.00009% =L 660001 = 005751 000059  EPPR= 2000205 .030028 -. 000118
_§16= 20.868 44,068 2.7974 ~o61712~01 “11.670 445730 SIGPR= 454065 _ 21.710 -1,0418
EL= 261 NODES= 373 379 380 374 409 415 416 410 MAT= 2 wOL=  L,5000+07 o 3-b SOLID 435
XC4¥Co2C= ~ L825404 ~500. 77 .00 TEMP= 25.0 TAUMX= 124429 SIGE= 22.513 -

Ep= 000049 000038 ~. 000021 .000000 -.000130 ~, 000059 EPPR= 000085 . 000047 -.0002374

51G= 16.016 14304 3.5261 W62816-02  -10.097 —L. 5547 SIGPR= 21517 15.573 -31,3415
EL= 262 NODES= 374 3EQ 381 "375 "410 416 417 4117 MAT=" 2 “voL=""""v5000+07 " ~ - - T T 3-p SOLID 4SS )
XCpYCeZC= 625404 +150+04 6.00 TEMP=  25.0 TAUMXS  12.214 S1GE=  22.253 N

EP= 000049 .000012 -,000032 -.000000 000172 ~.000059 EPPR= 000374 .000539 -.000384

S816= 11.990 £e2734 ~eb4356 ~.2L715-02 1M.213 ~4e5541 SIGPR= 15.787 1J.4673 -8.6410




TEL= T 283 NODESTE TITS 3BT SEZ IVE T CLINTANYTTUAE TRV WATET 2 VOLE LSU00R LY T-D SOLID &5
L XC,¥Ca28= 625404 «250404 6400 TEMP=  25.0 TAUMAS 12,645 51GE= 244240 _
EP= 000049 000067 ~.000021 .000000 -.00C135 -.030059 EPPR= .000195 000251 -.000071
S16= 20.382 23.08¢ P 9435 L e16647-01 =10.464 =4.5677 SIGPR=  2B.987 __ 20.728 1.6968 . ____
EL= 264 NODES= 376 382 383 377 412 418 419 413 9NAT= 2 VOL=  .5000+07 1-p SOLID 45
XCaYC,y2C= L 625404 L350+04  6.00 TEMP=  25.0 TAUMYK= 13,118 S1GE=  23.61%
. EP= 000049 -.500027_ _~.000027 ~-,000000 000140 ~-,.000060 EPPR= 0000689 000026 -. 000100
51G= 6.7136 -5.1103 5.0908 - 14885=01 10.654 YTy SIGPR=  §.80864 3.1314 “156.428
Eb= 265 NODES= 377 3BI 384 378 413 419 420 414 MAT= 2 yOL= «5000+07 B T ) 3D SOLID 45
XCyYCo2C= 4625404 450404 6400 YEMP=  25.0 _ TAUMA= 25,056 SIGE= 43,426
Ep= . 000047 .000186 -, 000094 .c0G001 - 000151 -.000060 EPPR= .000206 .000053 -, 000118
sigs 28.689 49,692 646088 #B2745-01 =11.679 ~6.6491 SIGPR=  52.998 29.409 2.8833
EL= 266 NODES= 379 385 386 350 415 421 422 416 MAT= 2 vOL=  .5000407 o ) 3= SOLID 45
XCs¥C42C€= 875404 500. 6.00 TEMPs  25.0 TAUMXKE  12.203 SIGE=  271.147
__EP= . 000002 000038 -. 500027 -, 000000 -, 000130 000060 EPPR= .000082 . 000007 ~.000074
$16= 2.3554 7.9058 ~2e1595 . 14936-01 ~1G6.101 L.6478 SIGPR= 144681 3.1505 ~9.7255
EL= 267 NODES= 380 3846 387 381 416 422 423 417 HAT= 2 VOL= +5000+07 ) 3-b SOLID 45
XC,YCyZC=  JB75+04 150404 6400 TEMPs 25,0 TAUKKE  11.494 SIGE= 204347
Ep= . 000002 .00C012 -, 000028 .000000 Lou0132 .0000&2 EPPR= . 000067 . 000004 -, 0000846
SI65 =1.8647 -.10971 -6.3200 «55739-02 10.219 4,E103 SIGPR=_  Ba3477 16023 ~15,040
EL= 268 NODES= 381 387 388 382 417 423 424 418 KWAT= 2 vOL=  .5000+07 » ~ 3-p S0LID 45
XC,¥C o 28=  LB75+04 250404 6.00 TEMP=  25.0 TAUML= 13,437 SIGES  23.643
EP= . 000002 .000067 _ _ =~.000027 -.000000 - 006135 .000061 EPPR= 000704 . 000010 -.000072
516= 6.6816 164677 242421 -.25523-01 104465 L.7029 $1GPR= 22,494 7.8874 -44.7809
TEEE T TROBISE 3I8S IBE  3BY 83 418 42% 4% RT% mAT=E & VOL= . 5a00+07 I-b SOLID 45
XCy¥Cy2C= 875404 «350+04 6.00 TLMP= 25.0 TAUPYS 12.036 SIGE= 21.074 .
Ep= . 000003 -, 000027 -. 000023 L060001 2506141 000060 EPPR= 000055 ~.000002 -. 000100
SIG= -6.6418 ~11.362 =10.640 «57952~01 1G+947 4.6686 SIGPR=  1.4537. ___ =7.4988 -22.419
EL= 270 NODES= 383 389 390 384 419 425 424 420 MAY= 2 WOL= L.5000+07 3-f SOLID 45
XUV ICE — L8759 LLS0104 LY TEME= 2540 TAUFK=  24.858 SIGE=  43.581
Ep= . 000004 . 000186 -.000069 -.000001 -.000150 . 000061 EPPR= .000205_ . .000011 . =.000116
$16= 15,666 43.885 7 142389 -.10024 -11.667 Lab945 SIGPR=  46.891 16724 -2.8243%
EL= 271 NODES= 385 391 3I92 3I86 421 42T 428 422 MAT= 2 VOL=  .5D00+07 - 3-0 SO0LID 45
XC,'I'C.ZC= ‘112"’05 5{]0- 6.00 TEMP= 25.0 TAUMNK= 14.‘18 SIGE= 26.65?
EPE N DSEES MLD[IES: N NS | LoaounT < 000730 = 000663 EBPR= . 000076 . 00006% -.000090
$I6= 234419 16.469 o644 $29024~01 =-10.100 ~4.8568 SIGPR=  25.504 20411 ™.3320
EL= 272 NODES= 386 392 393 387 422 428 429 423 MAT= 2 VOL=  L.5000+07 3= SOLID &5
RCs¥C2C=  o112+05 « 150404 64060 TEMP= 25.0 TAUNAS  Th.756 SIGE=  24.644 )
Ep= « 000083 .0ocn12 =-. 000052 -, 000000 000132 -.000062 EPPR= 000094 .000042 -.000097
Sias 19,397 Bebub? ~1.4628 =236455-01 Thec3d -4 .8050 SIGPR=  21a4044 13.8%5 ~B.4681
EL= 273 NODES= 387 793 304 3I88 423 429 430 424 MAT= 2 voLs L5000+ ° T T — 7 T T 7 3= SOLID 45
XCyYCy2C= 112405 .250404 6.00 TeMp=  25.0 TAUMX=E 14,932 5IGE=  27.942
EpP= 000083 .000067 -.000650 009001 -.030135 -.000063 EPPR= 000107 000072 -.000086
$16= 27.766 25.256 7.0906 «52917-01 ~10.454 ~4 8769 SIGPR= 31,434 27.084 1.5730




—EL= 274 TRODESE T ITEETTIGETRYS T TEYTTAZA TTRIUTTAIT TTAXT T OMATE T T TVOIET L5000+ 07 ISpsoeLrIs As

AC,¥C,2C= 112405 .350+04  6.00 TEaP=  25.0 TAB¥X= 15,855 SIGE=  27.6%9 .
EP= . 000081 -.0no62? -.0080046 -.505002 £000141 -.000063 EPPR= «000392 000227 -.000110
$16= 13.832 -2.9807 . =5,8236 -.11972 10.%20 =heB4LZ SIGPR= 1544863 5.4130 -15.848 o

EL= 275 WNODES= 389 395 3946 350 425 431 432 426 MAT= 2 wOL= __ 5000407 3-p SOLID 45

TRCIYE,ICE W 112+05 450404  &.00 TEMP=  25.0 TIONK=  25.825 SIGE=  45.376
EP= .000080 .000182 . ~.000110 000001 -.00015%0 __ -.000062 EPPR= .000201_ .000283 ~-.0001133
516= 35.115 51.029 5.7084 «63299=-01 ~11.59% ~4e8152 SIGPR= 53,901 315,701 2.2507
EL= 276 NODES= 397 403 74047 "398 433 4397 440 434 MAT= 2 VOL= LSC00+407 Ttk s T T I~p SOLID 45
XC,¥Cy2C=  ,125+04  500. 8.00 _TEMP= 25,0 TAUMX= _ 11.736 SIGE= 20,930
T EP= . 000035 .000038 ~.C00031 .380000 -.0b0o123 -.000057 EPPR= L.000379 000335 -.000273
§$16= 11.589 12,023 __ ____1.4110 W1ESEG=02  ~F.4959 -4, hh76 S1G6PR= 184416 11a604 «5,0566

EL= 277 NODES= 398 4D4 405 399 434 440 441 435 MAT= 2 VOL=  L5000+07 o 3=p SO0L1D 45

XC,¥C,2C="  .125+04 +150404 7 B.00 77 TLMP=  25.0 T TAUMXE 11224 SIGES 20.524
Ep= « 300035 LJ00014 -.000032 -.300000 000124 ~-,000057 EPPR= 000067 030033 -.000289

TTEI6=  7.8808 46453 —2abhbi - 1955%<02 §.6337 ~h. 4384 SIGPR= 12844 7.1585 ~9.9233

EL= 278 NODES= 399 405 406 400 435 441 442 436 mAT= 2 VOL= ~ L5000+07 0T - T T T 3-p S0LID 45

XCyYC,2C= « 125404 +250+04 8.00 TEMP=  25.0 . TAUlMx= 13.054 $1GE= 22,899 .. .

Ep= (00035 000064 ~.0080030 LO00000 -.030128 ~.000058 EPPR= 000399 000238 -.000269
S1G= 15.633 20.150 5.539% L75821-02  ~9.9439 ~Gebhbb4 SIGPR®  25.621 16,169 - 48705

EL=s 279 NODES= 400 406 407 401 436 442 443 437 #AT= 2 vOL=  J5000+07 o i 1D SOLID 45

XCs¥Es2C= 125+04 350404 B.00 TEME= 25.0 TAUMX=  12.029 SIGE= 21,653
EP= .000035 -.000024__  ~.000027 .000000 .000134 -.000057 EPPR= _ L000060 .030027 -.000396
$16= 2.9465 ~4.0707 -6.6631 «39759-02 10.36% 444455 SIGPR= 548044 66133 -17.253

SR T SEUTNGDESS 40T L07 A0S 407 437 443 444 438 MRi= 2 VOL=  .s000+07 Ted SOLID 45
AC,¥C,2C% 125404 . 450+04 __8.00 TEMP= 25.0 TAUPX=  24.408 SIGES  42.277 -
EP= 000035 .000180 -.000691 0000014 -.030140 -,000057 EPPR= .003203 030039 -.000115
S1G= 23.577 46,554  hJhb4A3 +52038-01  =11.505 _ | =4.4440 | _SIGPR=__ 4%e546 . 24.718 | _ W7311% . .. . o .
EL= 281 NODES= 403 409 410 404 439 445 446 440 MAT= 2 VOL=  .5000+07 3-D SOLID 45
XCs¥C,2C=  =375+04 500+ B.00 TEMP= 2540 TAUNK=  11.681 SIGe=  20.550
_ Ep= . 000023 .000038 -.00003) ~.,000000 -.000123 .000056 EPPR= 003377 000025 ~.000373
$1G= 7.9453 10,165 ~a4B8715 -.22967-02  ~9.4905 4.3575 SIGPR= 1643066 8,2833 “6.9963

EL= 282 NODES= 404 410 411 405 440 446 447 441 mATS 2 wOL= «5000+07 ) - 3=b SOLID 45

XC,YC'ZC= 375404 «150+04 B8.00 TEMP= 25.0 TAUMX= 11.272 SIGE= 20,057
] . CUT0Z3 LO00014 =2 000032 L000000 B LEFE 000057 EPPR= 2000364 .000021 ~.008181
51G= 4L.2424 245194 ~4.3428 +.26641-02 9.6600 _ bah282 SIGPR= 13,6456 3.9702 11,807

EL= 283 NODES= 405 411 412 406 441 447 448 442 MAT= 2 VOL=  .5000+07 3=D SOLID &5

THRC,YC,2Cs T J375+404 250404 ~ B8.00 TEMP=  25.0 TAUMX= 13.088 $16E= 22.765

EP= . 000023 000064 ~. 000031 -.000000 -~ 000129 .000057 EPPR= .00009% .000028 -,000370
516= 11.988 18.318 3.6387 ~.90517-02 -9.4598 4.3984 SIGPR= 234707 12.704 2 4691

EL= 284 " NODES= 406 412 413 4077 442 448 449 443 T TmaT= 27 voL= TT,5000+07 T/ rEmTT 3=D S0LID 45

XC,¥C,2C5  .375+404  .350+04  8.00 TEMP= 25,0 TAUMX=  11.753 516£= 21.Dp29 3
EP= .000023 -.000624 ~,000020 .003000 2030135 +O0G057 EPPR= . 000255 030513 -. 000097

$16G= ~a64233 -7.86727 ~8.5231 «17530~02 10.440 4.3902 S1GPR= 443135 =2.1601 -19.192




TELETTZA5 TTRNOUESE T AU T AT WA 408 443 AAYTTRTUT LG MKTE ¢ viL= L So00¥TY N 3-p SOLID 45

ACYCZC= 375404 450404 £.00 Tenp=  26.0 TAUMX= 2heh3B S1GE=  42.375 -
EP= 000023 006180 -L.000092 -, 005001 -.0001438 .000058 EPPR= 000199 000023 -,00031%
$16= 20.426 44,733 . 246319 = 61595-01 | ~11.474 L.4974 _ _ SIGPR=  47.70% _21.250 . ~1.1668 o
EL=_ 286 NODES= 409 415 416 410 445 451 452 446 MAY= 2 VOL=  .5000+07 I~p SOLID 45
TXC,YC,ic= LGe5+04 500 8.00 TEMF= 2540 TARPX= T1.012 S16E= 21.5238
_EP= __ 000049 L000038  _ _ =.0000%1 .000000 -.000123 _  -,00005% EPPR= _  LO0000B1__ _ «DDOD4Y ~.000073 _
$I16= 15.779 14.058 3.3816 $62005=02  ~9.4926 445465 SIGPR=  20.822 15,397 ~3,0014
EL= 287 KODES= 410 " 416 A177 A11 446 4527 453 447 MAT= 2 VOL®  TL.5500+07 TR T T 3-p SOLID 45
XC,YC.ZC= -625*011 0150"’04 £.00 TLWP= 25‘0__ TAUME= 11.755 SIGE= 21e421
EP= . 000046 .000D14 -,000032 -, 0000090 000125 -~ 003058 EPPR= .0p0072 .000039% ~-. 000080
SI6G= 12.069 b.46823 =.47632 ~.25534=02 .  9.6459 -4 5065 SIGPR=_ _15.631 _ 10.526 . ~7,8819
EL= 288 NODES= 411 417 418 412 _ 447 453 454 448 NMAT= 2 VOL= 5000407 ) e 3-p SOLID 4§
XCy¥C,2C= W 525404 +250+04 B.00 TEMP=  25.0 TAUNX= 13.123 SIGE=  23.378
£p= .00004% 000064 -.000031 0000600 -.0058129 ~.000059% _EPPR= 000100 .000051 ~.00006%
$i6= 19.834 22,185 75159 «16819-01 ~9,96¢2 -4 <5505 $1GPR= 27.813 20,159 1.5678
EL= 289 NODES= 412 418 “4197 413 448 454 455 449 MAT= 2 voL= «5000407 Tt TTTT T T T 7T 3-p SOLIDT 45T T T
ACy¥C,2C= 625+04 2350404 _ 8.00 TLNP=  25.0 CTAUMKS 12.692 SIGE=  22.874 o
£p= 000048 -. 000023 -.000028 - .000000 000136 -.000G58 EPPR= 000067 . 0000246 -. 000097
§16= 7.0636 ~4.0663 -4.7388 - 14975-01 10.500 ~h e 4955 SIGPR=  10.004 3.6338 -15,379
EL= 290 NODES= 413 419 420 4714 449 455 456 450 MAT= 2 voL= .5000+07 o ) 3-b SOLID 45
XCa¥C20="  L625+D4 24504047 TB.L0 T T TEMP= S0 TAUMX= 2ha428 SI1GE= h2.327
EP=  .00D048 «000181 ~.000092 000001 _ -.00014¢ -.000056 £PPR= _ ,000200 .000052 -.000115
516G= 28.010 4BoS43TTTTT 643346 «82799-D1 -11.465 -4 44984 SIGPR=" 51,517 26653 2.6773
LTS 29T RODESS 415 42T 48y 4716 45T 457 458 452 HATE 2 Wil=  .s5000+07 Y= SOLLID 45
XC,¥C,2C= B75+04 500 _ 8.00 TEMP= 25,0 TAUKXE 11,684 SIGE= 204257
EP= .000003 .000038 -.0g0027 - ,000060 -.8300123 000360 EPPR= 000078 000008 -.000D73
§16%  2.4652 7.8255 ~2.1639 -,146911-01 -9.4940 LobhBO SIGPR=__ 14.096 . 3,3028  _ -9.2718 )
EL= 292 NODESZ 416 422 423 417 452 4SE 459 453 mMaT= 2 voLs .5000+07 3-p SOLID 45
XCsYCs2L= 875404 150404 8,00 TEMNP= 2540 TAUMK= Tiel4h SIGE=  19.404
EP= 000003 000014 -~.D0DD2B .000000  .0DD125 .000060 EFPR= _ 000064 _ .00000S ~.000080
T Ts1g= T S1.2371 45073 -b.0145 LB5784~02 9.6432 L6084 SIGPR= 8.2216 - 94643 -14.067
EL= 293 HNOBES= 417 423 42477418 453 439 460 454 MAT= 2 voL= «5000+07 T - 3-p S50L1ID 4§
XL, ¥C,ZC= «875404 «250+404 8.00 TEMp= 25.0 [TAUMX= 13.120 S1GE= 22.733
EP= LU00003 000064 =, 000076 = 00000 J = G007 000661 EPPR= -000099% «000011 ~.000070
$16= 6.4816 15.940 1.9512 ~-.25555-01' ~=9.9592 4.7038 SIGPR=  21.452 77078 k7872
EL= 294 NODES= 418 424 425 A19‘_45a LAl 4461 455 HMAT= 2  vols= .5000+07 3«p SOLLID 45
“XCyYC 4 2C= <B75+D4 W350404 77 8.00° 77 TEMP=  25.D TAUMX= 114552 SI1GE= 20.231% ) )
EP= 000004 -.000023 ~-.000023 .000001% L000135 LCO00060 LFPPR= .000054 -, 000002 -.000395
§T6=  =5.041% ~T0.158 =30.75% LY ENEET] 0545 L.6378 S1GPR=  1.8006 ~6,.7664 ~21.304
ElL= 295 NOOES= ™ 419 425 4286 “420 455 461 4462 456 THATE 2 woLU=  TL5000+07 7 T T . -1 N 1 L T
XCy¥C,2C7  LB25404 450404  8.00 TLMPS 25,0 TAUNX= 24,270 SIGE= 42,331 }
Ep= 000004 0001580 -.000087 -.0000D1 -.000148 000059 ERPR= .000200 000011 -.000113
§1G= 15.33% 42,597 1.1034 ~-.160138 ~11.476 4 5845 SIGPRE  45.611 146,353 ~2.9284
3
a3 1"_)‘&{



SUEL= TTRO9ETTNOVESE LT LTV 428 AT 457461

.39051-01

25.872
£PPR=
SIGPR= __

~+346351-01

254913

| -.000063 __EPPR=

SIGPR=

27,129

EPPR=
S1GPR=

26.850

EPPR=

SIGPR=

444334
EPPR=
S1GPR=

20,056
EPPR=
$1GPR=

~«10413-02

19.734
EPPR=

SIGERZ

1,993
EPPR=
SIGPR=

21.132

EPPR=
S1GPR=

41,275
EPPR=

XC,YC4ZC= 112405 500, _8.00 TERP=
EP= .000082 000038 -~ 000050
s$16= 23.092 16,204 245791

EL= 297 NODES= 422 428 429 423 456 464

XC,¥C,2C= 172405 2 150+04 §.00 TEMP=

_EP= . 000082 .D00014 __ _ -.00D051
§16= 19.489 8.8467 -1.2465

EL= 298 NOBES= 423 429 74307 424 TA4S59 465

_KE,Y¥Ca2L= . 112405 2250404  B8.00 TEMP=
£p= .000082 L000064% <. 000050
$16= 274130 24,319 __ 6.6906

_EL® 299 NODES= 424 430 431 425 460 466

AC,¥C,2C= ~ J112+05 7 ~ 0350404~ 8.00 TENP=
Ep= . 000080 -.000022 -, (000046
S§1G= 14.093 «1.9057¢ ~S.hbhb

EL= 300 NODES= 425 431 432 “426 4461 467

XC,¥C,y2C= + 112405 JL50404  B.00 TEMP=
EP= 7 .000079 T.000177 7 -~.000108
SIG= 344350 49.564 5.4629

EL= 30T NODES= 433 439 440 434 469 475

XCy¥L,2C= 1254047 500.7  T10.0 TEMP=
EP= . 000035 .000037  =-.000031

T 516+ 11.473 11.8427° 7 T 11,3222

EL= 20c NODES= 434 440 [T %} [E¥) K0 &76

XC,¥Cy2C= 2125+04 150404  10.0 TLMP=

T Ep= .000035 000015 T -.000032
51G6= 8.0657 540836 =2.2403

EL= 303 NOBFS= 435 441 442 438 471 477

TRV 2CE STESFUL T L 250%04 10.0 TENPE
EP= . 000035 000061 -.000030

EL= 304 NODES= &36 442 443 437 472 478

XC,¥YC,2C= 125404 .350+404 10.0 TEMP=
EPS IGEE = 006020 = 000078
51G= 3.3915 -5.0235  -6.2779

EL= 305 NODES= 437 443 444 438 473 470

XC,YC|2c= « 125404 «AH50+04 10.0 TekMp=
Ep= . 000035 000175 -. 0060089
51G= 23436 35,217 4.2518

L= 306 NODES= 420 4457 44467 440 475 484

XC,¥Cy2C=  375+04 500. 10.0 TEMP=
Ep= .000023 000037 -.000031

$1G= 749452 10.071 ~.52095

=.22922~02

SIGPR=

19.682
EPPR=
S1GPR=

.003395 ~ ~ .000061
25.077  __. . 19.817
L0079393__ L03DO4S.
21.051 13.668
L000103 .000a77
304399 25.291
.000350 +000027
154645 5.7871
“.000195 T .0D0J8R
52 khh 14.909
.000075 _ .030035
17.763 11.540
.003065 000033 7
124703 .. 73592
.0023095 .000038
244513 15.751
L000559 L000021
741512 _te2447
.000194 .000037
48.207 2h4152
.003974 .D20025
15.747 8.2862

I-p SOLID 45

3-p SOLID

3~0 SOLID

3=p SQOLID

3-0 SOLID _

3=p "SOLID ™ 45


http:XC.YC.ZC

“EL= TI07 T NODESETTLLYT 446 Qa7

XC ¥ IC+= «375+04 S150+04
EP= « (00623 000015
§$1G= 4.5439 3.3142

CEL= 308 NQDES= 441 447 448

LET T TATETTRRRT L8 ATT O WATE

25.6
000000
026821-02

GEL 478

=0 SOLIO

-.000077
=11.040

3=0 sOL1D

25.0

-.000000
-.90787-02

L85 479
25.0

19.219
EPPR= ~000062
516PR=  _10.320,
21.849
EPPR= «000D%4

SIGPR= 22.654

-.000068
~2.4380

3“0 S0L1p

.000000
« 1794102

486 480
25.0
-.000001

20,443 .
EPPR= +000054
SIGPR= 47279

41.418
EPPR= 2000134

-, 000993
-18.116

3-p sOLID

-.000114

RC o ¥C22C5 o 375404 L 250+04
EPz .000023 000061
51G= 11.694 17.575

EL= 309 NODES= 442 448 ~449

XL ¥Cy2C= 325404 350404

TTERET T L000D23 =, 0000720
SIG=  =.51156~01 ~6.7692 _

EL= 310 NODES= 443 449 45D

XC,¥C,2C= 375404 LAS0+047
Ep= . 000024 .Q00175
§16= 20.004 L3.453

EL= 311 NODES= 445 451 7452 ~ 446

UC3 YL I0= LE25404 500
EP= 000048 000037
S$1G= 15.547 13.823

=~ 6150501

488 482
25.0 N

0060000
+ 6232002

SIGPR= L6470

=1.3100

3~p SOLID

-.00006%
‘2.6?05

EL= 312 NODES= 446 452 453

XCy¥Co2C=  w625+404 2150404
Ep= .000048 000015
$16= 12.138 7.0658

489 483
25.0
=-.000000
~228354-02

20.772 _
EPPR= L000378
SIGPRAH 20,150
20.627
EPPR= _ .000070

SIGPR= 15.457

3-p SOLID

'.0000??
-7.1671

TELET 3TITONOOES="&47 453 404

XC,¥Ca2C=  .625+04  .250+04
Ep= .000048 .000061
SIG=  19.308 _ 214335 _

EL= 314 NODES= 448 434 455

4O 484
25.0

.000000
+ 1689501

L97 485

3~Dp S0LID

-«000067
5157

3-0 sSQLID

XU ¥Ca20=  o825+04 350404
Ep= +000048 -.000020
TTTs1e= T 7.3931 TT=3.0738

EL= 3715 NODES= 449 455 T454
XL y¥Cy2C= 625+04 +450+04

25.0
”-GODOOD
s 1497501

492 486
25.0

220445 _
EPPR= 000095
_SIGPR= 20,636  __
22.102
EPPR= .000065 _

SIGPR=  1D.205 ~

&

_ =-000092

~1he325

I=p SOLID

EFS RINLIEY: L 00077S
S16=  27.356 474152

EL= 316 NODES= 451 457 458

.000001
«82673-01

494 488
25.0°
~.000000

41.3561
EPPR= +000795
51G6PR= 3504143
19.334
EPPR= 000074

=-.000113
2.4252

_ 3-0 SOLID

~.000070

TXC,YCy2C= «875404 500
Ep= 000004 L,000037
s$1G= Y EY] 7.748{()

EL= 317 NODES= 452 458 4597 453

L XCs¥C,2C= «875+04 150404
EP= 000004 000015
SIg= -+82521% 1.0016

=+ 16825-01

4957 489"
25.0

H00000
o 6524302

SIGPR= 13.533

184592 _
EPPR= 000061
SiGPR= B.a14B7

’858152
I-p SOLID

~. 000076
=13.193




“ELUSTT318 TRODES=S
XCy¥C,y2(=

S Y TTTARE TTARETT APOTTMATE

5‘0
-.000000
- 25438-01

497 491

¥=p SCGLID 45

-.000967
~la 6342

3-D SOLID 45

XC,¥(l,2C=
‘-0000029______

462 74567 491
XC ¥C 2C=

25.0

L000001 _

5757401

T 498
25.0

492 7

214630
EPPR= .000094
_ SIGPR=  23.395.
10.627
EPPR= _ +0023353%

S1GPR= 2.2313

47,350

=-» 000001 _.

=4000392 _ -
=22.176

"3I-p SOLID 45

. XC,YC,2C5

~.00J001

_~10020

500 494

25.0
«008001

EPPR= «000195
SIGPR= 444386 __ .

24,999

EPPR= .000092

-.000112
'3-061?

3=-D sSOLID 43

-.000383

XCy¥YC,2C=

«38957~01

501 495
25.0 .
-.303000
-.26328-01

SIGPA= 2he534

25.020

EPPR= «000092
S1GPR= 2J.841

~2.6604
3=D SOLID 45

-.000389
~0. 38647

XCy¥Cy2C=" «250+04° 7 1D.O

502 494

25.0
+000001

«52953-01

26,314

EPPR= .00010p
SIGPR= 274421

3«p sS0LLIB 45

.~00038%
1.3625

_ XCa¥Cy2C=

503 497
25.0
=-.000002
~.11956

5C4 498

264,209

EPPR= «04008¢%
SIGPR=_ 15.9171.. ..

3~ SOLID 45

-.00010%2

LLm13aT780 L

3=D SOLID AS

XC,¥C,ZC=

XC.VC,2C=

25.0
000001
6454301

512 506
25.0

43,357

EPPR= 009190
$166R=  57.028

17.779

-.000128
17786

3-D SOLID 45

T OXCYC,ZC=TTT L1254047 T L150404 7T 160 T

000000

513 507
25.0
~.000000

EPPRE 0033656
SIGPR= 15,061

_3-b sOL1n 43

~«000361
"3.6406

-.000067

T287TRODES= " 471 47T 47847277507

ECgYC|Zfz_

=« 1041502

T 5147 5087

25.0
300000
+ 76317-02

2T voLET T L,2500+408°

17.604 -
EPPR= 0000358
SIGPR= 1242857

12.668
EPPR= .000383

S1GPR= 2T1.646

=7.1250

T 3<p SOLID 45

--000061
-.57194




CELET IR T TROBESS TR T L VE T AT TR YT T BGETT S4TSR 1S T 50§ WATE T 2 WOLS +2500%08 iIp S0L10 45
XC,¥C,2C= o 125+04 «350404 16.0 TEMP= 25,0 TAuM®=  10.628 SIGE= 19.213 ) . .
£p= L0004 ~.000010 -.000029 000000 Lon117’ -.000052 EPPR= 2003855 D00n22 -, 000082
$16= 4.5423 -2.3051 _=5.2688 W 40300-02 g.0261 -4.0265 __ SIGPR=  7.7884 2.6484 134468 _
EL= 330 NODES= 473 479 4BO 474 50% 515 516 510 MAT= 2 WOL=S .2500+08 3-p SOLIpP 45
TNCA¥C4LC®  J125+04  W450+04 160 TERP=  25.0 TAUNY= 224214 SIGE=  31B.476
, EP= 000034 J000161 ~.p00084 .008007 -.0Nd0140 _-,000052 _ EPPR= , .000980____ 000038 -.0001907
EL= 331 KODESs 475 481 4&2° 476 511 517 518 512 wAT= 2 VvOL= 2500408 s T oo 3-Dp SOLID 4S5
XC,¥YCo2C=  2375+04 50D, 16,0 TEWP= 25,0 TAUMX=  5,8300 S1GE= _ 17.459
Ep= 000024 .000036 -. 000031 - .006000 -, 000095 000053 EPPR= 002064 000026 -.000062
§16= 7.9628 9.7434 _=.59710 -.22607=02 ~?7.2822 4.0725 S16PR=  Th4236 8.3168 -5.4238
EL= 332 KhODES= W76 482 483 477 512 518 519 513 kA= 2 WOL= 22500408 o L. 3-p_SOLID 45
XC.‘(C,ZC= 375404 «150+04 16.0 TEMP= 25.0 TAUMX= 9.5662 S1Gt= 17-162
EP= 000024 +000019 -.000032 005006 LD3099 .000052 EPPR= 0000586 .000023 - DONN&S
§1G6= 5.3315 445801 -~3.3978 .26371-02 76323 4e064B SIGPR=  10.247 5.1515 -B.8550
EL= 33T NODES= 477 483 4B4 478 513 519 520 514 MAT= 2 VOLS +2500+0n o . 1-p SOLID 45 °
AT YCLZE= 4375404 «250+04 1640 TEMPs 25,0 TAUMX= 11.156 SIGE=  19.525 _
£Ep= 000024 .000054 -,000030 -.000000 -.G0C105 .000053 EPPR= 000082 000928 -.000062
SI1Ge= 104952 15.674 2.5498 —.01734=02  =8.1444 4.0704 SIGPR= 19,943 11.600 2. 3581
EL= 334 NODES= 478 4B4 485 479 514 520 521 515 MAT= 2 VOL= .2500+08 3~p SOLID 45
XC,¥Cp2C= 375404 «350404 14.0 TEMP= 25.0 TAUMX=  10.378 SIGE=  18.635 )
EP= 000024 -.000010 «. 000030 000000 000117 .000053 EPPR=  ,000051% . 000016 ~.000083
516= 1.3962 -%.8922 7 ~6.9197 LAT040-02 T 9.0267 L.DEGY SIGPR=  5.6024 13837 “15,154
L= I35 ROLESE 479 %85 486 48U STS 52T S2¢ 516 GAT= £ VIL® LZSUUF0E i=p SULLIB 49
XCo¥C4ZC= 375404 +450+06 1640 TEMP= 25.0 TAUMXE 224248 SIGE=  38.551
Ep= .000g24 0001461 ~.000084 - .0o0001 -.000139 .000gs2  EpPR= 003180 .0004a29 ~.000108
$16= 18.5888 40,049 _2.0646 -, 4143201 -10.503 4.0506 SIGPR= _ 424957 __ 19584 . =3.3386 __ _
EL= 3316 NODES= 4B1 4B7 L&& 482 517 5§23 524 518 MAT= 2 VOL= .2500+08 ; 3-p SOLID 45
TC,‘I'C.ZC-T- 525404 5a0. Té&.0 TEWP= 25«0 TAUSX= 10.105 SIGE= 18,532
Ep= (00047 000036 -.000031 +000000 -,000095 -.000054 EPPR= _  ,0D00J69 _ 000043 -.00006¢
"T516= " 14.911 13.201 T 2.85706 Lb2726=02 -7.3819 -4.1894 §1G6PR= ~ 1B.401 14.390 =-1.8082
2
EL= 337 NODES= 482 4B3 4B9 483 518 524 525 519 MAT= 2 VOL= 2500408 - - ) 3~p S0LID 45
AT ,¥C,2¢8= «5625+04 .150+D4 16.0 TeMP=  25.0 TAULX= 10.136 SIGE= 18,506 /
TTEPE COUUDL T LO00019 ST DAY =L Joocud L OU0058 -. 000054 EPPR= .000064 .000035 -.000D47
s$16= 12,272 4.0182 W67277-01 ~,29075-02 762714 ~4.1961 SIGPR=  14.970 10,5689 ~5.,3013
EL= 338 NODES= 4E3 487 490 484 519 525 524 520 MAI= 2 VOLS +2500+08 3-p SO0LID 435
AC,¥C42C5 625404 L250404 T 1440 TEXP= 25.0 TAUMX=  11.212 7 SIGE= 20,225 - ) T
EP= 000047 .000054 ~. 000030 000000 -.030105 ~.000054 EPPR= 000084 000348 -.0002361
—ET6E T UTE 15521 Be0262 TIEETO=TT =EI694 4109 SIGPR=  23.681 18.123 1e2578
L= 1339 NODES= 48B4 490 491 4857 520 526 527 521 MAT= 2 VOLY T,2500408 Tt T T 3-p SOLID 45
XCa¥YC42C= 625404 350404 16.0 TEMP=  25.0 TAUMX=  11.216 SIGE=  20.219 L
TER=T T 77T .NOBD4S ~.p00010 - T -.000030 -.u00000 000114 -.000054 EPPR= 000063 000226 -.000082
$16G= 8.2183 ~. 50957 -5.5350 - 1473201 947219 ~4.1992 S51GPR=  10.738 5,1289 -11.693




—Ers T340 NODESE BT 4T TR T LEETTSPY ST S8 TSR T AT E T Vo=, 25 0+7¢ 3= soCTDT 45T
XC,YC,2C2 625404 450404 1640 TEMP=  25.0 TAUMA=  22.256 SIGE=  IB.616
T oEp= 000048 .000161 -.000085 .000601 -.000136 -.00005%4 EPPR= 009183 .03335) «, 1100107
§51G= 25.599 43,436 543689 L82691-01 =10.793 -4.1770 SIGPR= _ 464350 264207 _ 1.8389 .
EL= 1341 NOBESS 487 403 494 4LBE 523 529 530 524 MAT= 2 voL=  .2500+08 1«0 SOLID 45
TXC, YO, 262 L 87504 500, 1640 TEMPE  25.0 TAUNXE  9.8120 SIGE=  17.067
EP= .000ans 000036 =.000027 -.000000 -.002D095 .000056 _CPPR= 000065 __ . .D3OGI1 -. 000362
516= 2.5067 7.5?39 ~2.1522 —.16825~D1 -7.3501 L3544 SIGPR™  12.047 31.8187 =7.5570
EL= 342 NODES= 483 494 495 489 524 530 531 525 wmAT= 2 VOL=  ,2500+08 - T T 3-p SOLID 45
XC,¥C,2C= 875404  .150+404  16.0 TEMP=  25.0 TAUNX=  9,4E06 SIGE=  16.573
T EP= L 000005 L000479 =.000028 L000000 .000098 .000056 EPPR= .000255 ~000308 - 000267
§16= «27576 | 2,4002_  =h.94B% W54612-02 7.6257 §.3709 SIGPR= 79757 NETEY -13J.985
EL= 343 NOOES= 489 495 496 490 525 531 532 526 MAT= 2 vOL= 2500408 L . 3=D S0LID _ 45 _
AC,¥C,2C=  LEB75+D4 £250404 16.0 TEMP= 25.0 TAUMAL=  11.178 SIGE= 19,345
gEp=____ LDp0O0Os . 000054 -. 000026 -, 000000 ~-. 000105 L000056 EPPR= .00ap83 .000013 -.000062
516Gz 5.8706 134477 WGB561 = 25558-01 -B8.1494 5.3538 SIGPR®  17.837 7.0156 =4.5194
EL= 344 NODES= 490 496 4977 491 526 532 5§33 527 MAT= 2 VOL= «2500+08 Tttt romrT s 3= SOLID 45
XC,YC,2C=  LA75+¢04 350404  16.0 TEMP= 25.0 . TAuUWX=  10.180 SIGE=  17.844 .
Ep .000006 -,300010 -.000026 .000001 190117 000056 EpPR= +02235% .000302 -.000382
$16= ~3,5020 -5.90081 ~8.4227 .57060~01 9,0225 4L.3400 §IGPR=E 3.25143 “h. 0447 -17.,109
EL=  34% NODES= 491 497 498 492 $27 533 534 S28 MAT= 2 VOL=  ,2500+08 o 3-p SOLID 45
XC,¥L,2C0= «B75+04 LA50404 164D TEMP=  25.0 TAUMX=  22.128 51G6e=  38.512
Ep= . 000007 .000161 ~< 000081 -, 006001 -.000139 .000055 EPPR= 000180 . 000013 -, 000106
$16= 14.218 38.091 65595 -.10038 ~10.802 4.2978 SIGPR=  41.04D 154140 ~3,2156
T ELE ILE TRUBESE 493 4TY CSUDT 44529 5357 536 S30 MAYT=E 2 VoL 2 dS00+0E 3=D SOLID 45
XC,¥Cy2C=  .112+¢05  500. 16.0 TEMP= 25.0 TAUMX=  12.634 S168=  23.003
EP= .000078 .0000%4 -, 000049 .000001 «. 000095 ~.0D0080 EPPR= «000088 .030052 ~.0002375
$16= 21,885 15.272 2.1758 .38776~01  =7.3775 ~4,6190 SIGPR=_ 23,380 17,840 _ =1.8872 o
EL= 347 NODES= 494 500 SO1 495 530 5346 8§37 531 MAT= 2 voL=  .2500+08 3-p SOLID 45
_XC,YCsiC=  112+05 «150%04 1640 TENP= 2540 TAURK= 1249517 SIGE= 23.128
EP= . 000078 .000019_ -, 000650 -.000000 000048 -, 000640 EPPR= 000087 000040 -.000080
516G= 19.253 " 10.106 -.61516 -.361806-01 7.6242 -4.,6118 S16PR=  20.623 13.381 -5.2592
EL= 348 ° NODES= 495 501 502 496 531 537 538 5§32 mMaAT= 2 VOL=  .2500+08 B 3-p SOLID 45
XC,¥C,Z6=  .112+405 L250+04  16.0 TEMP= 25.0 TAUMX= 12,938 SIGE=  24.215
iP= L 0onu7e L 000054 ~.DOU0%E Loo8001 ~.0a610% ~. 000560  EPPR= . 000392 .0005658 -.080075
516G= 24,871 21.175 5.3088 52777=01  =B.1347 ~4,6118 SIGPR® 2449908 23.235 1.1217
EL= 349 NODES= 496 502 503 497 532 538 539 533 MAT= 2 vOoL=  .2500+08 } 3-p SOLID 45
TXC,YC,2C= T L112+057 7 L350+404 16,0 T TEMP=  25.0 TAUMX=  13.524 SI6E=  24.3%0
Ep= . 000077 -,000010 ~. 000046 -.50000C2 .000118 ~-,000080 EPPR= .000084 .000027 -.000392
516= T4.911 7.5230 -4.1335 -.11919 9.0133 <4.623¢ SIGPR=  16.378 7.1932 -1t.271
EL=" 350 NODES= 497 503 50477 498 S33 539 540 534 MAT= 2 VOLs  .2500+08 TTT T T T T T TTT T T 3-pTsoLiD 45
AC,YL,2€= 112405 L450404 1640 TuMps  25.0 TAUNRE 22979 SI6E=  4D.S5bB o e
EP= To.gp0075 T L00D158 -,000099 LL00001 -, 000139 ~.000058 EPPR= .000175 030078 -.000121
$16=  31.602 54,304 4.6046 L47067-01  =10.743 -4.5286 SIGPR=  47.200 312,142 1.2582




TEL= 7351 TWODEST TSOY ST T STET 508 541 TBATT S48TTS4ZTMATE 2 VOL=  .2500+08 3=p S0LID 45

XxC,YCy2C= 125404 500, 2640 TEMP=  25.0 TAUIKE  B.0675 SIGE=  14.825
Ep= .000024 L000034 -.000031 005000 ~ 0000868 «.u00046 EPPR= 000054 «G00D34 -, 000751
516= 10.704 10.702 75546 JAEE50-02 ~5.2514 ~3.5634 SIGPR=  13.79%3 _ _ . 10.702 =243336 _ .. ...
_EL= 352 NODES= 506 S12 S13 507 542 548 549 543 MAT= 2 wvoL= __ ,2500+08 Teh SOLID 45
XC YL 32C%  +i25+04  «150+04  25.0 TEMP=  25.0 TAURX=  B.0931 S1IGE= 14,882
£EP= . LC000%4 300024 -.000032 ~«000000 LA060372 -. 000046 EPPR= .002050 | #020033 - 000354
oo '§16= %.1600 77411 -.95§54 -.10143=-02 E.5604 ~3.5600 SIGPRS  11.741 8,6467 46452
e EL= 353 NODES= 507 513 514 508 543 549 550 544 HAT= 2 vOLs  .2500+05 Tt 3D SOLID 45
o] @ XC,¥0,2(= e125+04 +250+04 26.0 _TLHMp= 25.0 TAUNX= 9.1314 SIGE= 16044
:g“lp= LTS L000045 ~.g00079 .0080D00 = 000587 = 000N46 EPPR= 000066 .000034 -.006052
§;p> 516= 12.604 14.336 _ 2.B753 76723 -02 -6.2692 -3.5548 S1GPR= 17576 12.930 - 58704
fom) E: gL= 354 NODES= 508 514 515 509 544 550 551 545 KAT= 2 VOL=  .2500+C8 o . 3-p 50L1B 45
Ca;py XCaYCy2C= W125404% «350404 26.0 TeEMP=  25.0 TADME= 9.188% SiGE= 16,7359
g: Gy EP= 000034 L000004 -,000031 400000 000096 -. 000046 EPPR= 0000850 000025 -.000268
E%Eg s$ic= t.1981 146218 <3.7963 wh1472-07 7o LGRS -3.5483 SIGPR=  B.8003 4,7958 ~G. 5786
& EL= 355 HNoOpEs= 509 515 514 510 545 5§51 552 546 MATS 2 VOL= 2500408 o - ot 3-p SOLID 4S5
XCoYC,Z0= 125404  L450+04  26.0 TEMP=E  25.0 ,  TAUMXs 19,830 SIGE= 344351 .
Ep= .000034 000140 -,060074 L00G001 -.03c129 -,000046 EPPR= 000158 «000037 ~.000268
SIG= 19,849 35,361 2.8525 L51678~01  ~10.020 -3,5253 S16PR=  39.180 20.362 ~,47032
EL= 356 NODES= 511 517 518 512 547 553 554 548 AATS 2 VOL=  ,2500+0¢ . 3~D SOLID 45
XC,¥C,2C=  375+404 500, 26.0 TEMP=  25.0 TAUMXS  3.0348 SIGE=  14.542
Ep= .000025 «800034  ~.000031% ~.000000 ~.0000648 000047 EPPR= .000052 . .000D27 -.000552
516= 8.0150 9.3395 -, 68968 -+23035-02 ~5.2510 3.6371 SIGPR= 12.184 B,3663 -3.8856
TELETISTT ONOBESET STL 518 519 533 548  55h 555 549 MAT= £ VOL= LT I-H SOLID 45
RLLYE,2C=  L375+404  L150+04 _ 26.0 TCMP= 2540 TAUNX=  7.9864 SIGE=  14.528 -
Ep= .0o00z5s 000024 ~-,000032 L00G000 000072 000047 EPPR= 000048 000025 -.000055
§16= _ 6.4764 5.,3798 _ _  =2.4017 «24506~02 5.5779 3.4399 SIGPR=  $e9913 _  6.4448 =5.98%4____ . __
EL= 358 NODES= 513 519 S20 514 549 555 556 550 MAYT= 2 vOL= .2500+08 I~p SOLID 45
XCaVCyZC= 3575304 YR L YY) TERP= 2540 TAURK= Y1714 SIGE=  16.26%
EP= .000025 000045 =.0000%0 ~.,000000 -.000081 .000047 EPPR= +000065 +030028 -, 000353
TTSIG= TT 9.9121 12.968 14306 ~a91824~02  ~4.2655 3.6382 SIGPR= 164105 134444 -2.2381
. EL= 1359 NODES= 5714 520 521 3515 550 556 557 551 wMAT= 2 VOL=  .2500+08 4 . 3«p SOLID 45
XCs¥Cy2l= 375404 350404  26.0 TEMP=  25.0 TAUNRS  9.0079 SIGES  16.3D3
EP= LO00025 L0000604 =L 0000 L0C0000 L0066 7 L000D47  EPPRA L000047 . 000023 -.000069
sI16= 3.5614 28268 -5,2050 2 14605=02 7.4750 3,6194 SIGPR= 649781  _2.6987 -11.038
EL= 360 NODES= 515 521 522 516 551 557 558 552 MAY= 2 vOL=  .2500+08 o 31-p SOLID 45
TRE L YCeZCE 375404 AL 26.0 7 TEMP= 25.0 TAUMY= 19.870 S1GE= 34,417
Ep= 000025 000140 ~.000077 - 503007 ~.000130 L000046  EPPR= .000158 .000029 -~ 0002398
516= 17.248 35.003 1.4705 <. 67261-0% -10.0%2 T.6710 SIGPR=  37.826 17311 -1.9151
EL=" 161 NODES= 517 5237 524 7518 7553 559 560 554 MATS 2 VOL=  .2500+08 T ) T T T alpTsoL1b 450
XC,¥YC,2C= 625404  50C. _26.0 TEMP=  25.0 TAUMXS  B.4572 SIGE=  15.651 i
TTEp= 000044 000034 - 000031 000000 -.000066 -, 000049 EPPRE= .000058 .000039 -.000351

$iG= 13.929 12.286 2.3120 £+063290=-02 -542511 -1.5097 S1GPR= 16,132 13.188 -.78252




—EL="3&NODESE STE - SZ4 52T T STYTSS4T TSEDTTSETTTSSS MATE 2 VOLE T ,2500%08 1T=p SOLID 45
XC,YC42C= 625404 150404 26.0 TEMP=  25.0 TAUKRX=  B.86121 S1GE= 15,735
T gp= 000044 000024 -.000032 -.000000 L0082372 ~.00004% EPPR= .000057 020035 -.000354
§16= 12.394 9.3262 859741 -.27994-02 5.5726 ~3,8137 S1GPR=_ 144330, C13eBB2 0 248944 . __
EL= 363 NODES= 519 525 526 520 555 561 562 556 MAT= 2 VOL= .2500+08 1-p SOLID 45
TRETYE,Z6= 625404  .250+404  26.0 TEMP=  25.0 TAUNMK=  9.3085 SIGE= 17,093
v Ep= 000044 000045 _ _-.000029 .00COGO -.830081 _~ 000049 EPPR= 000088 000064 -.000352
S516= 15.852 15.92¢6 4ah418 . 1685501 -442553 -3.8114 S1GPR= 194490 15.857 .B728D
EL= 364 NODES= 520 S24& 527 521 556 562 563 557 MAT= 2 VOL= .2500408 ) 3-p SOLID 45
_XCy¥Le2C= 625404 $250+04 26.0 TEMP=_ 25,0 TAUMXS  9.7595 SIGE= 17,430
EP= .000044 .000004 -.000031 -.J03000 HORED -.000049 EPFR= . 000058 .0230028 =-.000069
SI16= 9.3438 3.1751 -2.2848 -.14443=01 7. b642 ~-3.80%6 SIGPR= 114451 6.8720 -8,0684
EL= 365 NODES= 521 527 528 522 557 563 564 558 “AT= 2 VOL= .2500+08 3-p SOLID 4S5
XC,YC,2C= 625404 450404 2640 TLMPE  25.0 TAURK= 19,889 SIGE= 34,547
EP= 000044 000140 -, 06DG?7 .000001 -.000129 -,.000049 EPPR= .03015% 000047 -.000098
S ¢2.955 37.903 4e3136 cf2b37~01 =10.028& ~3.7582 S16PR= 404735 23.460 95747
EL= 366 NODES= 523 529 530 524 559 565 5&6 560 MAT= 2 VOL= .2500+08 - - -or 3-Dp SOLID 45
XC,YC,2C= LA75404 500. 26.0 TEMP=E  25.0 TAUMX=  £.0512 SIGE= 14,140
£Ep= .000008 .000034 -.000028 -.000000 -.033068 .000052 ERPR= .002352 0000135 -.,000252
SIG= 3.4568 73618 -2.1007 -.16753-01 -5,2522 440551 S16PR= 104178 L.hb635 ~5.9242
EL= 367 HNODES= 524 530 531 525 560 566 567 561 MAT= 2 voL=  .2500+08 3=0 SO0LIB 45
KCyYCoZE= «875+04 150404 2640 TEMP=  25.0 TAUNX=  ?2.9226 SIGES  13.973 )
Ep= . 000008 006024 -. 00029 .000000 00072 .000052 ©PPR= L000D47 . 000033 -.000055
§16= 1.9179 Lu4107 -3.8088 «83800~02 5.5752 4.030% SIGPR= 7.8832 2.5985 ~7.96192
eI E MeE HODESS 525 531 537 524 561 547 5887 542 WAT= £ VOL= NWEY T EY 3=7 S0L1b &5
XC,YC, 205 «B75+04 +250404  26.0 TeMP= 25,0 TAUMAE  9.215% SIGE= 16.025
Ep= 000008 000045 ~-.0000G26 ~-.000000 -.000381 000052 EPPR= 000965 0003215 ~.000054
$16= 5.3283 10.984 «10736-01 -.25568-01 ~6.26E0 h.0263 S1GPR= 144180 L Bl3R43 . =k, 2518 L
EL= 349 NODES= 526 532 533 527 562 568 549 563 MAT= 2 VOL= .2500+08 3-b SOLID 45
XC, YL 202 YAEI = 350+04 2840 TEMPE 2940 TAURK= H.8916 S1GE= 15671
EP= . (100009 +000004  _ ~.000028 .000001 .0000%6 000052 EPPR= L000046  L000008 -.000069
$I16=  =.84231 “1.8146" -6.5653 25632101 T 4708 4.0502 S16PR=  4.9170 -1,0747 -12.865
EL= 370 NODESs 527 533 S34 528 563 569 570 564 wMAT= 2 VOL=S «2500+08 - - 3-b SOLID 45
AC,¥E,2C= JB75404 450404 26.0 TEMPE  25.0 | TAUMX=  19.811 S1GE= 34,400
EPE LOUUUTe PO EYY = 000073 = oU0TUT <. 00T 30 LO000052 EPPR= MOILEEEY) 000015 -, 000297
$16= 13.069 33.255 20351 ~.10115 ! ~10.045 3.9960 S16PR= 36.129 C 13.891 ~3.4933
EL= 371 HNODES= 52¢ 535 536 530 565 571 572 566 4AT= 2 VOL= +2500+08 3-9 SOLID 45
XC,YCsZC=" 41124057 500, 7 ~ 72640 TEMP= 25,0 TAUMY= 11.376 S1GE= 20.422
Ep= 000074 300034 -. 000047 +000000 ~. 000068 -.D00058 EPPR= .000082 000043 -. 000865
516= 20.508 14.263 T.740% . 38509-01 “KL2437 =[.493% SIGPR=  21.738 15.749 -.99471
EL=" 372 “NODES= 530 534 5377 531 566 572 573 547 MaT= 2 VvOLE "T,2500+08 - -t I-07SOLYID 45 T
XC, YL, 2C= 112405 +1504D4 26.0 TEMP= 25.0 TAUMKY= 11.504 S16E= 20.617 )
EP= 000074 .0oonzs ~.000048 -.000000 000072 -, 000058 EPPR= .00D082 .00003% -.0009868
S16= 15,949 11.321 .37973-01 -.35855=01 5,5711 ~Lo 4677 516PR=  20.18D 13.174 -3.0271




TELE TI?ICUNODESE TSI US3Y T 535 53R4T STY ST4 T 568 MAYE I UGLE T LZ2500%0E 3=6 sOLiD 45
XCWYCs2C= 112405 «250404 2640 TEMP= 25.0 TAUMX= 11633 S16E=  21.420 _
ip= 000074 .000045 -, 000046 .0032001 -.000081 ~.000058 EPPR= .000084 000056 ~,000066
$16= 224404 17.887 3.6488 «52336~01 ~642595 “h.5867 SIGPR=  23.922 ___  19.560 55691 o
EL= 374 NOpPES= 532 538 539 33 568 574 575 569 MAT= 2 vOLs «2500+08 3-0 SOLID 45
TRCI YO, 40 W112405 L 350+04 2640 TENP=  25.0 TAURK= 124439 §16E=  21.967
i EP= .000072 .000004_ _ =.000047 ~,000002 000096 -.000058 EPPR= 000081 000028 ~.000080
S1G= 15-ﬁ’49 501098 ~C+TE3E 2118868 74591 ~4Lah562 SIGPR= 17.309 Bnasloé -7.8593
EL= 375 NODES= 533 539 T540 534 569 5757 576 570 NMAT= 2 VOL=  .2500+08 - T . 3-p 50LI0 45
_XCLYCyZCH L 112+M5 450404 26.0 TEMP= 25,0 TAUMX= 20,526 SIGE= 36,474
EP= .000071 .D00137 -.000090 .006001 -,000128 -.000056 EPPR= .000154 030074 -.000111%
$1G= 28.557 I8.788 346748 «71629-01 -3.,6422 =4.,3042 SIGPR= 414516 29.040 44358
gEL= 376 NODES= 541 547 548 542 577 583 584 578 MAT= 2 voL= .2500+D8 ) i 1-0 SOLID 45
XC,YC.ZC= +125+04 500. 36.0 TEMP= 25.0 TAUNMK= 6.8356 SIGE= 12.812
__EP= .000033 .000032 -, 000030 .200000 -.000847 ~,000040 EPPR= .000045 .000033 -.000043
$1G= 10.328 10.1E0 .49120 «16747~02 ~3.6199 -3.1338 S1GPR=  12.205 19.261 -1 b463
EL= 377 NRODES= 542 S48 549 543 578 584 585 579 MAT= 2 WOL= «2500408 B 3-p S0LID 45
XC,YCy28= 125404 « 150404 3640 TEMP= 25.0 . TAUMR=  6.9909 SIGE= 13.050
Ep= .000033 «000028 -.000031 -.000000 L000052 ~-.000040 EPPR= . 000045 000031 ~.000046
SIG= 9,6039 8.8712 ~.38GE2 -, 97820~03 32,9913 -3,1326 SIGPR=  11.397 9.2738 -2.5851
EL= 378 NODES= S43 S49 550 S44 579 585 585 580 MAY= 2z VOL= .2500+08 i i I-0 SOLID 45
XCy¥CaZC= « 125404 250404 26D TEMP= 25.0 TAUMX=  T.06247 SI1GE= 14,023
_ EP= .000033 .000037 ___ -.000029 .000000 -.000062 ~.000040 EPPR= .00DD53 _ 000034 ~. 000045
S$16= 11.387 12.07% 1.8095 «77219-02 -4.778% =3.1294 SIGPR=  14.481 11559 -2 77245
—ELE I RNODEST 544 SS5UTTSST 545580 586 587 58T WMATET 2 VOLS L 25D0F08 N i-p SOLID &5
CKCHYCe2C= 125404 «3504D04 _ 36,0 TEMP= 25.0 TAUKX= 2.1395 SIGE= 144995 _
EP= 000033 +000015 -.000032 000000 025080 -~ 000040 EPRPR= 0007047 000027 -.000358
516= 74759 L.6764 =2+6261 +463365-02 6.1675 =3.1164 SIGPR=.  9.611% _____ 645814 _ ~6.667) _____ ___
EL= 380 NODES= 545 551 552 546 5871 587 588 582 MAT= 2 vOL=  L,2500+08 1= $OLID 45
XCsYLs2C=  +125+04 L5004 36.0 TERPS 2540 TAURK=  17eB5e SIGE= 30.963
_Ep=s . 000033 000123 _ =.000070 .000001 -.000121 ~-.000040 EPPR= 000141 __ .DOOD3S ~.000290 .
$I6= 18.070 32.005 21702 +51524=01 =-9.3356 -3.0912 SIGPR=  34.735 18,4560 -.96997
Fd
EL= 381 NODES= 547 553 “554 S48 583 589 590 584 MAT= 2 VOL= 2500408 - - 3-p SoLIb 45
XCp¥Cs2C=  o375+04 500. 6.0 TEMP= 25,0 TAUMK=  6.7811 S16E= 12.55% ’
TTEPE RO E LIRS =, 0000737 =, G00000 = 0000%7 L000042 EPFR= 000043 .000028 -.000044
§16= 8.0961 9.0409 - 73434 -.23057=02 -3.6198 3.2251 S16PR=  10.766 . _Bua321 “2,7959
EL= 382 NODES= 548 554 555 S49 584 5%0 591 585 MAT= 2 WvOL= 2500408 Ieb SOLID 45
XCe¥Ca2C=" "o375404 « 150404 36.0 TLMP=  25.0 TAUMX= 6.8960 S1GE= 12,767
Ep= . 000026 .000028 -.000032 2002000 +000051 .000042 E£PPR= 000042 020027 -.000047
§i6= V3776 Y EES] =~T+6135 w20235-08 7.9848 Te2258 S1GPRE 7.8918 7.5056 -3.9002
EL=" 383 "NODES=" 54% 555 556 550 " 585 591 592 584 MAT=s 27 TWoL= T TL2500+408 - Temt T T 3-p S0L1ID" 45
XCaYLa2C= 375404 250404 36,0 TEMP=  25.0 TAURXE  7.6505 SI1GE= 13,840
Ep= 000024 .000037 -.000029 ~.000000 ~. 000062 000042 EPPR= 000052 .00022¢% ~. 000347
$16= 9.1514 10.926 57967 -.92861~02 =4, 780% T1.2222 SIGPR®  13.204 95,5492 ~2.0948




TEL=""%384 NOBES= 35D

307 SOLID 45
~.000059

3= SOLID 45

-.61135-01

-.000091

3-D S0L1D 45

«63245-02

~-.000343

3~D S0LID 45

-. 0007346

~e27047-02

I=D SOLID 45

-.000346

~+13902-01

3=b sOLID 45

-.000259%

1-D SOLID 45

-.0000%0

3-p SOLID 45

~e16626-01

--GOOD’!S

I-D SOLID 45

~.000D48

3-p SOLID 45

-.000947

ACaYCE,2C% L375+04
© Ep= 000026
§16= 5.2941
EL= 385 NODES= 551
TXEL Y, ICE L 375+004
Ep= L000026
*$16= 15.9422
L= 386 NODES= 553
XC YL 285 625404
TERE . 000042
516= 13.102 214545
EL= 387 NODES= 554 560
XCs¥C,y2C= «625+04
Ep= 000042
S1G= 12.377
EL= 388 NODES= 555
XCoYCqaZC= 625404
EP= 000042
$ig= 144174
L= 389 MNODES= 556
XC,YC,2C= . 625+04
EP= 000042
§16= 10.182
TELE T 390 TNOBESE 557
XCyYC,2C5 625404
Ep= 000042
5I6= 20.701
L= 391 NODES= 559
THC,YC,20=  W87R+0%
Ep= . 000011 - 2.
S16= "~ 3.9045 7.2582
EL= 392 NODES= 560
AC,¥YC,20=  B75+04
EP= . 000073
SIG= 3.2750
EL= 393 NODES= 561
TACSYCZCE JB75+04
EP= .000011
§16= £ 0246

EL: 294 " NODFS® ~ 562
XCsYC,2C= JB75404
Ep= 000012
SIG= 13434

-.25433-01
L]

568 7 569775637598 T 604 7 MAT= 277voL= T .2500+408

14,679
EPPR= L0003564 .000023
SIGPR=  8.1373_ 4.8174

31.011
EPPR= L030140__  .000029
SIGPR=  33.605 15,383

13.635
EPPR= L000951 L630035
SIGPR= _ﬂ1!¢5520_ 124128

13,884 T
EPPR= .000051 L 000034
SIGPR= 13781 11.047

14,733
EPPR= .000056 +000040
SIGPR= 164570 13.869

15,840 h
EPPR= .000051 .000038
516PR=  11.922 28,3535

3914167
EpPR= .000141 .D0004G
SIGPR=__ 36,075 _ _ 21,139

12.15%

EPPR= .000043 _ .0DOOD1S
SIGPR= B.8919 5.0517

12,733
EFPR= L, 000041 .000017
SIGPR= 749784 _ _ 441499

13,584 :

EPPR= .000052 ,000017
SIGPR= 114449 £.0177

14,161
EPPR= 000044 .000012
SIGPR=  5,3443 1.4273

3-3"S0L1D 45

-.00005%7




TEC=TTRRS CTHOGESE T TSES T SEYT 570 564 599405 SUETTLDD T MATYETT 2 VOLE 2500408 =0 SOLIO 45
XCyYC,28=  JE75+04 LA50H04 34,0 TeMp= 25,0 TAUMK=  17.E57 SIGE= 30,959 )
Ep= L000012 .00012% ~, 000067 -.006001 -.000121 L000047 EPPR= 000141 000017 -.000090
S16= 12,191 29.311 = 13272 -.10205 -9,3555 T1,8471 _ _SIGPR= _ 32.006. . _ 12892 ~3,6180 o — o
EL= 306 NODES= 565 571 572 566 601 607 608 602 MAT= 2 voL= +2500+08 72-) SOLID 45
XCsY¥CosZC=  <112+405 500 36.0 TEMP= 2540 TAUNK=  106.430 SIGE=  18.561
__EP= .00007D L000032 _  =.000046 0006000 -.00D347 -.,000056 _EPPR= _ 000O77. _ QDOD3Z ~.0D00358
$16= 19.285 13432 1.3855 .33050-01 ~3.4103 -4.3930 SIGPR=  20.377 14.209 -.48353
EL= 397 NODES= 566 572 573 567 602 608 609 603 MAT= 2 voL=s 2500408 7 . B - 3-p SOLID 45
XCy¥Cy2C= 112405 150+04 36,0 TEMP= 25.0 TAUMX=  10.616 SIGE=  18.830
EP= .000G70 .000028 =.000047 ~.000000 L000051 -.000085¢ EPPR= .000077 .000035 -.000060
$16= 184565 _12.140 +51471 -.35276-01 32.9780 =4,3192 _SIGPR= _19.66%___ _13.114 -1.5424 o
_EL= 398 NODESs 567 573 574 565 603 609 610 604 MAT= 2 vOL= 2500408 . 3=b $OLID _45
XCYCy2C= +112405 «250404 TT36.0° T TEMPE  25.0 TAURX= 10.681 SIGE®  19.289
Ep=z . 000070 .000027 -.000044 .000001 -.000361 -, 000056 EPPR= 000578 000043 -.000380
§16= 20.342 15.315 Z.6600 251936-07  ~4.7580 =4.3197 SIGPR=  21.586 16,498 26309
EL= 1399 NODES= S68 574 57577569 604 410 611 605 MAT= 2 VOL=  .2500+08 - T 3-0 SOLID 45
XC3¥YC,2C= 4112405 +350404 3640 TEMP= 25,0 TAUMX=  11.380 S1GE= 204174 i
Eps 000048 000015 - 000047 -.000002 .000080 -.000056 EPPR= 000076 .000031 -.000070
516= 15.080 7.8494 -1. 4892 P =, 11799 $.1593 443145 SIGPR=  17.343 10.276 -5,3982
EL= 400 KNODES= 569 575 576 570 605 611 612 606 MAT= 2 VOL=  .2500408 ) . 3-p SOLID 45
XC,YL,ZE= 4112305 LA50+04 3640 TEMP= 25.0 TAURX= 184517 S16e= 33,039
EP= .000067 .006120 __ _ -.000082 L003061 -,000119 -.000053 €ePPR= _ _ LDODY3? 000073 -.000102
51G= 25.957 344151 249066 W ?6822-01 -9.238% ~4a 1408 SIGPR=  36.809 264431 -, 22451
EL="407 NODES= 377 83 FEE) 578 513 619 6720 674 MAT=E 2 VL= e 2o QO+ TE 3=~D SOLID 45
XCs¥Cy2C=  L125+D4 500, 4640 TEMP= 25,0 TAUMKX=  6.0394 SIGES  11.494
EP= 060033 G060 -.000030 .000000 -.000031 ~.000036 EPPR= .000040 000032 -.000038
516= 10.018 9.7759 28428 «16656-02  =2,3795 =2.7493  SIGPR=, _ 11164 . 9,8678 ~a93432
EL= 402 NODES= S?8 G584 585 579 614 620 621 615 MHAT= 2 VvOL=  .2500+08 3=p SQLID 45
XUV, 0T 12504 L 150%0% &6.0 TERPE 2540 TAUNKS  E.2406 SIGES  11.863 p
EP= 000033 003039 -.000031 ~.000000 .0000%8 -.000035 EPPR= _ .000049 .000032 -.000340
s$16= 9.9030 9.6783 “436990-01 ~.94213-03 2.764% -2.7458 SIGPR="  11.145 29,7824 -1.3286
EL= 403 NObDES= S§79 SB5 586 580 615 621 622 616 MAT= 2 VOL=  .2500+08 - -+ T 3-p SOLID 45
XC.\'C,ZC-‘- « 125404 .250‘*04 46 .0 TEMP= 25.0 TAUMX= 6052‘!6 S1GE= 124244
PP IR NIEY CP N TOFL) L000000 = UUD0%5 = 000035 EPpR= -000044 -000032 =.0005%40
SI1Gz= 104432 10.344 96595 7807502  =3.5908 ~2u7415 S1G6PR=  12.202 10.391 -, 84730
EL= 40% NODES= 580 SE&6 587 S61 616 622 623 617 MAT= 2 vOL=  .2500+08 TwD SOLID 45
AL, ¥CyZC= 125404 «350+04 460 TEMP= 25.0 TAUMX=  7.4032 SIGE=  13.810
Eps . 000032 .000023 -.000033 .000060 0008066 -.000035 EPPR= .070044 .000812 -. 030351
5i6s YA 730857 ~1.663% - LSO8(~02 50862 3L T SIGPR=  10.207 5.0214 —4e5089
~ EL= 405 NOBES=" 581 SB7” S88775827 7617 623 4247 6185 MAT= 2 voLs T.2500+408 T TTTTT TR T m TmmITT T ozopTSof1e” 45 )
CXCa¥Le2C= 125404  L450+404 46,0 TEMP= 25.0 TAUMX=  15.205 SIGE= 28,144,
EP= ~  .000032 L003109 -~ 000064 L000001 -.000173 -.000%35 EPPR= 000126 «000935 -.000983
516= 16,587 284395 1.6095 5138201  =H.74R3 -2. 7010 SIGPR= 31,047 16.909 <1.3640




ELE 406 “NOTES= "SE3 SE9 T SOT SB4TT619 T 625 2 T G2 MAYTE T2 T WolET . 25DOV08 TS Y
XCaYCq,ZC=  .375+04  500. 46.0 TLHP=  25.0 TAUHXE  5.0462 S16€=  11.283
Ep= .00p0027 .000031 -~ 000031 -.503000 -.0230231 .000037 EPPR= 002037 .0230029 -.080139
516= Be1942 Be83¢3 -a74399 ~a23260-02  -2.37%4 248445 SIGPR=  ?.B391__ _ B.500S -2,0532 -,
EL= 407 NODES= 584 590 591 585 620 626 627 621 WAT= 2 voL= _ .2500+08 1-D SOLID 45
XC,YC 26 4375404  .150+04 4640 TEMP= 25.0 TAUNX=  6.1784 316L=  11.655
, Ep= . 000027 L000031. . -~.000032 . 300000 000036 ,000037 EPPR= .000039 ,000027 -.0006041
S§16= B.OB42 B.7396 ~. 98978 «25755-02 2.7626 2.B426 SIGPR=  §49173 B.3560 —2.4399
EL= 408 NODES= 585 591 592 586 &21 427 628 422 MAT= 2 voL=  L,2500+08 ) 3-b SOLID 45
_XCp¥C,2C= 4375404 L250+04  46.0  _TeMP=_ 25.0 TAUMX= _ 6.5085 SIGE= 12,065
Ep= . 000027 . 000032 - 000629 -.000000 ~.000046 .O0D037 EPPR= .000043 .0000238 -.000041
5§16= B5.6038 9.3952 - 5236301 =.93472-02 ~-3.5880 Z+B470 sIGpr=  11.05% B.BA44Y -1.9612
EL= 409 NODES= 586 592 593 587 622 628 629 623 WwAT= 2 VOL=  .2500+08 _ . 3= SQLID 45
€, YLy 2C= 4375404 LA50404 46407 TEMP=  25.0 TAUMX=  7.3588 SIGE= 13,599
__EP= .000027 .000023 ~.000034 300000 .000066 000037 EPPR= 000043 .000025 -. 000052
$16= .6614 6.1274 ~2.6879 < £4550-03 S.0962 248349 SIGPR=  5.1526 6,5335 “5,5651
El= 410 NODES= 587 593 504 "S88 623 629 &30 624 MAT= 2 VOL= «2500+08 - - - 3-p SOL1B 45
AC¥C,20= 175404 450404 460 TEMP=  25.0 TAUMX=  16.235 SIGE=  28.152 _
EP= Louo027 .000108 ~.000065 ~-,000001 -.000113 000036 EPPR= .000125 .0000272 -.000084
SIG= 16841 27,456 2638359 -,61018-01 =-8.7388 2.7930 SIGPR= 30,100 15.204 -2.3496
EL= 471 NODES= 5389 595 595 590 625 631 632 626 MAT= 2 wOL= «25004038 3-b SGLID 45
XKC,YCL,2C= 625404  500. " &6.0 TENP=  25.0 TAUMX=  6.5762 S1Ge= 12.32%
Ep= 000040 .000031 _ -.000620 .000000 -. 000031 ~,000040 EPPR= 000047 _ . .000033 -. 000839
$16= 12.376 10943 144550 $862411-02  -2.3785 -3.0978 SIGPR= 13,379 11.248 14700
TEL= 417 NODES= 500 596 507 591 626 632 67335 &27 MAi= 2 VvOL= .c500+08 3-p SOLIB 45
ACa¥C42C= 625404 .150404  46.0 TEMP= 25,0 TAUMY=  6.78642 SIGE=  12.659
gEp= 000040 .000031 ~, 000031 -.400000 000036 -.000040 EPPR= L000047 ~ 000034 -. 000041
SIG= 124259 10.844 1.2064 ~ 2686702 2. 7658 “3.0063 SIGPR= 13,323 __ _. 114237 -, 24913% o
EL= 413 NODES= 591 597 598 592 627 633 634 628 MAT= 2 VOL=  .2500+08 1-p SOLID 45
XCsYC,4C=  <625+04 V250104  4LG6.0 TERPE 2540 TAUMK=  6+9511 SI1GE= 12.982
EP= + 000040 000012 - 000029 000000 ~. 006046 - 000040 EPPR= 000049 . 000035 -.000041
$16= 12.404 11.518 2.1471 «16976-01  =3.5791 ~-3.0865 SIGPR= 144156 12.060 «25351
EL= 414 NODES= 592 598 599 593 628 634 635 429 MAT= 2 vOL=  .2500+08 B 3-D SOLID 45
XC|YC’ZC= J625+404 350404 46.0 TEMp= 25.0 TAUMY = 7.8438 SIGE= 144544
TTEPE AT . OOaes TR =, 060000 LO00066 -~ 000040 EPPR= .000050 . 000032 -.000052
S16= 10.751 8.1836 -.56628 -a13397~01 S.08E5 =1.0680 §16PR=  12.235 9.5847 -3.4518
EL= 41§ NODES= 593 509 600 594 529 635 438 4630 MAT= 2 voL= .2500+408 ) 1-p SOLID 45
XCs¥Ca2C=  +425+04 LAS50404 4640 TLMP= 25.0 TAUMX= 164260 SIGE=  2B.349
Ep= 000040 000109 -.000ub4 .G0000Y -. 000113 -.000039 EPPR= 000126 . 000042 ~, 000384
51G= 18.809 790.528 269281 LAZ637-01 B, 7363 -3.0159 SIGPR= 124188 19,172 ~.33165
EL® 416 NODES= 595 601 6027 596 631 637 638 432 MAT= 2 T yoL= ~ .2500+08 - e rTmTm e 3-p SOLID 45
XC4 VL 92C=  LR7S+04 500, 4640 TLMP=  25.0 TAUMX=  5.9808 SIGE=  10.930 L.
Ep= 000013 000031 -.000028 -.305000 -,000031 .000045 EPPR= 000037 000022 -+ 000341
§16= 4.5126 7.2331 ~1.56983 - 1646711 -2.37%0 3.4897 SIGPR= 82,1015 5.6080 =3.8601




TELETTLTT T RODESE TS9G T 607 60U 597 632 638 639 £33 1D 50010
XCsYCsZC=  #B75+404  L150404  46.0 TCMP=  25.0 11.294 R
Ep= L 000013 000039 -, 000029 .500000 EPPR= 000038 .000023 «o,000042
516= 444007 71424 =2.1416 L 85149-02 SIGPRT 842110 ____ 5.4106 -4, 2201
_EL= 418 NODES® 597 603 604 598 633 539 440 634 3~p SOLID
XC, ¥CeZC= 875404 L250+04 460 TEWP= 2540 11.762

EP= _ .000013 .000032 _~.0c0026 -.000000 _EPPR= 000042 _ _ .0000139 -.000342

S1G= 4.8569 7.7908 -1.2249 -.25244-01 SIGPR=  F.4180 55,7782 -3,7334
EL= 419 NODES= 59& 604 605 599 &34 5640 41 435 o o7 3-0 SOLID
AC,¥C,2C=  .B75+404 2350404 4640 _Tewp= 25.0 13,176

EP= .000074 000023 =.0a600 314 IR EPPR= 2000043 L.000016 -,000052

$16= 3.1467 4.5970 _ _ -3.7%40 54463-01 S1GPR=  7.4050 34835 ~7,1388

_EL= 420 NODES= 599 605 606 600 635 641 642 636 _ _ 3=b $OLID 45
XC,¥C,2C= LB75+04 T L450+04 4640 TEMP= 25.0 25.119
__Ep= . 000015 .0001309% -.000G62 -, 000001 EPPR= 000128 .000019 -.000383

§1G6= T1.519 26.073 ~o37094 =, T0303 SIGPR=  28.778 12.123 ~3.6875
EL= 421 NODES= 60t 607 608~ 502 437 643 644 638 ) " T 3-p SOLID
XCy¥L,2C= 112405 500, 4640 TEMP=  25.0 17.282

EpP= +000066 000031 7 -.000044 .000000 EPPR= +000073 .0D0033 -.000953

$16= 18.193 12,742 1.0941 L37579=-01 SIGPR=  19.222 13.0%5 ~.28833
EL= 422 NODES= 602 408 609 603 438 644 645 639 3-p SOLID

TRCyYCa2C= «112403 «150404° 7 4640 TEMP=  25.0 17.554 ) -

Ep= . 000066 000031 ~.000045 -.003000 EPPR= »000073  _ .{J0034 -,0003558
"516= 18.082 12.659 7 77 .B855C2 e 36814~01 SIGPR=  17.118 13,128 “a$ 4790
EL= %23 NODESE 603 ~6UY BTU 604 &3V 645 646 &40 I=F SOL1D
XE,¥C42C= 112405 250404 4640 TENP=  25.0 17.709 o
TEp=""7 T .000Q46 T L.0000327 T -,000043 .000001 EPPR= 008373 «000337 -.000255
_816= 184408 13,305 _ | 1.7482 .51583-01 _SIGPR= 104725 144075 . -.11B88 ___._ . ...
EL= 424 NODES= 604 610 411 405 440 6446 647 441 3-p S0LID
XCsTes2C= +112+05 < 3150+04% 4540 TENP= 25.0 18.827

Ep= + 000064 000023 ~.000046 «.,000002 EPPR= .000072 _ _ .D00D33 ~.0002364

T7816= ~  16.280 9.9260 —.B4462 -.11713 SIGPR= 174496 1144790 -3,6064
EL= 425 NODES= 605 611 6127 606 641 647 648 642 - 3-p SOLID
XC,¥C,2C0= 112405 450404 44,0 TEMP= 25.0 10,2130

tF= L OU0063 N EERE] =, 000078 L005007 EPPR= .000%2¢2 .030366 -.0002095
_ 816= 23.722 30.289 2.2674 +B2635-01 5IGPR=  32,88D _ 24.153 “.75375
EL= 426 NODES= 613 619 620 5614 649 655 656 450 3-p SOLID
ACs¥Cs2C="" 4125404  ~500. 7640 ° TEAP= 25.0 9,8762

Ep= . 000031 000029 -.000020 0008000 EPPR= L0303233 .0230023 -.000732

ST6E UYL Y1726 = e84ga~01 TG eT=02 SIGPR=  J.7982 9.1755 <2 37458
EL= 427 NODESs &14 420 621 515 650 636 657 651 £ 1250409 ° ) T TT T 7T 3apTsolln ] 45
XC,¥Ca20= 125404 150404 76,0 TEMP=  25.0 104249

Ep= 000031 000034 7 -,000030 ~.209000 EPPR= 2000234 .000033 -.000233

516= 10.067 10.442 56687 -, 87001-03 SIGPR= 10.554 13,327 L16391




“El= " A28 TNODESETTBTS ST 6T GTE 651657 UENE TOSYT MATETZT VOUE S PENEIL T=0 SOLID &5
XC4YCoZC= W 125+84 .250+04 7640 TeEMp= 25.0 TauMY=  5,1058 SIGE=  9.6522 o
EP= L000031 000025 -,.000029 L008000 «~ 0053317 -. 000024 EPPR= LO00J334 +000225 -. 000032
516= 8.9779 8.0029 20778 LE04L19-02 ~1.7197 -1.8254 SIGPR=  2.3775 _____B.1395 _ _ =.83401 __ _____
EL= 429 NODES= &146 4622 623 617 852 458 65359 653 WAT= 2 vOL= «1250+0% I=-D SOLID 45
B N TS A L 125+04 . 350+04 76.0 TEMP= 25.0 TAUMX= 6.2129 SIGE= 11.817
gp= . 000031 .000035 _ __ =.000033 .000000 L006538 ~,000027% _ EPPR= L000941_ . «0Q0DO32 -.000343
S16= 9.8155 10 444 -.18405 .55085-02 2.7762 ~1.8106 SIGPR=  11.276 9.9477 “1e1492
EL= 430 NODES= al17 423 624 618 653 659 660 654 MAT= 2 yoL=  ,125G6+09 i - - 3-p SDLID 45
NC,YC,2€= 125404 450404  76.0  TEMP= 235.0 TAUNXS  12.963 S16E= _ 22.63%
EP= R OES] . 0D0GE3 -, 000054 .000coT -.0060094 -.000023 E£PPR= . 000057 .000332 -.000070
51G= 13.804 21.754 L60E10 .50632-01 ~7.3131 “1.7777 SIGPR= 244070 13,952 -1.8572
EL= 431 WNODEST 4619 625 626 620 655 641 462 856 MAT= 2 VOL=  .1250+09 _ 1«p SOLID 45
XCa¥Cs78=  L375404 500. 76.0 TEMP=  25.0 TAUMAE  4.9776 S1GE=  9.8283
__Ep= . 000028 .000029 -.000031 -. 000000 ~-.00C303 .000025 EPPRS .000031 . 000029 -.00003%3
516= §.5056 B.6667 ~.61720 e 22719=02 =—425915 1.9693 SIGPR=  Bo.9244 B.66%4 -1,0308
g?gg EL= 432 NODES= &20 626 627 621 456 662 663 657 MAT= 2 voL=  .1250%09 e T 3-p SOLID 45
EX HC,¥Ca2C= 375404  L150+04  76.0 TeMp= 25,0 . TAUMX=E  5.2293 SIGE=  10.217 L
2 gp= L 000028 .D00D34 -.000031 000000 .000208 .000025 EPPR= »000034 .300031 -.000033
§16= 9,1237 9.,93463 -.223131-01 .23936=02 .587137 1.9678 SIGPR= 3.9991 24981 -, 45953
“iﬁz EL= 433 HODES= 621 627 628 622 657 663 664 658 MNAT= 2 voL=  ,1250+409 ) o 1-p SOLID 45
%ghq XCs¥Cs2C= 2375404 4250404 7640 Tskp= 25.0  © TAUMX=  5.0097 SIGE=  9.5826
= > EP= .000028 .000025 -.000029 ~.500000 ~. 000017 .000025 ERPR= .000032 .000026 -.000033
tﬂégg S16= B.0239 74896 ~. 80367 -.95250-02 +~1.3204 1.9622 S1GPR=  B.5275 7.5842 -1.4918
3%—3~EE= I:ET"'NOSES= &de 628 ey 623 558 G664 665 659  MAYT= 2 voL= L 1250+00 I~p SOLID 45
@ KTa¥Ce2C= 375404 350404 7640 TEMP=  25.D TAUMX=  6.2651 $1GE=  11.787
Ep= .000028 . 000035 ~, 000034 ~.000000 000036 .000025 EPPR= 000041 . 000030 ~.000040
$1G= 8.9058 9.9547 e 74477 -+31555-03 2.7799 1.9451 SIGPR= _ 10.769__ __ __ 9+3105% -1.7611 .
EL= 435 NODESS 423 629 630 624 659 665 666 680 MAT= 2 voL= 1250400 2-p SOLID 45
T AT, ¥L,IC=E S S7T5404 4SUFH4 750 TEMP= 2540 TAURYE 124952 S1GE= 22.6h3
EP= . 000029 000082 -. 00054 -.000001 -.000094 000025 €PPR= _ .000097 . 000033 -.000070
S16= 12.913 21.238  ° «60081-01 - 60342-01 -7.3102 1.9042 S1GPR="" 23.554 13,088 =2.4295
EL= 436 NODES= 425 631 632 626 661 667 668 662 MAT= 2 VOL=  .1250+09 ) B - I-p SOLID 45
XCo¥YC,IC=  .425404  500. 76.0 TEMP=  25.0 TAUMX=  5.5733 SIGE=  1D.437
TERT RIS Nl = Toe03d LOouTaan = 0o0903 ~.000DZ% EPPR= L 0000359 . B00D2Y ~.000033
$16= 10.590 G.8977 .72600 W51647-02  -.25E69 ~2.2787 SIGPR=  11.380 9.9018 «23193
EL= 437 NODES= 626 632 633 627 662 668 669 663 MAT= 2 VYOL= . 1250409 o 3-D SOLID &5
XL y¥CoIC= 625404 «150+04 76.0 TEMP= 25.0 TAUMA= 5.6024 SIGE= 10.815
Ep= . DODD3S 000034 -,000030 -.000000 .000008 -.000029 EPPR= 000839 . 000034 -.000033
51G= 11.502 11.167 1.37166 —.2hBEI-02 L58739 =2.2750 S1GPR=  12.006 11,172 «30167
EL= 438 NODES= 627 6337 634777628 643 669 &7D b&4  MAT= 2 TVOLETTT 1250409 ToT Tt Em s oo 3-p SOLID™ 45
_XCa¥CaICs  .625404 250404 7640 TEMP= 25,0 TAUMX=  5.5921 $1GEs  10.339 L
Ep= 77 L000036 .0006025 ~-.006023 000000 -.000017 -.000029 EPPR= »000039 000024 -, 000033
S$16= T0.431 BE.7349 652171 +TE6981T=-01 ~1.3791 -2.2738 SIGPR= 10,967 8.8793% ~.21673




TELE TA439 TTNODESE YR BT RN T APy T RAAT 6TO 671 T8RS MATE 2 VOLE  <1250+0% T=p soLi 55

KC,YCe2C= 625404 LJI50404 7640 TEMP= 25.0 TAUMX= 644130 SIGE=  12.312 R
EP= . 0000636 000035 -.000633 -.602000 0060038 -.000029 EPPR= 003343 .000035 -.000040
$16= 11.197 11.144 .52E53 ~e11423-01 2.7739 -2.2548 SIGPR= _ 124266 . __11-164 __ =.56029 _ .

_EL= 440 _NODES= 629 635 636 630 665 671 672 666 MAT= 2 VOL= _.1250409 3~p SOLID 45

XCo¥C2C5 625404  +450+04  76.0 TEAP= 25.0 TAUNXS  14.025 SIGE= 22,842
EP= . 000035 L300083 _  -.000054 +000001 -.000094 _  -,000028_ EPPR= 0033098 000037 ~-.03037)

EL= 441 NODES= 631 637 "43B 632 467 673 674 468 RMAT= 2 VOLs  L1250+09 - - I=~p SOLID 45

_HLaYC,2C= LR75404 500. 76,0 _  TEMP= 25,0 TAURX=  A.3797 SIGE=  9.6119
EP= . 00001y 000029 - 000025 -.003000 - 000003 .D0OD37 EPPR= .002032 .000025 -.000235
S$I16= 5.8109 7.4878 =1.4744 -.16176~01 -.25783 2.8334 SIGPR= 745072 L7696 -2.4523
EL= 442 NODES= 632 638 639 633 668 674 675 6690 MAT= 2 VOL=  ,1250409 o _ 3-0 SOLID _45
%Cy¥Ca2C= JB7S5+404 « 150404 760 TEMP= 25.0 TAURX=  5.3450 $16E=  10.043
__EP= » 000019 .006034 -.000029 .200000 .000008 .000037 EPpPR= »D032024 .000325 -.000335
516= &.5203 8.7599 =.87EBD W 741535=02 +58600 2.8279 SIGPR= 58154 7.3644 -1.8744

EL= 443 NODES= 633 639 &40 634 669 675 675 670 RAT= 2 VOL=  L1250+D9 ) 3-p SOLID 45

KCyYCaZL=  LB75+D4 250404 76.0 TEMP=  25.0 «  TAUNX=  4.8867 SIGE=  9.3440
EP= 000013 000025 -.000027 -.002000 ~.000017 000037 tPer= .000328 000322 ~.000335
SIG= 5.3043 6.3091 -1,7578 ~.26816-01 -1.7162 2.8362 S1GPR= 648525 5,9241 -2.9210

EL= 444 NODPES= &34 640 64" 635 670 676 677 671 MAT= 2 WOL=  .1250+09 o o 3-p SOLIB 45

KCyYCoZC=  4875+D4 «350+04  TéaD TEMP= 25.0 TAUMX=  6.3836 SIGE= 11,627
ge= 000019 +000035 -.000032 000009 . .00DD36 000036 EPPR= 000241 .000023 -.000341
§16G= 6.3454 8.8387 ~1.5582 «50839-01 2.7765 2.8981 SIGPR=  7.726% 6.9393 -3.0403

TELE R45 NODESE 635  S47 &4 636 Xk 677 G7EB 67¢e MAT= ¢ VOL= « 125009 3-Dp SOL1D 43

XCyYCe2C= 875404 450404 74.0 TEMP= 25.0 TAUMX= 13,051 SI6E=  22.5644 L
EP= .000D20 000083 T -.000053 -.000001 -.030095 .000035 EPPR= .002398 .000022 -« 000371
$16= 10.539 20,259 _ _ ~.67804 -, 10738 =7.3459 _ 246779 SIGPR= 224648  _ _ 13.925 _ ... ~3.453%

EL= 446 HODES® &37 643 644 638 473 479 68D 674 MAT= 2 VOL=  .1250+409 3= SOLID 45

TAC VL ICETT T 2Y0S. 500, 75.0 TENP= 2540 TAURR=  B.b77G SIGE=  15.048
EP= . 000057 .DDo029 ~-.000041 H00000 -.0092303 -,000049 EPPR= .000243% _ _ .000D27 -.000947
$16 T15.759 11.455° TT.57867 +35939~01  =424560 ~3.7687 SIGPR= 164545 11,458 ~31013

EL= 447 NODES= 638 644 445 639 &74 LBD 681 675 MAT= 2 VOL= «1250409 - - ) 3-p SOLID 45

XCy¥Cy2l= «112+05 150+04 Tha0 TEMP= 25.0 TAUKX= IR Fdi] SIGE= 15.2458
EPE L oouas Y ML) =, 00007 =.000000 - 00o007 =, 000049 EPPR= 0073063 .0J0934 ~«000347
S16= 164373 12.732 1.1754 ~«33051~01 257592 -3,.7680 slGpr=  17.262 12.751 26708

EL= 448 NODES= 6439 645 446 640 675 681 6E2 476 MAT= 2 VOL=  .1250+09 o i 3-D SOLID _45

TXCs¥Cy2C= 2112405 .250404 7 7640 TEMP= 25.0 TAUMX=  B.4768B SIGE= 14,934
Ep= . 000057 .00002S ~« 100040 »000001 -.000017 -.000049 EPPR= .,003063 .000326 - 000368
$16= 150292 T0.292 e30413 h5198-01  ~1.3007 ~3.78%% SIGPR=  16+214 13.413 - 73910

EL= 449 TNODELS= G40 &46° &477 7641 674 682 483 4777 maT=" 27 WOLE  .1250+00 T T 3=p S0L1ID 45

XC,¥Cy 205  .112+05 #350404 76,0 TeMp= 25,0 TAUMXS  B.86461 SIGE=  16.176_ o
EP= 0000546 T .000035 T ~+D00043 -.000801 00036 -.000048 EPPR= 0000362 «000038 -.008352

516= 15.770 12.618 «43855 “«113186 2.7593 =3.7473 SIGPR= 16,780 12.998 95201




SELETL50 TRODESE TBLT TG T EAE T BA T AT T GBI TTTERETTETR T RATET L VOELE T1eS0V0Y T=F SULTD 45
XC,¥YC,2C= 112405 Wh50+04 76.0 TENP=  25.0 TAUMX= 13,478 S16E= 244547 .
EP= . 000054 .000080 ~ -,000062 604001 ~,000092 -, 000045 EPPR= 0000355 .020257 -.000080
516= 19.183 23.082 1.0831 RITIY Y] ~7.1341 -3.4571 SIGPR= _ 25.337 194509 ~1,5586 -
EL= 451 NODES= 649 ¢55 656 650 685 651 692 o086 4AT= 2 vOlL=  .1250409 I-p SOLID 45
XCyYCy2C= L125+04  S00. 126, TLHP=  25.0 TAUMX=  4.6975 S1GE=  9.2877
__EP= . 000028 000028  __ -.00002% .boooc0 000013 -.000010 . EPPR= _ ,00003) ___ ,00002% -.,000331
S1G= B.8243 846351 -~ 28374 +17017-02 1.0315 - 77353 S1GPR=  B8.929% Be7114 ~ 46511
L= 452 NODES= &50 656 6577 651 684 692 693 487 MAT= 2 VOL= +1250+09 . 3= SOLID 45
_XC,¥C,2C= 125404 «150+04 124 LLIEMP=  25.0 TAUMX= _4.%251 SIGE= 945195
EP= . 000029 .000C34 -.000028 -.000000 -, 000811 ~.000010 EPPR= 000034 +C00039 -. 000929
$16= 99,8152 104588 W 866095 ~.75280-03 - B7365 -. 77213 SIGER=  10.573 9.8735 72320
EL= 453 NODES= 651 657 658 652 687 693 694 688 MAT= 2 VOL® 1250409 L 3-) SOLID 45
XC,¥L,2C= «125+04 «250+04 1265 TEMP=  25.0 TAUNMXE  4.6204 516g=  B.6263
EP= 000029 .000021 -, 000629 .000000 000006 -.000010  EPPR= .000030 000021 -.000030
516= 77152 6.3493 -143635 «83GE1-G2 40964 “, 76923 SIGPR=  7.7807 5o3804 ~1.4600
EL= 454 HNOBES= 652 6458 659 653 688 6%4 695 689 MAT= 2 voL= .1250+09 B o o7 3-p SOLID 45
AC,¥C42C= 125404 .350404 126 TemP=  25.0 « TAUMX=  5.9365 SIGE=S  10.937
Ep= .000029 000044 -.000032 000000 000006 -.000010 EPPR= L000D44 +000030 -.000033
$16= 10,779 13.030 11,2508 L7023%2-02 44900 ~.75482 S1GPR=  13.047 10.838 1.1741
EL= 455 NODES= 653 659 660 654 689 695 696 690 HAT= 2 VOL= «1250+09 3«p SOLID 45
XCs¥C32C=  +125+04 L4 50+04 126. TEMP=  25.0 TAUMX=  9,3113 SIGE=s 16,552
EP= . 000029 000054 -. 000042 000001 -.000072 -.000009 EPPR= 000066 .000039 ~.000055
$16= 10.667 14,417 - 46993 +49180~01 -5.553%7 -, 724L66 SIGPR= 164274 13.688 -2.3482
ELS  45E HOBES= 655 461 662 656 GUT G697 698 &9& HaAT= 2 VOGL= LT250%09 3=D SOLID 45
XC,YC'_Z‘:= « 375404 500. 12_6. TEMP= ZS.D TAUNX= 4.7929 SIGE= 9.‘0336_ ~
EP= . 000030 .000028 ~,000030 - .008000 000013 000012 ERPR= 000031 000029 -.000031
516> 8.9192 8.6511 -e33443 -.23418-02 1.03186 292404 SIGPR=_ 9.0453 ___B.7310 - 54052 .
EL= 457 NODES= &56&6 662 4663 6457 492 698 699 693 HMAT= 2 VOL= 1250409 3~p SOLID 45
AC YL 2L «375+04 L 150+04 126, TEMP= 250 TAURK= 49727 SIGE=  9.6598
Ep= . 000030 .000034 -, 000029 000000 -.000011 .000012 EPPR= ,000034 _ 000031 -.000030
TsI16= TT9.9131 10,504 JHB1T17 «23170-02  -.87347 « 92396 $1GPR= 19.593 9.,993% 54758
EL= 458 NKOGES= 457 663 “6&64 658 693 699 700 694 MATE 2 voL=  .1250+09 - I~ SOLID 45
XC,¥C,2C= 275404 L250+04 126 . TEMP= 25,0 TAUMY= L.7177 S1GE= §.78320 P
EP= ML DDESH LOUtn 2T = Ouon3s R INA) i TA 0U000TZ EPPR= .000037 000021 -.00003D
_$16= 7.7998 6.3564 -t.4206 - 958135-02 .50000 WH2169 SIGPR=  7.8921 _6a3868 =1.5433
EL= 450 NODES= 658 664 0665 659 694 700 701 695 HAT= 2 VOL= .1250+09 3= SOLID 45
KECLYC, 287 375404 350404 7 T126. TEMP=  25.0 TAUMX=  5.9770 SIGE= 11.057 o - ;
EpP= . 000030 L000044 ~.000032 -. 006000 000006 .000012  EPPR= 000044 . 000031 -,000333
§16= 10.295 13.054 Te2200 —e23982=02 V453554 . 60936 §1GPR= T3.072 13,979 1.1181
EL= 460 NODES= 659 665 666 660 T 695 701 702 696 MAT= 2 TVOL= T .1250+09 - T TUTTT T T T 3ep SOLYD 45T T
ACYC,2C= 375404 Lh50+04 126 TEMP= 25,0 TAUMXE  9.3242 SIGE=  16.429
Ep= . 000030 .000053 ~, 000043 -, 000601 -, 000072 000011 EPPR= .000065 000030 ~.000055
516= 10.784 14.408 -, 49701 ~.50133-01 -5.5483 LB6431 SIGPRT 164265 10.813 ~2,3832




CELE T AATTTNOTESE T EE T T EE T BB T AT T V0T T 04T 69T MATE e T VoLE L 126009 TS EOLT0 T 4%
RCa¥Ca2C= o 625+04 500, 126. TLMP= 25,0 TAUMA=  4.B472 SIGE=  9.4726
Ep= 00030 .000028 -.000029 000000 L0013 ~, 000017 EPPR= 000232 «030329 ~.000231
516= 9.1245 8.6094 _ ~e62501-01 L61148-02 _  1.0317 -1.2799 SIGPR=_ _9,3417_ _ _ __B.8B14 ___ =-.35271 .
EL= 462 NODES= 662 66F 669 643 4095 704 705 699 MAT= 2 yOL= .1250+009 T-p SOLID 45
TxC yC 2cE T 625404 .150+04  126. TEMB= 2540 TAUMKE 49667 SIGE= 9.6947
Ep= L000030 _ J000034____ ~.000028 ~-.3090C0 -,N00011 -.000016_ EPPR= _ 000034 _ _ 020031, =-.000230
$16= 10,114 10.662 1.0868 -.23125~-02 -.567252 =1,2757 SIGPR= 1D.767 13,262 +83375
EL= 463 NHODES= 663 669 470 “ 664 699 705 706 700 MAT= 2 vOL=s  ,1250+09 ” T rmmEETmoom i-p S0LID &5
_XC,Y¥C20= . 625+404  .250+04 126, __ _TgMP= 25.0 TAUMX=  4,7766 S16E=  8.8455
EP= .080030 .000021 ~. 606029 .003900 L0U0006 -.000017 EPPR= «022231 000021 ~-.0002332
SI16= 8.0342 645344 -1.1352 «17008~01 £49999 ~1.2801 S1GPR= B8.2111 6aS5643 -1,3429
EL= 464 NODES= 664 670 671 665 700 706 707 701 MaT= 2 WOL=  .1250+09 o . . 3=b SOLID __kS
XC,YCoZC= 625404  I50404 126. TEMP= 25.0 TAUMA=  5.9725 SIGE=  11.080
Ep= 000630 2000044 -, 000032 ~.500000 L090008 -,000016 EPPR= .000344 . 000031 =-.0007313
S16= T1.039 13.186 1.4386 -.75887-0¢2 YYYY] -1.2609 SIGPR=  13.204 11.200 1.2594
EL= 4465 NODESe 6465 671 672 666 701 707 708 702 MAT: 2 voL= + 1250409 - - T o 3=6 S50LID 45
XCsYC4ZC= 625404 450404 126 TEMP=  25.0 « TAUMX=  9.3541 SIGE=  16465D
EP= .000030 .000054 -.000042 .000801 ~. 090072 -.000015 EPPR= 000066 030233 -.000355
51G= 104902 14,5932 ~e29757 «83133~01 ~5.5537 -1.1929 SIGPR=  16.474 13.958 -2.2341
EL= 466 NODFS= 667 673 674 G688 703 709 710 704 MAT= 2 vOL=  .1250+09 - 3«p SOLID 45
XC,¥C,2C=  .B75+04  500. 126 TEMP=  25.0 TAUMX=  4.8107 S16E=  9,4022
EP= .000025 .000028  -.000029 -.000000 .000013 .000025 EPPR= _ ,DDDO3D «000027 ~,000232
$16= 7.5273 8.0361 ~78735 -e15507-01 1.0213 149653 S1GPR= B.2840 7.8293 =1.3372
EL= 467 NUDESE 668 8674 875 &89 704 710 711 705 RETE 2 VOL= < TZ50¥06 i-p SOLID &5
XC,¥C,2C=  L875+04  .150404 126, TEMP= 25.0 TAUMX=  5.0752 SIGE=  9a6614 _
EP= °  ,000025 000034 ~  ~,000028 .005000 ~, 200911 000025 EPPRE 000334 000528 -.000231
516= §.5143 9.8875 V36267 65724602  -.E7297 1.9603 SIGPR=  .9937 _ _ _B.9274 -.15663 )
EL= 4568 NODES= &69 &75 676 &70 705 71t 712 706 MA¥= 2 VWOL=  .1253+09 1wp SOLIB 45
HC VC,iC=  +E75+04  «250+0&4  12b. TEMP= 2540 TAUMKS  4.5%8) SIGE=  B.7092
EPs= . 000025 . 000021 ~.000029 -.002000 .020006 .000026 EPPR= 000328 000021 «, 080032
T 81G= 6.3834 5.7424° 7 T ~1.8796 -a23734-01 L9898 1.9757 SIGPR= 648385 5.7652 -2.3576
2
EL= 469 NODES= &70 676 677 &71 706 712 713 707 mAT= 2 VOL= 1250409 ) 3-p SOLID 45
XCy¥C, 205  B75+04 350404 124, TEMP= 25,0 TAUBX=  6.0642 SIGE= 11,094
EP= L000025 L O00%4 o R L000001 NEREDY .003025 EPPR= 00 b & .000028 ~.000234
516= 9.5183 12,489 «B0584 LAL059-01 45507 1.9442 SIGPR= 124512 13.02% « 33389
EL= 470 NODES= 671 &77 678 &72 707 713 714 7TOR  MAT= 2 VOL=  «1250+09 3=Dp SOLID 45
AC,¥Ca2C=  LE75+04 TL4SO404  126. TEMP= 25.0 TAUMX=  9.4282 SIGES 16,664
EP= . 000026 .00DDS54 =~ 000042 -.000001 ~. 00072 .000023 EPPR= 000266 .000027 ~.000356
§16= §LELh0 13,9438 = B4eTZ =564 =5.8%S 18015 SiGPR= 15.858 7,.7863 -2.9589
EL= 471 “NODES= &73 479 680 674 7 709 715 716 710 MAT= 2 TVOL= T .1250409 o T 3-D SOLID , 45
XLs¥C,y2C= 112405 500. 126, TEMP= 25.0 TAUMX=  7.107% S16E= 124882
T Ep= - 000045 .000028 -.000036 000009 032013 -.000041 EPPR= 2003050 .000323 ~.000242
S16= 124615 5.9967 o b 3154-01 .33556-01 1.03%71 -3,2600 SIGPR=  13.396 13.079 -, 82000




SR AT T TWODESE B TA T EED B YT ST TTYI0 T T T T T TT  MATE 2T VOLE U125 0% 09 I=p soUI6 w5
XCLYC,2C= «112+05 « 150404 126, TEMP= 25.0 TAUMX= 7.0160 S1GE= 12.9569
EP= J00N045 000034 -, 000035 -.003060 -.000311 -.000041 &PPR= .0080350 000034 -. 000940
516= 13.602 114549 _ 1.1895 - 3G076=-01 -4E8143 ~3.1&78 SIGPR= _ 144,386 _ 11.701 35371 _ o
EL= 473 NODES= 475 681 682 676 711 717 718 712 MAT= 2 WOL=  .1250+409 3«5 SOLID, 45
THCE V0 ZCF T L 112405 < 250+04 126, TEMP= 25.0 TAUNX= 7.0662 SIGE= 12.456
EP= « 000045 .000021 -.0600%4 .0GC001 . G00007 -.000042 EPPR= L000350 030021 ~.000341
§$16= 11.523 7.7314 -1.0277 «4L5038-01 «51117 ~1.2176 $16PR= 124301 7.7570 -1.8315
EL= 474 NODES= 676 682 683 677 712 718 719 713 #™MAT= 2 vyoL= 21253409 T 3=p SOLID 45
AC,YEy2C= «112+405 «350404 126, TLMP=  25.0 TAUMX=___7.1071 S16E=  13.824
EP= . 00D0G§ L000064 -.000038 -.000801 L0000 -. 000041 &tPPR= .000349 .000046 -. 000043
§16= 14.223 144247 1.5625 ~.10474 +h5265 ~3.1547 SIGRPR®=  15.021 14,205 « 80707
EL= 475 NODES= 677 683 684 678 713 719 720 714 MAT= 2 VOL= «1250+0¢ L _3=b SOLID_ 45
XC,¥C,2C= 112405 «450+04 126 TEMP= 25.0 TAUME=  9.6%903 S51GE= 17.998
Ep= 000043 . 000051 -, 000047 000002 -,00006% ~.000037  EPPR= 000364 « 000044 -, 000061
TE16= 13.731 15.029 -a2Z2E19 14274 ~5.3188 —2e84T76 SIGPR= 17035 13,842 ~243455
EL= 476 NODES= 685 &91 692 &86 721 727 728 722 MAT= 2 voL= 1250409 T -7 3=b SOLID &S
XCaYC42C= .125+04  500. 176 TEMP= 25.0 COTAUMXE  4,5072 SIGE=S  B.9642 R
EP= 000028 .000028 -,000029 003000 00013 -.000002 EPPR= 000029 0006928 -, 000027
$16= 8.4820 £.4609 - 30645 J16837=02 1.0284 417932 SIGPR=  B.5B835 Bab820 ~,43100
EL= 477 NODES= 486 492 693 4§87 722 7?28 729 723 MAT= 2 WOL= »1250+09 3«D SOLID 45
XCs¥C,ZC= .125404 +150+04 ~ 176. TEMP= 25.0 TAUMX=  4.5847 SIGE=  B.911S§
EP= . 000028 .000031 -.000027 -.500000 -.000013 ~.000002 EPPR= 000032 « 000028 -.000028
$16= 9.2039 9.6400 70202 -~ 68265-03 v ~1.0227 -217695 SIGPR= 97563 9,2369 «58278
TETE ATE  NOBESE  &87 4593 694  GBR V25 729 VIO T4 OMEYE 2 WOLE s T250%09 T=p SOLID 45
XCe¥Lqa2C= 125404 «25D+04% 176, TeMps  25.0 TAUMX= §.5427 SIGE=  8.7121%
EP= 000028 000022 -.000030 .000000 L00043 -.000802 EPPR= .000328 000023 ~.000931
$16= 744529 $.5278 C =1.4981 «86054-02 1.0179 -, 17878 SIGPR=  7.4567 646547 ~1.6287 _
EL= 479 NODES= 688 &94 695 689 724 P30 731 725 MAT= 2 vOL=s »1250+09 T-p SOLID 45
XCLYC,iC= 17504 . 3504074 176, TLAP=E 25.0 TAUMN = 5.0h43 SIGE= 10.321
EP= .000D28 000043 _ =.0100029 L000000 -, 000009 -, G00002 EPPR= 000043 .000028 -.000330
S16= 10.619 12.910 1.7198 «83034-02 - 77088 ~s16934 SIGPR= 124958 t1d.622 1.6691
EL= 430 NODES= 689 695 696 49D 7?25 731 732 726 MAT= 2 voL= «1250+09 3= SOLID 45
XE,YE,2C= 125404 450404 176. TEMP=  25.0 TAUVX=  7.2575 S1GE= 13.274
Ep= 000028 .000039 -.C0o036 .000001 -.[000%6 -.000002 EPPR= .000048 .000028 ~.000045
S$16= 9.0002 10.699 -, 97847 «47502-01 -4.,1084 =,14301 S1GPR=  12.120 Bo.0989 -2.3956
EL= 431 KODES= 691 657 698 492 727 733 734 728 MAT= 2 voL= « 1250409 I=p SOLID 45
XC,¥CylC= 2375404 5004 176. TEMP= 25.0 TAUMX= 44,6519 SIGE= 9.17%5
Ep= . 000030 000028 -, 000029 -.000n00 000313 00004 EPPR= L09003D «00002% -, 000030
S16= 9.1031 B.7506 -.56138~01 -.23170-02 1.0286 » 31733 SIGPR=  DG.1184 B.85645 ~. 18539
EL= 482 NODES= 652 698~ 69977693 77228 734 735 729 MAT= 2 voL= T ,1250+09 T T T T I-p sOLID 45
KCy¥Le2C= 375404 150404 176 TEMP= 25.0 TAUMX= 4.6107 SIGE=  9.,115%2
EP= . 000030 000031 -.0000627 .000C00 -.0006043 +000004 EPPR= 000032 <00003D -.000028
S16= 9.8283 9.9269 «25517 £ 22945-02  -1,023% 231749 SIGPR=  10.050 89,8342 82894




TELSTTL S T NG S E TR TGy T 00 80 AT 729 T 3E T 738 30T wATE T 2T VeLE U2 S0y I=B S0LIs 45
XC,YCyzC= 375404  .250+404 174, TEMP= 25.0 TAUMX=  4.7314 SIGE® B.9471 . . N
Eps= 000030 .aooppz2 -.000030 -,0020G0 .0002312 .000004 EppR= »0008333 .000023 -.000331
SIG= 8.0627 64+8078 __ =1.2523 -.9%803~02 1.0156 L W31722 SIGPR=  B.0743 ___ _6.93%9 -1.38688 I
EL= &84 NODESs 694 700 701 495 73D 736 737 731 MAT= 2 wvolL=  ,1250+D9 3~-0 S0LIB 45
XCaYCs2C=  +375+404 350404 176a TEMP= 25.0 TAUMX=  5,6603 SIGE=  1J.467
EP= . 000030 000043 __=+060030 -.000000 ~.010309 000004 E£PPR= LO000043%5, . .000323) -.030323)
§16= 11.250 13.202 1.984% ~.42283-02 ~.72509 L30498 SI16PR= 134249 11.259 1.9283
EL= 48% NODES= &95 701 7027 496 731 737 738 732 MAT= 2 VOL=  .1250+409 o - I 3-p SOLID 45
_XCaYLy2C= 375404 2450404 176, _TEMP® 25,0 TAUMX=  7.2538 SIGE= 134344
EF= L00003D L000039 -.000036 -,000001 -.070D5% ,00000%  £PPR= L000048 .00093) -.0000344%
SIG= D.6147 10.951 _ __ =.71991 =, 5760101 =4.2986 .27020 SIGPR= 124370 9.,612% -2,.1371
EL= 4%& NODES= 697 703 704 698 733 739 740 734 MAT= 2 WOL=  .1250+09 . . 3D SOLID 45
ACs¥YCy2C= L625+04 'SO0. T T 176e T TEMP= 2540 TAUMX= 4.5176 S1GE= 8.8977
EpP= . 000027 .00C028 ~, 000028 000000 0720013 -,000008 EPPR= L00032% .000027 ~,000329
$i6= Hei1430 B.3171 - L1287 L56502-02 10284 =2 65149 SIGPR=  Be4547 » 8.1730 ~+56048
EL= 487 NODES= &9& 704 7057 699 734 740 741 735 MAT= 2 volLs « 1250409 - T T TTTTTTT T T TT3.4p S0LID 45
XCyp¥Cy2C= 4625404  .150+#04 _ 126s TEWP=  25.0 . TALNX=  4,5046 SIGE= 845545 L
EP= .000027 000031 ~-.000027 -.003000 -.008213 -.000008 EpPR= .000032 000027 -.300228
$16= B8.8647 $.4970 «59752 -.20781-02 -1.0222 - 65685 SIGPR=_ 7.4202 8.9080 .43408
_EL= 488 NODES= 699 705 706 700 735 74% 742 7?36 MAT= 2 VeL= 1250409 3-p SOLID 45
XC,¥YCp2L=  +825+04  «250404 176, TEMP= 25.0 TAUMX=  4.,4790 $1GE=  8.6413
£p= . 000027 .000022, _ -.000D2% .000000 L000013 -,.000008 EPPR= _ 000027 000023 -.000331
$I6= 7.1341 643952 =1¢5944 « 1677401 1.0149 -.45755 SIGPR=  7.71885 £.5159 =1.7694
ECSREe ROGESs  vN0 708 VU7 70T 736 742 743 73T WATE ¥ WOLE  .1250+00 I-D SOLID 45
XC,YCs2C= «625+04 350404 _ 174, TeMp= 25.0 TAUMX= 5.6544 SIGE= 10,288 _
EP= ~  .000027 000043 -.000029 -,0060000 ~.333910 -.000008 EPPR= L000043 .030327 -.000232
$16= 10254 12.755% 1.5501 = 45349-02 =~ 73577 ~.863893 SIGPR=_ 12,804 10300 1.4954 .
L= 490 NODES= 701 707 708 702 737 7?43 744 7?38 MAT= 2 WoL=  .1250+09 I-p SOLID 45
ALy ¥CHLZE= «625+04 4 o0+04 76, TEMP=  25.0 TAUNWX= Te2B13 S1GE= 13.233
Ep= .000027 .000039 -.00003¢6 000001 -.00105¢ -.000007 EPPR= 000849 .000027 -.000745
T O516= T 8.4348 10.578 ~1.1042 W 8291701  =4.3106 ~.57486 SIGPR=  12.015 B.0411 =2.5468
EL= 491 NODES= 703 709 " 710 704 739 745 746 740 MAT= 2 VOL= 1250400 - T 3I~p SOLID 45
XC,YC,2C=  J875+04 500, 176 TEMP= 25.0 TAUMK=  4,7006 SIGE=  9.2439
EFE - 000028 L000028 = 0000ZE =, 000CUT LO00373 LO0U0GT8  EFPR= LUD033D L0000238 - 000337
516= 8.5724 B.5144 -.22315 =+ 14961-01 10265 1.3571 SIGPR=  B.B591 B.5467 ~.56205
EL= 492 NODES= 704 710 711 705 240 746 747 741 MAYT= 2 wOLe 1250409 3-p S0LID 45_
ACp¥Cr2C= " 875404 ~ 150404 1764 TEMP=  25.0 TAUMX=  4.7D04 SIGE= $.1958 t
EP= . 000028 . 000031 -, 000027 000000 -.103313 .000018B  EPPR= L000032 . 000027 -.0006329
$16= YT 9.6907 « 78540 258466-02  ~1.0209 1.3592 S1IGPR=  F.5638 7.43%0 246295
EL= 493 HODES="""705" 7117 7127770477 741 747 748 742 MAT= 2 T VOLE 1250409 ToTT e - T Ta-pTsoLlp 45
_JEC,YC,ZC=_ wB75+04 -_250*011 1‘?6- TEMPp= 25.0 TAUMY= ‘0-7"13 SIGE= 9'00;6 -
Ep= . 000028 .000022 -.000029 ~.000000 020013 .3J0D18  EPPR= .090330 .020323 -.000332
$16= 7.5C80 6.5730 ~1.4256 ~ 22471=01 1.0158 1.3709 SIGPRT 747294 £.6791 =-1.7532




SELETTAOL TTNDOESE YRS T PIE T T T T TR AR 74
XCa¥C,2C=

10.565
EPPR=
SIGPR= _

7157 716 T 710?458
XL YL ,2C=

13,454
EPPR=
SIGPR=

11.323

=av9se,

XL, YE,2C= 2150404 1764

EPPR=
S1EPR=

11.210
EPPR=

XC,YC,Z§=

SIGPR=

11.169
EPPR=
SIGRR=

499 NODES=

719 713 748
XCy¥CLZC2

350404 176,

12,120

EPPR=
SIGPR=

XCoYCy2C= 176
-.000039

144156
EPPR=
SIGRR=_ |

XLy¥C,2C=

XC,¥C4ZC=

B.1867
EPPR=
SIGPR=

7.8823

XCaYC2C= 250404 7 301,

EFPR=
SIGPR=

85627
EPPR=

NODES= ~724 7307 731 725 TT760

KCsYC,H2C=

FATET 277VOLE S1250709
TalUmMx= 5,7189 S16E=
-.000009 000017
MAT= 2 VOL= 1250409
TAURX=  7.3604 SIGE=
-, 000056 L000015
-4.7455 1.1971
WAT= 2 \DL= 1250409
TAUNX= 6,0738 SIGE=
.000013 -, 000015
1.0301 -2,7319
MAT= 2 VOL= +1250+09
TAUMX= 5.9473 SIGE=
~, 000013 -,000035
-, 27525=01 -1.02¢5 —ZuPehk?
MAT= 2 VOLS 1250409
TAUMX=  §.1547 SIGE=
000813 ~. 000036
1.0194 -2.7530
MAT= 2 VOL= 1250409
TAUMX= £.1948 “$1Ge=
-.N0000% -.000034
-e92533~-014 ~ 70638 -2.6608
WAT= ¢ VOL=  .1250+0%
TAUMX=  7.5488 SIGE=
-.000052 -.000030
-4,055% =2.3512
MAT= 2 VYOL=s .5000+09
TAUPY=  4.1254 S1GE=
L000006 L.000004
50243 $346D7
MAT= 2 YOL= T .50004%G9
TAUMY=  T,.9516 S1GE=
= 000308 . 000004
- 6040503 -60716 W34577
MAT= 2 VvOlL= «5000+09
TAUMX=  4.3058 SIGE=
L000013 .000004
1.005% RIYED
MAT=" 2 TvoL=s" ~ .5000+0%
TAUMX= 4 ,76480 SIGEs
-.000024 000004
-1.879¢ 34499

SIGPR=

BeBA41k
EPPR=
SIGPR=

T .000048 T
A2.577 ____1Da.456 ___



TELET 5057 NOUES=T V25

739 732
450404
000024
6.7225

733 734

76T T7ETTTVEET TETTTMATE T2 TTVOLETT L S000% Y

9.2549
EPPR=
SIGPR=

«300328

7.3162_ _

000026

. 7.0395

500.

000026 _ _

Ba3401
734 735

2150404

-.21818-02

8.3219
EPPR=
$16PR=

8.0202

«300028
3.5964

-000327
Ba35693

XC,¥Cs2C= + 125404
EP= .000025
S16= 7.033%9

__EL= 506 NODES= 727

AL YCa2C=  .375+0%
Ep= _ .000026
s16= B,5852

EL= 507 WNODES= 728

_XC,y¥Ey2C= £ 375404
EP= LD0G625
$16= 8.7946

Et= 508 NODES= 729

.000026
844730 __

735 736
+250+04
+ 300025

EPPR=
SIGPR=

8.6983
EPPR=E

000328
B.5084

«00028

.000326
fen182

«000D2S

XC,¥C,2C= «375+04
L EP=__ 2000028
§16= 8.0269
kL= 509 NOBDES= 730
XC,YC,ZC= «375+04
EP= 000028
§$16= 10.2%18

Ta5669

736 737
« 350404
«000034
11.100

~+930%90-02

~.860224~02

SIGPR=

Bo3245
EPPR=
S1GPR=

B.0409

«000234
11.488

7T.6821

000028
13.226

EL= 510 NODES= 731

737 738
«450+04
000024

7.053¢6

-.52552-01

9.3626
EPPR=
SIGPR=

000028
77414

- 000027
7.6301

739 740
500.

000026
7.6233

740 741

V9 T 7TS 776 77U

8.0318
EPPR=

SIGPR= __

«000027

7.6542

T .030024
71847 _ |

+150+04
.000026

7.7572

741 742
«250+04

=«71031-01 -«18166~02

7.7253
EPPR=
$1GPR=

8.4111

+0000246
7.8042

’

- 000024
7.3925

XCa¥C,y2C= 375404
EP= 000028
S1G= 7.7259

TEL=E  5TT RNODES=E 733

XCy¥Cy2C= 2540
Ep= 000024
S$I6= 7.1841

EL= 512 NODES= 734

XC,YC, €= +625+04
EP= « 000024
§16= 7.3918

EL= 513 KNODES= 735

XC,¥C,2C= « 625404
£e= JUUDWZY
§16= &.6547

EL= 514 NODES= 736

«000025

648695

742 743

2350404 T 307.

000034

EFPR®
SIGPR=

B,7439
EPPR=

000025
5.9907

.00D035

«000024

_be6334

000024

XC,¥C,2C= « 525404
EP= 000024
STI6= E.BTTS

EL= 515 NODES= "737

XC,YC,2C= -525"04
Ep= «000024

$16=  6.3932

10.786
743 7447 7?38 73

450404
000024

6.4331

STGPR=

10.775

9.1338
EPPR=
S1GPR=

2000023
7.0230

B8,8129

©.000024
6.3721

3-3 s50L1D

3~Dp SOLID

3=b SOLID

3«D SOLID

3= S50LID T 457



TELETTSTE TNODLSET 73T TAS CTLE T TAQT ITS PETT 7EY 776 WAYE TETUTVOLE e I=0 SOLID &%

XC oYL, 20=  LB875+G4  500. 301. TEMP=  25.0 TAUWX=  4,3067 S16E=  2.4151 i R
T Ep= . 000029 . 000026 ~.,000024 -.000000 000506 000006 EPPR= .030029 .000027 -.000026
S16= 8.9206 B.5070 __ +39356 -, 140%0~01 50045 _ e4BSTH _SIGPR= _ B.9AB7__ _  B.5372 __  .33531 o
EL= 517 NODES= 740 746 747 741 776 782 783 PP MAT= 2 vOL=  .5000+09 3=p SOLID 45
XC,YC42C= 875+04 L 150+04 307, TEFP= 25.0 TAUNMXT  L.1695 SIGE= 8.,7133
EP= 000029 2000026 ~.000024 _ .000800 ~-.000008 ___ .GO0D0S& __EPPR= __ 030929 ____ .000025, ~.000025
$16= 9.,1252 8.6390 .89223 24845902  -.60653 LE574 SIGPR=  9.1557 B.683% «31675
EL= 51B NODES= 74% 747 748" 74277777 PL3 784 7T8 MAT= 2 vOL=  L5000+409 - TtoTh T T - "3-D SOLID 45
_AC,¥C,2C=  JB75+04 L250404 301 TEMP= 25,0  TAU¥X=  4.5131 SIGE=  §.7B3D
EP= .000629 .000025 -.000028 -, 000000 .000013 000006 EPPR= 000029 000026 - 000329
$16= 8.3423 727352 =.51646 ~.20547-01 1.0041 49460 SIGPR=  B.3722__ 7.8528 -.643065
EL= 519 NODES= 742 748 T4 _ 743 778 78B4 785 779 MAT= 2 VOL= «5000409 o N i=D SOLID 45
XCs¥C2€= 875404 +350404 301, TERP=  25.0 TAUMX=  4.7407 S1GL=  9.00839
EP= « 000029 000034 ~. 000022 000000 -, 000024 .0D0000& _EPPR= .000038% .0p06z23 ~,000025
SIG= 10.6425 11.300 2.6212 2 21935-01 =1.8714 W4t327 SIGPR=E 114691 134645 2.2099%
EL= 520 NODES= 743 749 750 744 779 7ES  7RB& TED MATE 2 VOL=  .5000+09 ) ) - 3=b SOLID 45
XC,YC,2C= LA75404 450404 301, TEMP=  25.0 TAUNX=  4.8712 SIGE=  D.4939
EP= 000029 000024 ~-.000029 -.000002 -.000630 000065 EPPR= .000030 JDo0p27 -.000033
$16= 8.0%14 7.2177 -.91219 -.13016 -2.2901 .35953 SIGPR= __ B.2192 7.7009 -1.5232
EL= 521 NODES= 745 751 752 746 78% TE? 7BB 782 MAT= 2 VOL= .5000+09 . 3= SOLID 45
AL ,VC,2C= «112+05 500. T 301. T 7 TENP=  25.C TAUMX="  4.5153 SIGE= B,B8653 -
_ Ep= 000020 .000026 __  =-.000027 000000 .D00006 ~.000024 EPPR=  _ ,00002% .000026 -.000030
$16= 7.8615 7.9248 ~.33268 «28239-01 50237 “1.8406 SIGPR=  8.2750 7.9346 “u75559
EC= 522 ROBESE 746 752 753 747 782 T&B 789 783 wmAr= ¢ VOC= 500009 3~b SOLID 45
XC,¥L428=  .112405 .150404  301. TEMPs  25.0 TAUMX=  4.2973 SIGE=  B.5871 B .
EP= .000026 L000026 ~  -.000025 ~,000000 -. 000008 -.000024 EPPR= .000029 000026 ~.000028
$1G= 8.0672 8.0579 «15914 -.23828-01 =.60939 “1.8402 SI6PR=_  B.5035 8.0720 _ _-.29923 _
EL= 523 NODES= 747 753 754 748 783 789 790 T84 HMAT= 2 VOL= 5000+09 3-b SOLID 45
XCsYC12C=  =112+09 V25004 0T . TERF= 25.0 TAUMX=  Le7&ki17 §IGE= 9.2220
EP= 000026 . 000025 ~.000029 .00D000 L000013 -.000024 _ EPPR= _ ,000029 «030025 ~,000232
§16=5 ~ 7.3207 T 7.1768 T T =1.2127 «31320-01 1.0012 ~1.8641 SIGPR=  7.7718 T.2244 -1.7116
N »
EL= 524 NODES= 748 7?54 755 749 “784 7?90 791 7VES MAT= 2 vOL=S 5000+0% - - ) © 3=p SOLID 45
AC4¥Cg2C= 112405 L350+406 301, TEMP= 25.0 TAUKX=  4,9548 SIGE=  9.2784
EP= M LFE] La000 34 —. 000623 -.000007 —. 000023 -.000022 EPBR= .000036 -000327 ~.000028
$16= 9.2221 10.551 1.767s -.53264-01 ~1.8062 =1.7371 S1GPR= _10.964_ ___ 9.5257 _1.0506
EL= 525 NODES= 74% 755 756 750 785 791 792 784 MAT= 2 VOL= .5000+09 3-b SOLID 45 _ .
TECYYCSZCS 112405 T 4504047 T301. 7 TEMP= 25.0 TAUMX= 449423 SIGE=  9,3545 o )
EP= . 000026 .000023 - 000029 .0000073 ~.N00026 -.00001% EPPR= 000030 .000823 -.000233
516= 6.9175 6.5118 “1.5438 225117 -2.0310 ~1.4853 SIGPR= 746467 Geb b5 ~2.2379
EL= 526 NODES= 757 763 764 7758 T¥93 799 BO0 T 794 MAT= T2 vOL= T .5000+09 ToTTTT T T oo oTm T T TUUT3.p SOUID AT
XCy¥Cy2C= 125404  500. 501. TEMPs  25.0 TAUMX=  3.5190 SIGE=  7.0013 _ .
Tep=s T TTT.000022 .000023 - -.000022 000000 LNU0032 .000005 EPPR= 000023 .000p22 -.000023

c16= 6.8346 529251 -.81031-01 JALTRE-D2 .11715 239437 $IGPR=  6.93%20 6.8579 -.10611




TTEL= T827 TONOUESETT7SETT 764 TEST 7SV 794 TTR00T BO1TTFOST MATE & VOLE = 5300+ YY 350 SOCib 4%

AC,¥CeZC= 125404 150+04 501, TEMP= 25.0 TAUPNT  3.4124 S16E=  6.7273 .
Ep= 000022 .000021 ~,000022 -. 000000 -.030202 .000005 EPPR= .039222 030021 -.000022
SIG= £.7088 645290 _ =,66790-01  ~.4778B3=03  -.14749 L a39395 SIGPRE . 447320 __ 645318 . _..—e92891-01 ________
_EL= 528 NODES= 759 765 766 760 795 B01 802 796 MAT= 2 VOL= _ .5000+09 I-p SOLID 45
XC,¥Ca2C=  .125+404 .250+04  50%. TEMR=  25.0 TAUNX=  3.5025 SIGE= 7.5916
VEP= .000022 _ .000025 _ _ ~.000025 000000 .390006 _ 000805  EPPR= 000025 . .000222 _ =.D0J0225
§1G= 6.8091 7.23195 - L7827 «T9878-02 60853 «35105 SIGPR=  7.2740 5.8273 -.53103
EL= 529 NODES= 760 76& " 747 "761 796 8G2 803 797 MAT= 2 VOL= 5000409 o - ) 3-p SOLID 45
_XCa¥C,2C= 125404 350404 501, TEMP= 25,0 _ TAUMX= 5.4107 $1GE=  6.5950
EF= L, 000022 000027 - 060014 .000000 ~. 0006328 .000005 EPPR= 000025 .0J0322 -.000319
SIG= 7.7351 744850 ____ _2.0835 £85739-02  -2.0411 36524 SIGPR=  8.19%0 727270 1.3777
EL= 530 NODES= 761 767 763 7?62 797 803 804 798 MAT= 2 wvoL=  ,5000+09 L 3~D SOLID 45
XC,¥YCy2C= +125+04 LAS0+04 501, TEMP=  25.0 TAUMX=  3,4725 SIGE=  6.2281%
__Ep= . 006022 .000010 -.000022 .000008 -, 000905 .000005 EPPR= .000322 000012 -,030322
SIG= L6947 T.1344 “1.8799 < 36TIG-01  ~.36805 a3BB50 SIGPR=  5.0165 3.14812 -1.928&5
EL= 531 NODES= 763 769 770 7464 799 805 806 BO0 MAT= 2 voL= 5000409 - T 3~D SOLID 45
XC'YC'ZC"-' 275404 500. 501, TEMP= 25.0 ‘ TAgMY = 3.5028 SIGE= 649733 .
EPs 000023 .000023 -,000022 -.000000 .G6L0302 -.0L00005 EPPR= 000023 «020023 -.000022
SI1G= 7.2547 7.1909 $29287 -.19113-02 £131709 - 42584 SIGPR= _ 7.2B18 7.1924 26422
EL= 532 NODES= 7&4 770 771 765 800 80& 807 801 HKAT= 2 VOL=  .5000+0% ) o 3~b SOLID 45
XC,¥Cy2C= +375+04 «150404 501, TEMP= 25.0 TAUMK=  3.4305 SIGE=  6.7050
EP= 060023 .000021__  -.0D0021 .000000 ~. 009202 -.000005 EPPR= 000023 _  .000D2Y . -.000021
$16= 7.1311% 647923 »30876 1888802 -.147561 -+42553 SIGPR= 747579 b.7953 27899
ELS 533 HOGESE ~ 765 77T 772 766 BUT 807 BUS BOZ MATS & VOLE  .5000+09 i=p SOLID 45
AC4¥Cs2C= 375404 250404 501. TEMP=  25.0 TAUMX=  3.,8485 SIGE=  7.5549 i
EP= .000023 000025 °  -.000024 -.0006000 0002086 -.000005 E&PPR= «000025 2000023 -.000324
$1G= 7.2206 7.4952 -.10778 “ 9087702 490684 - 42195 SIGPR= 745326 __ 72399 _ _ =.16441 L
EL= 534 NODES= 746 772 773 P67 802 808 809 803 MAT= 2 VOL=  .5000+09 3-0 SOLID 45
ROy Y ITE T UITSY04 < 350+04  S0T. TERPS 250 TAOHRS 35740 SIGE= 6.5754
EP= 000023 000021 -.000014 -.000000 - Qo0024 -,000005 EPPR= .000025 « 000023 ~.000018
516G= B.1492 7.7429 24503 - 61487~02  ~2.0323 “+41519 SIGPR= B.4BS4 B.1214 147355
EL= 535 NObDES= 767 773 774 T6E EO3 809 BTO B804 MAT= 2 vOoL=  L5000+09 e 3~D SOLID 45
XC,Y¥C,2C= 4375404 WA50+04 501, TEMP=  25.0 | TAUMX=  3,4955 SI6E= 642339
EPE L 000023 . 00000 = 000027 =LunuaoT =, 0d0a6s =, 000005 EPPR= w 000323 . 000010 -. 000922
516= 5.3712 3.3574 -1.5436 “oh4411-01  =,35367 ~.41654 S1GPR=  3.3967 3,3827 ~1.5944
EL= 536 NODEST 769 775 776 770 BOS 811 812 806 MAT= 2 VOL= 5000409 I-D SOLID 45
T OKCaYCLZCE T L625404 5007 77 501, TEMP=  25.0 TAUMX= 3.5E804 SIGE= 7.0086 B - cT
EP= . 000021 .CO0023 -.000023 000000 .000002 .CO0005 EPPR= 000023 000021 -.000023
5ic= LTI G+5808 =BT L9957 -02 a577d Vhe2ds SIGPR= 645840 6.2691 -.575671
EL= 537 NODES= 770 776 7?7771 806 812 BT13 807 MAT= 2 VOL= 5000409 ’ o : I-p SOLIS 45
AC,¥C,p2L=  .625+04 150404 501. TLMP= 25.0 TAUMAE  3.3762 SIGE=  6.7278
EP= .000021 .0p0021 -. 000022 -.000000 -.000002 LON0COS EPPR= 000021 L000021 ~. 000022

S$1G= 6. T146 61827 ~.53403 ~s12982-02 = 14742 242303 S1GPR= 5.1883 6.1390 ~e56405




XIFTVAD ¥00d JO
. SIEOVE TYHIDIEO

“EL="TS38 TTNODESE VT 77 OIS TRTITTAQ7 CTBATTEIA TTROE MAYE T ¥ VOLET Y000V T=pTi0T1I0 AN

RC,¥Co2C=  LE25+04  .250+04 501, TEMP= 25,0 TAUMKE  3.9452 SIGE=  T«&117
EP= 000021 .000025 ~,000028 L0e0000 ,GGO006 .000605 EPPR= .D0d025 .000021 ~.000026
SIG= b.2292 6.9003 ~.54063 +15178-01 L9754 41875 S1GPR= 649343 ___ _ 6.2507 _ 499614
L= S39 NODES= 772 7?78 779 773 G808 814 815 BO% HMAT= 2 VOL= «5000+09 3-p S50LID 45
TR YC ICE | W 625+Dh  .350+04  S01. TehpP= 2500 TAURXE 34441 SIGE= 40068
LEP= 000021 .000021 _ =.000015 .00C000 ~a0027 .0000605 EPPR= .0oon2s 000021 . . ~.000220
516= 7.1433 741404 1.65193 41472-02  ~2.0528 b1222 SIGPR=  T.B8433 7.1443 71497
EL= S40 MNODES= 773 779 7&D 774 BOY 815 816 E&1D MAT= 2 VOL=  ,5000+409 ’ " T T 3=p SOLID 45
_XCpY¥C,IC=  .625%04 450404 501, _TEmMP= 25,0 TAUSX= _ 3,4220 SIGE= 641952
£Ep= . 000021 .000010 -.000023 000001 ~-.00000% .000D05 EPPR= .G00021% .000211 -.000923
$16= 4.4738 2.8551 _ _ =2.2871 «66942-01 ~,38137 «42550 SIGPR= 45017 _ 2.8824 ~2.3423
EL= 541 NODPES= 775 781 782 774 811 817 H18 812 MmAT= 2 VOL=  J5000+0D% L ) 3-D SOLID 45
XC,¥L,2C=  LB75+04  500. 501, TEMP= 25.0 TAUMX=  3.6749 SIGES 71143
L EP= _+000026 .000023 ~-.000021 -.600000 000002 -,000082 EPPR= 000026 .000023 -.000321
EL= 542 NODES= 776 782 783 77? 812 818 §&1% 813 MaAT= 2 vOL= .5000+09 ST - 3-0 SOLID 45
XCsYLyIC= «875104 «150+04 50% TEMP= 25.0 . TAUKX= 3.6033 SIGE= 6.8542 _
ip= .000025 000021 -, 000020 000000 -. 000002 ~,000002 EPPR= 000026 000021 -.000029
$16= &.0088 Tel445 «81350 L33403-02  -.14727 -.16817 SIGPR=  8.0128 7.2478 «  «80621
EL= 543 NOpES= 777 783 784 778 813 819 820 814 MAT= 2 vOL=  .5000+09 o I-p S0LID 4S5
XCy¥Cp2C="  LATSHN4  «250+D4°  501. TEMP= 25.0 TAUMX=  3.8703 S§166=  7.6737
EP= - 000026 .000025 ~. 000024 -.000000 000006 _  ~,0000062 EPPR= _  ,000026. . 000025 -.00032¢4
$16= §.0895 7.9488 <3954 ~.18260-01 «49903 -.16113 SIGPR=  8.0998 7.9746 35929
T E{= T 8L4 T NODES® F78  7BL 785 VTYBYL 820 87T BI1S MAT= 2 VOL= RN I=D SOLID &5
XC,¥YC,2C=  .875+04  .35D0+04 __501. TeEMP= 25.0 TAUMX=  3.4070 SIGE=  6.7132 )

EP= . 000026 .000021% -.000013 .000000 -.000026 -.000002 EpPR= 2000026 000025 ~.000018
S$IG= 9.0688 B.2110 _ __  2.5800 .37415-02 -2.0318 _ =.179D6 SIGPR= 940934 _ _ _B.BBTO . .  2.27%% .
EL= 545 NODES= 779 785 786 780 815 821 822 816 MAT= 2 VOL=  L5000+09 3=p §OLID 45

KC Y¥CylC=  WB75t04  +450+04 5071, TENP= 2540 TAUPY=  3.65602 SIGE=  6e4574
_Ep= 000026 »000010  __ -.000621 -.000002 -.000005 -,000003 EPPR= .0000256 .030010 -.000321
SI16= 6.1305 3.6880 0 7 TT-1.1408 ~.13188 436988 -~ 22857 SIGPR=  4.1436 31,7108 «1.1763
EL= 546 NODES= 781 7&7 "788 782 B17 823 824 818 MAT= 2 WOL= 5000409 T T T %«p SOLID 45
XCo¥Cy2C=  ,112405  500. 501, TEMP= 25,0 TAURX=  3.4096 SIGE=  6.3851
EPE TOO0T%6 Lo0nd023 = 000020 Lobaao0 LUo0u02 =~ 0000311 EPPR= L000023 .030017 -.000221
$1G= 5.1666 6.2610 —JA3484 «23222-01 «13756 -.82053 SIGPRE 642639 _  5.2843 -.55541
EL= S47 NODES= 782 788 7BY? 783 818 824 825 819 MAT= 2 vOL:  .5D00+09 3= SOLID 45
XCy¥YCa2C= 112405 150404  T501. TEMP= 25,0 TAURX=  3.2097 SIGE=  6.,0948
Ep= . 000016 .000021 -.,G00020 -.00000D -.030002 -.000011 EPPR= .000221 L02I0317 -.0009320
51G= 5.0562 5.8669 —2h2241 <, 16920~01 -.15133 =.82792 SIGPR=  5.8705 5.15699 -o54884
EL= 548 NODES= 783 789 790 78477819 825 824 820 wmaT= Tz voL=" | L5000+09 T T o - T-p 50010 45
XCy¥Cy2C= L,112+05 «250+04 _501. TEMP=  25.0 TAUMX=  3,7840 SIGE= 6.9876 _ _ _—
Ep= 000076 000025 -.000023 .000000 L020006 ~.000011 LPPR= «003025 2000216 -.000324

$1G= 51169 ba5634 -«£2426 «+21164-01 o464 -083692 SIGPR= 6.5975 5.2310 —972240




TEL=TTS49 TNODEST PB4 TTROUTYGT TS T £207 B ETTEZT THATE & WOLE L 5000%0% =3 SOLiB &5

XL, ¥C,2C= . 112405 350404 501 TeMP=  25.0 TAUNX= 31,2089 S1GE= 5.9723%3
EP= 000015 000021 -.000012 .0D00000 -.008225 -.000D0% EPPR= 003225 «220316 -.000017
$16= 5.8948 6.7646 1.6044 «11432-01 ~1.9374 -.70400 SIGPR® _ _T+4478 _____ 549460 LB7002 _ N
EL= 550 NODES= 7B5 791 792 7E6 821 B27 B28 822 MAT= ¢ voL= L5000+09 3-D SOLID 45
XC,¥Cs2C= 112405 LL50404 507. YEMP= 25.0 TAUMX=  2.975¢ SI1GE= S.4453
v EP= 000017 «300011__  -.0G0020 .DO0004 -.008003 -.GO06B07 EPPR=  __ .DD30018 __ 000812 -.020321_
S16= 3.6687 247063 -2.0614 32291 ~.21113 -.56531 SIGPR=  3,8284 2.6083 -2.1233
EL= 551 NODES= 793 799 800 794 " §29 8357 836 B30 MAT= 2 VOL=  ,5000+09 -t T 3-p SOLID 45
XL ¥YCy2C= 125404 500. 701. TEMP=  25.0 TAUNKS 2.£922 SIGE= 5.7767
EP= 000619 000019 -.000019 000060 000001 030003 EPPR= «003319 000019 -.000019
§1G= 5.7252 57220 _ __ =.35854~01 »13028-D2 «110619 «23211 SIGPR= __5.7370_ _ _ 5.7277 -k 7304=-01
EL= 552 NODES= 794 800 801 7?95 830 836 837 831 M¥AT= 2 VoOL= +5000+09 ~ L 3-p SOLID 45
XCy¥C,2C= «125+04 150404 701. TEMP= 25.0 TAUNK=  2.8947 SIGE=  5.7533
Ep= . 000019 006018 -, 000019 ~.000000 -~ 030000 .000003  EPPR= 007019 000018 -,000319
§16= 5.6476 5.5800 -s12710 ~a25695-03 ~214055-01 .23230 SIGPR=  5.6569 5.,5801 ~. 13846
EL= 553 NODES= 795 801 8027 794 831 837 838 832 MAT= 2 WoL= .5000+409 - T sormen T "3=-p SOLID 45
XCy¥C,2(= . 125404 «250+04 701. TeEMP= 25,0« TAUllk=  3.1231 §16E=  4.D985
£p= 000019 000021 «.000020 000000 .000001 00003 EPPR= 000021 .000017 -.080029
SIG= 5.8791 6.1932 -~ 41305-01 «$9916-02 LETTHS-01 23004 SIGPR= 641947 5.8877 -.571453-01
gEL= 554 NODES= 796 &07 803 797 832 838 839 BI3Z MAT= 2 WOL=  L5000+09 . ) 3-0 SOLID 45
XCy¥C 2C= 125404 «350+04 ~ 701. TEMP=  25.0 TAUKX=  2.3979 S1GE=  4,5401
Ep= 000019 «000012 __  -.000009 .000000 -.0G001E 000003 gPPR=  ,00001% _ »000015 -.000012
516= 5.1696 5.091% 1.9457 £ 66716-02 ~1.4154 22473 SIGPR=  6.18%0 £,6250 1.3932
EL=S " SSTTROPESE 797 503 CBO4 798 B33 B3V ERU B34 KATE 2 WOL= L SU0U+09 I<0 SO0Lio &5
XC,YCq2C= 2125404 450404 701. TeMpPs 25,0 TAUMY= 2.5C30 SIGE=  5.%038
© Ep= T .000019 .000005 T -.000018 »000000 000087 000003 EPPR= 000319 000005 -, 000019
¢ 8I6% 347455 Te6412 ~1.9534 «31636-01 257184 +22516 SIGPR= __3.7558 _____ 1.727%_ _ ~2.0503, _
sv EL= 556 NODES= 799 805 806 800 $35 841 842 B3& MAT= 2 VOL= .5000+09 3-p SOLID 45
KCsYCs2C= 375404 500 707 . TEMPE 2540 TAUMY= 2.9245% SIGE=  5.6347
EP= 000018 .000019 _ =-.000018 -.000000 +000001 -.000G0&4 EPPR= . 000313 _ 000019 -.000018
T 516= 5,7735 5.8124 +18550 -.15800-02 «11033 - 29897 SIGPR®  S.8166 5.7875 16740
EL= 557 NODES= 800 806 BO7? BR01 E36 842 843 837 KAT= 2 VOL= «5000+09 7 e o7 3=D SOLID 45
XC,¥C,2C= 375404 150404 701. TEMP=  25.0 TAUPXE  2,8179 $1G6E=  5.6135
EF= LO000TE -000018 - UO000T8 .000000 - 0DOG0T0 - 000004 EPER= .000017 .000018 -, 000018
$16= 5.6998 5.6707 «95723-01 «15146-02 ~-.13580-01 -.29817 SIGPR= 57157 5,6707 «79870-D1
EL= 5S& NOPES= 801 BO7?7 BOS 802 837 843 844 B38 MAT= 2 vOL= 5000409 ) i 3= SOLID 45
XCyYCeZC= 2375404 T L250+04 701. TEMP= 25.0 TAUMY=  3.0596 SIGE= 5.9559
EP= 000018 .00on21 =-.00n019 -.0000380 000004 ~-.000004 EPPR= .000021 000019 -.000919%
sTG= £ 9243 2783 “177T%Y L TERET=0? VE9T65-01 229540 STGPR=  becoBU0 S.0390 16087
EL= 559 NODES= 6§02 808 809" 803 838 844 845 839 May= 27 wvoL=" " .5000+p9 ~T°° -7 — . T Tm 7T - 3~ SOLID 45
AL ¥Ca2C= 375404 L3150+404 701. TEMP= 25,0 TAUUX=  2.3345B SIGE= 4eh238 o
EP= 000018 000012 ~  ~-.000008 -.000000 -.N00018 -.000004 EPPR= 000019 000015 -.000211

SI1G= 642236 541833 2.15B8 ~.41292=-02 =1.4077 ~+28778 $1GPR= 6.2586 5.7174 1.5893




TELSETTS6UTNODESS 803 BU9T BTT BUL B3IY  BAaS  E46 BLUT WMATETT?TVGLE +200T+09 I-0 SOLID 45

_XC,YC,28=  J375+404  L450404 701, TENP= 25.0 TAUMX=  2,8323 SI1GE=  4.9772 _ _ L o e
TEp=" .DO0018 »000005 =.000017 -.000000 L000007 -.000004 EPPR= L000019 000006 -.000318
L SI6= | 3.7753  _ 1.7099 _ -1.7645 =.36910-01 __ _.57970 _ _  ~.28694  SIGPR=  3.7923 1.8007 ~1.8723 e
EL= 561 NODES= 805 811 812 806 841 847 848 842 MAT= 2 VOL=  .5000+09 3=p SOLIDP A4S
XL YL 32C=  .625+04 500, 707 TERP=  25.0 TAUNK®  2.9B50 STG6E=  5.952¢
__gf__ »000018 _  .000019 _ -.000020 ___  .000000 ____ .C00DQY ____ .000005__EPPR=_ _ _,000019 _ _ .070018 ___ =-.000020_
§16 S.4521 5.5041 -.43061 L h1562=02 «11102 +39869 SIGPR=  5.,5104 S5, 4747 . 45955
EL=""5627 NODES=" 806 81277813 807 8427 B4E 849 B43TTMATE 2 TvwoLETTTISQ004GY T35y soLIp a5 7
XC,¥L,2C0= wh25404 » 150404 701, TEMP= 25.0 TAUMX= CaPTLT SIGE= 59312
EPc .D00078 .000018 -.000020 -.000000 -.000000 .000D005 EPPR= .000019 .000018 -.000020
S1Gz . .2e3723  _ 5.3626  _ Ta32345 | =o41472-03 _ ~,13862-01 _ _ .39769 _ SIGPR® _5.3992  _ __5,3626 _ _ __=.55018 _ __ .
_EL= 563 NOpES= 807 B813_ 814 G808 BA3Z 849 _ 850 B44_MAT= 2 VvOL=  ,5000+09 . e 3=D SOLID 45 _
TRCLYE,2€5 T L525+04  L250%04 704 TEMP= 25.0 TAUMX= 3.2213 SIGE=  6.2775
EP— 000018 000021 ~« 000021 000000 .000301 000005 EPPR= 000021 - 000019 -.000021
S16= 5.6147 5.9811 -. 43273 +13366-01 «85633-01 «39319 SIGPR=  5.9832 5.6351 -.45930
ElL= 3564 NODES= 808 B14 'B157 8097~ 844 850 851 845 "mAT= "2 vOL=TT 5000409 T T T TTT T OMTTSST Talp sOLI0 45T
XL YL, ZC=_ .625+04 _ 4350404 _ 701, TCHP=  25.0 o TAUMX=  2,4723%1 __  SIGE=  4.4839 o .
EP= .000018 0000127 =,060010 »000000 -.000018 +000005 EPPR= 008019 000015 ~.000013
516= 5.,4033 4.8735 1.5614 C W3ABO0-02 -1.4269 38421 SIGPR= _ 5.9510 5,3725 1.0047
EL= 565 NODES= 809 815 816 810 845 851 852 845 HAT= 2 VOL= 25000409 o _ o _ . _3=D SOLID 45 _
TXCH¥Cy2CFT 4625¥04 T S4504047 7010777 TUEMP=T 25.0 T TAUMX="  2,9748  SIGES T 5,2437
_Ep=__«000018  _.000005 __ -.000019 _____.D00GOT _  _ .000007 ____ .000005__EPPR=____ .000013.___ .00000& __ ~.080020 _ _ o
S16= 3.5353 1.4831 “2.,2798 256997~01 .56025 +38380 SIGPR=  3.5648 1.5585 ~2.3848
EL= 566 "NOGES= &T1 ST7 BT 812 847 853 BSL  BLE MAT= 2 VOL= «H000+09 3I=-b SOLID 45
_XCYC,2C= J875+04  500. 7017. TEMP= 25,0 TAUMX=  2.9356  SIGE=_ 5.7039 _ o L L
EP=""""777,000021 77T TL0000179 =L000017 T -L0000007 .000001 -, 000005 "ERPPR= .000021 000019 -.000917
LS16= 66041 6.2779 _ . 786%4  _ =.10016-01_ _ 10967 ~,38352 S1GPR= _ 6.63D1 6.2792 «758R2
EL= 567 NODES= 812 818 B1% B13X 8B48 854 855 849 MAT= 2 vOL= «5000+09 3=-p SOLID 45
RO VL LS q75+0% 15004 70%. TERP= 2540 TAURXE  2.5402 SIGES 5.6843
£EP= 000021 .D00018 -.000017 _ 000000 -.000008 _ -.000005 _EPPR=___ ,DDDD23  __ .000018_ _ =-.000017. _
TBYGE T6.5281 7T T 6413807 T T Tl 69744 T 41564202  -.14015-D1 ~.38162 SIGPR= 6. 5529 TE,1380 TL87254
EL= 568 "NODES= B1377 819" 820" B14 "849 855" 856 850 "MAT= 2 VOL= T L5000+409 " T TUUTTTT T T T ottt e T SOLID T 45T T
XCy¥Cy2C=  .875+404  .250404  701a TEMP= 25.0 TAUMX=  3.0141 SIGES  6.0076
EP= MY .000029 =, 000018 -.ooo0od .000001 -.000005  EPPR= .000021 .000021 ~.000018
SI6= 647472 6.7487 _ _ WT7823 -.16821-01 +8B962-01_  —.37838 _ SIGPR= _ 6.7853 _ __ 5.7358 o «75305 L
EL= 569 NODES= 814 B20 821 815 B850 856 857 851 MAT= 2 vOoL=  .5000+09 o e ... .. 3=p SOLID 45
TOREYYCLZCR W 875404 T J3S0+04 T 7017 TEMP= T 25.0° T 7T UTAUMX= 204752777 Ts1GE=" TL.5814 A
[p= . 000021 .000012 -.000007 ~.000000 -.000218 ~-.000005 EPPR= .000021 000015 000311
T16= T.0705 5.6500 Ze 7680 —.621186-02  ~1.4060 “~.38438 SIGPR= 71182 6.2005 2e1677
TEE=T 570 TNODES=" 815 78217 B227TB14 TB517T857T 8587 BS2TUMATETTXTVOLE T L5000309 TTT3-T SoripT WS T
XCo¥C,2C€=  B7S+404  L,450+404  701. TCMP=  25.0 TAURX=  2.9476 SIGE=_ 5.1379_ o R e
TUEPETTTTT 000020 T T T.000005 T = 000017 000002 308008 =, 000005 ~ EpPR= .000021 +000025 -.000017

$1G= 4o h275 2.0102 -1.2080 ~+11281 a5E121 ~a39400 SIGPR= 464630 240948 =1.4301



http:xC,'C,ZC.625.04

TECETTSTTT ORODFSE GV €237 B2h BY8 T BS3T 859 863 T B5% WATS YolL= . 5600%09 3=0 SoLID 4%

XCy¥La2C=  .112405 500. 701. TEMP= 25,0 TAUMX=  2.6567 SIGE= 448742 }
gEp= 000011 L000019 ~.000016 009000 030201 ~.000002 EPPR= «00001% 030311 -,000216
516= 3.6630 4.9010 _ =ah8372 217666-01 11029 ~.12753 SIGPR=  4,903%4 _ __  _ 346668 . -e46994 ..

EL= 572 NODES= 318 824 825 819 854 860 861 855 Hal= 2 voL=  ,5800+09 3-p SOLID &S

TXC,¥C, 6= 112405 150404  701. TEMNP= 25.0 TAUMX®  2.6590 SIGE= 4.B376
EP= _ 000011 .000018 __ -.000018 -.000000 ~-.{00000 -.000002 EPPR= .000018 » 000011 ~, 000016
'S1G= 3,5772 4.75%8 ~.55344 -.17333-01 -.19541-01 ~a13495 SIGPR= 47601 3,5814 ~.55792
EL= 573 NODES= 819 825 825 B20 B55 861 862 £56 MAT= 2 VOL=  .5000+0% oo s s I~D SOLID 45
_XCy¥CyaZC= L 112405 250404 701 TEMP= 25,0 TAUMX=  2,8190 _BIGE=  5.2321

Ep= .000011 0006621 -.G00017 .200000 . 030001 «.000002 EPRR= . 023321 +000011 - 000317
$16= 3.7747 5.3494 = h8129 W 17738-01_ «94521-01 ~.13093 SIGPR= 5¢3591 L 3.77B4 . ~,4B8487

EL= 574 NODES= 820 B2& 827 821 656 862 863 BS5T MAT= 2 VoL=  ,S5000+09 o . .. 3D SOLID 45

AC,YCq2C= +112+05 350404 ~ 701. TEMP=  25.0 TAUKYS 1.9745 5I1GE= 3.6218
Ep= . 000010 000012 -, 000007 000001 - docaz -.000000  EPPA= 000016 ,000010 ~-.0003010
51G= 40317 4.3104 1.3882 6547101 ~1.32%1 -2 3282601 SIGPR=  4.8311 4,0251 87414

EL= 575 NODLS= 821 827 8287 822 857 863 864 858 MAT= 2 VOL=" 5000409 oo T 3=b SOLID 45

AC, YL 2C= «112+405 450404 701. TEMP= 25.0 . Thunx= 2+3145 S1GE= L1842 .-

EP= 000012 .000006 -.000014 000004 0003068 000000 EPPR= +000213 .000D0% -.000017
§16= 2+2525 1.2442 -2.1472 « 335954 SN «33189-02 SIGPR=  2.3647 1.2490 ~2.2443

EL= 576 NODES= 529 835 836 4830 865 871 872 866 MAT= 2 VOL= . 5000409 o B 3= SOLID 45

XCyYC, 2C= 125404 500. 901, TEMPE  25.0 TAUMX = 2.3010 SIGE= 4,5823
Ep= 000015 .000015 _  =~,000015 .000000 .Q00c0t .000002 EPPR= 000015 +000015 -.000015
$16= 4,5579 4.5205 ~a33496~01 «11179~02 +10353 «13431 SIGPR=  4.5623 4.5225 -.390768-01

ECE— 577 NODESS B30 836 B37 B31T 8§66 872 873 867 WAT= £ VOL= - 5000+07 3-Dp SOLID 45

XCy¥CeZC= 125404 «150+04 901, TEMP= 25,0 TAUMEE  2.3502 SIGE=  4,6830
EP= 00005 000015 ~° -.0C0015 L000000 .booD00 «000002 EPPR= « 000015 +Q00015 -. 000315

_ 816= 4.5623 4.5994  =.97149-01 $ 2704704 +31555-03 13447 _ SIGPR™ 45994 __ha5862 _ _ =,10103 ___ _ _

EL= 578 NODES= 831 837 838 832 847 873 BT4 BER MAT= 2 VOL= 5000409 3-p SOLID 45

HCsVCsZL= .Te5+04 2e50+¥04 9071 TERF=  25.0 TAUMXE 23141 SIGE= 4,5853
EP= 000015 .000816 -.000014 .0oaaao -. 000001 .000002 EPPR= _  .0000%5 000015 -.000014
" 516= 4.7384 4aB8272 77 T W20662 «40810-02 -.90986-01 013299 S1GPR= ~ 448291 44,7421 .20093
"EL= 579 NODES= 8§32 838 839 "B33 B&B 874 875 BEQ wAT= 2 yoL= .5000+09 o7 3-p SO0LID 4S

XCoa¥C,2C= 4125+04 3504046  901. TEMP= 25.0 TAUMX= T.6614 SIGE=  2.9292
Ep= 2 OUUTTS . 00008 = ouuoaos LgaGons = 0000ty «O000Deé EPPR= 0000758 . 000008 -. 000004
516= ha?5417 3.3899 1.6996 +51479-02  ~.70842 «13014 S5IGPR=  4a7601% _ 3.6461 Tu%373

EL= 580 NODES= 833 839 840 &34 B69 875 876 B70 KAT= 2 OL= +5000+09 I=b SOLID 45

XCya¥C 2C=  125+04 ~ 74504047 901a TEMP=  25.0 TAUMX= 2.4856 S1GE= 4.4073
EP= 000015 000003 -.000015 000060 .000014 000002 EPPR= 000015 .000005 -.000217
€TES Z. 7357 .B3&37 =i 8612 vor2ET-01 1.06¢F6 213109 SI1GPR=  2.7415 1.16919 -2.2297

EL= 581 NODES= 835 8417 842 “836 T B7V 877 87& 8727 MavT= 2 wvOoL= Ls000+09° " 77 77T T T o3-p sOLID 45

XC,¥€,2C= LT75+04 500. 901, TEMP=  25.0 TAUMX=  2.2257 SIGE= 444149 i
Ep= 7 .000014 ° .000015 ~ =-.000014 - . 000000 .000001 -.000003 EPPR= 000015 000014 ~-.000014

SIG= beb452 445245 «86902~01 ~.12329-02 10316 ~s 19427 SIGPR= b,5273 hah534 «75875-01




S EU=TUSE? CNOCEST BIE T BAY T EES 837 T8V 8T8 TETYTTETI UMATE 7 O VOLE 5000707 ITEEOTIE LS
XLaYCe2C= 775404 150404 9201. TeMp=s  25.0 TAUMX®  2,2938 S16E*  4.5180 i .
Ep= 000014 000015 ~  =.000014 L006000 W absladehole ~. 000003 EPPR= 000015 000014 ~.000014
slG= 44529 L.6034 c24619-01 1009702 2325G9~03 ~=.15408 SIGPRS  4.6034 _  4Jh6&14 216130-01
EL= SB3 NODES= 437 843 5E44 B3B B7I 8F9 BEO0 874 MAT= 2 y0L= .5000+0D9% 3-p SOLID 45
TROLYC,2C=  L375+04 L250+04 801, TEMR= 25,0 TAUMA=  Z2.2574 S1GE=  4a54150
EPs 000014 L000016___ ~.000014 - .Gponoe -.005301 _ =-.000002 EPPR= _ «080216 _ _ 40003714, =, 000214
5I'6= 446239 L8289 232424 -.66732-02 =-.89701-01 -.19137 SIGPR=  4.8287 4.6323 «31395
L= 584 NODES= 838 844 “B4S5T B39 B74 BEO 3871 875 MAT= 2 VOL=  .5000+09 ot s 1-p S0LID 45
XC,¥C,Z2C=  .375+04 350404 501. _YEMP= 25.0_ TAUMX=  1.5655 SIGE=_ 2.7687
£Ep= . 000014 .0G0006 -.000004 ~.o0d000 -.00733489 ~,000002 EpPR= 030014 .000008 -.000006
516= hob54k 3.4002 _ 1.8138 “,22359-02 -.70280 - 18670 SIGPR= 46683 3.6627 1.5374
Et= 585 NODES= 839 B45 §4& B840 3875 &B81 882 876 MAT= 2 vVOL=  .5000+89 3-0 sOLID 4%
XC,YC,28= «I75+04 «450+04 T 801. 7 TEMP=  25.0 TAUMX= 2.3918 SIGE= 4,2526
Ep= . 000014 .000003 -.000014 -.000000 .020014 -,000002 EPPR= 000044 030305 ~.000917
$i6= P YEE w83277 -1.762% -.3D0536~01 1.0607 ~.18609 SIGPRS 206371 1.2053 ~2.1466
EL= 586 NODFS= 841 847 B4B H42 G777 883 8B4 B87% MAT= 2 VOL= L5000+09 T I-b SOLID 45
XCy¥Ca2C=  .6254D4 500, 901, TEMP= 25.0 (TAUMX=  2.4405 SIGE=  4.8265 A
Ep= 000015 000015 ~. 000016 .000C00 .ootost +00C004 EPPR= -000D15 <000015 ~-.000016
51G= L4BS? 43941 ~43523¢ .33062-02 10392 231127 SIGPR=  4.5065 4e3054 ~.37455
EL= 587 NODES= 842 848 849 843 878 8BB4 B85S BT7Y MAT= 2 VOL= .5003+09 I~p SOLID 45
’ XEy¥C42€C= «025404 « 150404 901 . TEMP=  25.0 TAUNMX= 2+4728 SIGE= 4.9284
gggg EpP= 000015 000015 000016 002000 +000000D 000004 EPPR= 000015 000315 -.000317
§¥f53 51G= 4L.4B84 4.4737 - 61749 »57249-03 10563803 31928 S1GPR=  4.5083 4.4737 = 43736
gg EE:L= B8 NODES= 843 BLY HSU B%4 B7Y B85 S8¢ 8¥0 mAT= 8 VoL= R OBENL] I-b S0LID 45
g PR YC, 202 L625404 «250+04 901, TEMP=  25.0 TAUNMXE  2.4192 SIGE=  4.8297
B gp= 000015 000016 -.000014 L000000 ~,000501 008004 EPPRE 000016 .000015 -.0000%6
%% ;3 $16= 4.6727 4.7047 ~-.10842 = 113:24-01 ~.93314-31 +30871 SIGPR=_ __4.7083  __ . 4.6908 _ =,1300% __ . __ ___..
?ﬁ GIEL= 589 NODES= B44 B50 851 845 B8BO BE6 8§87 531 MAT= 2. voL=  ,5000+0% 3-p SOLID 45
CIRT, YL 2CE 62504 . 350+04 U0 . TEMPE 250 TAUNK=  1.7873 SIGE=  3.1494 ,
éﬂ b= EP= 000015 000006 -.000006 .2002002 -.032309 000204 epPrR= _ ,000013 030008 -.00p0008
£16= 4Lob745 3.2609 13966 W15687-02 - 71617 30043 SIGPR= ~ 4.7049 3.4967 1.1303
EL= 590 NODES= §45 8571 852 G846 &§81 837 B8B 882 mMAT= 2 voL=  L5000+09 - ) 3-3 50110 45
AC4¥C,20= .625+04 «450+404  9D1. TEMP= 25,0 TAUMXS  2,5024 SI1GE=  4.6087
EF= IR E] L Jo0u03 = 0e0TTs L OaoaT MO BET LCD5004 EPPR= LG6000713 L, 000305 -.000378
SIG= 2.7048 75422 ~2.1149 45673 -01 1.,0525 «295419 SIGPR= _ 2.,7297 _1.0875 -2.4751
EL= 591 NODES= 847 853 B854 848 883 B89 890 B84 MAT= 2 VOL= 5000420 I-) §SOLID 45
T XL, YC,ZC= 275404 ~ 500. ~ T 90%. TEMP= 25.0 TAUMX= 2.2512 SIGE= 44022 T B
Ep= 000016 .000G1s - 000013 -.D0G00D L0002 -.000006 EPPR= 308016 000015 -, (00013
SiGe PRI 4.93¢6 “hB823 = 782TE-02 102ee <. 43580 SYGPR= 5.1457 45335 54322
EL= 592 MNODES= 84§ BS4 855 849 BB4 B0 £91 885 MAT= 2 VoLLs  L5000+0% 7 L TV IR T IR L I -
XLy YL 20% 875404 150404 501, TEMP= 25.0 TAUMX=  2.7819 SIGE=  4.4971 . .
TEps 000010 -000015 -.000013 ~, 003000 .000300 -,000306 EPPR= «D03016 L000015 -.200213
S1G= 521676 5,0131 262745 ~ 50457 -03 W 1EH73=03  =,434B4 51GPR=  5.1454 5,0130 258564




~EL=S$3 T NODESSEEYT BSS BT ESUT BBS TTRYTTES2T 88T MAT= 2 volE T TIS000%09 <D SULID 45

XCa¥Ca2C=  LB75+404  L,250+04 901, TEWP=  25.0 TAuNX=  2.2180 S16E= 443989 )
Ef= L000016 000016 -.000012 -.000060 -.000801 -.000006 EPPR= .000318 000318 -.000013
5§16= Se.2744 5.2409 _ «92575 -.15155~-D1 ~.B89818-01  =.43170 S16PR=_ 5.3174  _ 5.2422 | _.B881M1 R

ELe 594 NODES= &50 856 657 851 886 B892 B93 887 MAT= 2 ¥OL=  L.5000+09 3-p SOLID 45

TRe,YCYICETT LRT504 350504 907« TENP= 2540 TAUMXT 146561 SIGE=R  2.8044
Ep= . 00016 .000006_ __-.000003 ~-.000000 -.006009 | -.000006 . EPPR= .000016 _ _ 000008 -.000005 _
§IG= 5.3139 1.7974 2.4048 -.10512=-01  =.70045 ~s 43028 SIGPR= 543819 4.0705 2.0637

EL= 505 NODES= B851 857 858 852 637 893 894 883 MAT= 2 VOL=  .5000+09 - T T T 3~p SOLID 45

XC,¥C,2C=  LRP5+04 4450404 901, _ TEMP= 25.0 TAUMX=  2.4582 _SIGE=  4.3221
€Ep= . 000015 . 000002 -, 0060613 -.000001 .000014 -.000005 EFPR= L0000 4 «020005 -.000014
S16= 3.1056 10771 _ . ~1.3149 -.10097 1.0703 -.41793 SIGPR= _ 3.1666 _ _ 144511 =1,7499

EL= 596 NODES= &53 859 B&0 B854 889 B9S 896 890 waT= 2 voL=  L,5000+09 . 3~p SOLID 45

XC,¥C,2(= 112405  500. © 90t. TEMP= 25,0 TAUMX=  2.1170 s16f=  3.300%

Ep= . 000007 .000015 -.000012 .000000 .0a0001 .030005  EPPR= .000215 000007 -.000313
§1G= 745598 3.7191 = k6028 .12126-01 Ci62350 236523 S1GPR=  3.7219 2.6027 -.51211

EL= 597 NOLLS= B854 B840 Bé1 B55 890 B96 £&97 891 mar= 2 VoOL= L5000+09 - T o TmEr T 3-0 SO0LID A4S

XC,¥C,2C=  L112+405  .150+404 901, TEMP= 25.0 . TAUMX=  2.1815 SIGE=  3.903¢
Ep= . 000007 . 000015 -,000013 -.Do0000 -.000000 .0D0DaS  EPPR= 000015 000007 ~.000013
§16= 2.5496 1.7909 -.53004 -a 1439301 -.59123-02 34138 SIGPR=  3.79211 2.5913 -.57190

EL= 598 NODES= 855 B841 862 856 891 B97 898 892 MAT= 2 vOLs 5000409 3-p SOLID 45

XC4¥C,20=  .112+405 L.250+04 901, TEMP= 25.0 TAUMK= 2.1543 SIGE=  3,.,8350 " B
Ep= . 000007 .000016 ~.000012 .0C0000 -.000001 .000005 EPPR= .000018 _  .00D0O7 -.000012
§16= 2.6939 4.006% -.25267 £ 17855=01 —=.797461-01 37092 SIGPR=  4.,0084 2.7398 ~.30018

— TS SYYTNODESY B56 BGZ T B85 457 892 BYRTEYY 893 WATE 2 VOL=  L500D+09 ¥=p SOLID 43
EP= .0o0an? +anpooar -, 000403 000001 -.0300439 .000005 EPPR= L000009 .000008 -, 000505
S516= 2.7470 2.6866 1.1482 LP9740-0D1  -.66106 42171 SIGPR®  2.9554 _ _ _2.8187 _ _ .80771

L= 600 NODES= BS7 863 864 858 893 899 900 §94 MAT= 2 QL= .5000+09 -5 SOLID 45

ACe ¥CaiC= TIT2R05 AT 0T, TERP= £5.0 TAUMKE 20333 SIGE= 3.6728
EP= . 002009 .000004  -.000013 000004 +020N014 +000005 EPPR= +00001t _ «0DDDDS -.000015
$16= 1,3689 .50851 -2.0400 +31B59 1.0518 $38211 SIGPR=  1.6318 54074 ~2.4349

EL= 607 NODES= 865 871 872 866 901 907 908 902 MAT= 2 VOL=  «123D+1D 3-p SOLID 45

%C,¥C.2C 125404  500. 2125406 Te¥P= 25,0 TAUMA®  1.2615 $16E=  2.5%123
EFE < O0UoUE L OTG008 =, 00000% LO00a60 L B0n00 .000001 EPPR= .000008 000008 ~. 060008
S1G= 2.4792 244591 -.37103~01 .B8575-D3 6497601 L.76482-01 SIGPR=  2.4819 _  2.4504 -.61111=-01

(L= 602 NODES= 866 B72 873 867 902 908 90% 903 »aT= 2 VOL=  .1250+10 3-p SOLID 4S5

A€, ¥C,28=" 2125404 .150+04° T.125+404 TEMP= 25.0 TAUMX=  1.3184 S1GE=  2.6037 " ) "
£Ep= « 00006 . 000002 -. Q00008 L000000 -.000001 .0DOBDY  EPPR= .00000Y «QDDDOE -.000DD8
TIGE 2. 5TE? 7571 STLSE =0T w32456-03  —e52 kB 9=0T 7621601 SIGPR=  2+95882 C.5204 -ehB745~01

gL=" 602 NODES= B67 B73 B747 868 903 909 910 %04 MAT= 2 VOL= 1250410 - - et 3-D SO0LID &5

XCs¥Cy2C=  o125+04 » 250404 .125+04 TiMp=  25.0 TAUMX=  1.1540 SIGES  2.2648

T T Eps= T L000008 .080008 -.000007 000000 -. 003001 000007 EPPR= . 000008 .000008 -.000007

$1G= 2.6219 2.5340 +32035 «49947-02 =o565082~019 2 75030-01 S5IGPR= 2ab244 245354 «31646




TEL= TEC4TT NOoES=TUEETTEVL T BYS T B6Y T 04T 9107 911705 T MAT S 2 T VOLS +1250+10 I=DTS0LTDT 45

XCsYCp20= 4125404 » 350404 125404 TeEmP= 25.0 TAUMY= L7279 SIGE=  1.3017
EP= LO00508 .G00D61 -.000001 000000 000302 .000001 EPPR= .000008 000002 «, 000001
$16= 2.5313 1.4221 141855 «39579-02 +16013 «74011-01 SIGPR=  2.5355 1.5136 1.0699

kL= 605 NODES= H69 &75 B76 B70 905 911 912 906 MAT= 2 VvOL=  .1250+10 3-b SOLID 45

TNEYYC, 20ET LIS L 450+07% 125404 TERPT 2500 TAUMYE 17459 SIGES  3.3438
Ep= ¢ . 000008 .000001 -.000009 000000 000018 .000001  EPPR= 000008 .000006 ~.000314
$16= 1.2662 +17801 -1.4209 £21331-01 1.3760 27B925-01 SIGPR=  1.2783 095911 -2.2138
EL= 606 NODES= 871 877 878 872 907 913 914 908 MAT= 2 vdL=  ,1250+10 ) 3~p $OLID 45
XKCa¥YCo2C=  o375+04  500. 125404 TEMP= 25.0 TAUMX=  1.2162  SIGE=  2.3959 ) o
TTeps T T LUWUGOST .000008 T ~.o00d08 T TTSLo00%000 L003001 T <.000001 EPER= .0000G08 L000308 -.000308
SI16= 2.3611 2.4330 .13438=01 -.82042-03 b4 795-01 -.99875~01 SIGPR= 2.4340 2.3651 J7h741-902
EL= 607 NODES= §72 878 #79 B73 908 914 9§15 909 MAY= 2 vOL=  ,1250+10 3= S0LID 45
£C,YC,2C= +375404 «150+404 "7 125404 TEMPT  25.0 TAUMX=  1.283) SIGE=  2.4839
__EP= « 000508 L0200009 ~« 600008 .000000 ~-.0320001 -.000091 EPPR= .003009 2000058 -,000208
§i6= 24026 2.5458 L60171-02 «53192~03  -.52255-01 =u994%6-07 SIGPR= 2.566% 2.4067 .83202~03

EL= 608& NODES= 873 879 880 874 909 915 916 910 MAT= 2 VOLT 1250410 3=p SOLID 45

AC4YC 2C= 375404 250404 «125+04 TEMP= 25.0 TAUMX=  1.0753 SIGE= 241474
EP= 000008 .000008 -. 000006 -.000000 -.000001 ~-.000001 EPPR= 000008 .0000608 -.0D00D04
$16= 2.5025 2.5100 36774 - 45053-02  =,5557]-D1 -.97824-01 SIGPR= 2.5124 2.5969 36180

EL= 609 NODES= 874 8B0 881 B75 910 916 917 911 MAT= 2 WOL=  «1250+10 3-p SOLID 45

XCy¥LaZL=  L375404 350404 125404 TEMP= 25.0 TAUMX=  L66754 SIGE®  1.183%

EP= .0C0008 000081 _ ~a000000 -.000000 000002 -.000001 EPPR= .000008 _ «000002 -.000301
51G= 24274 1.4085 1.2129 -.10097-02 15070 ~.96287-01 SIGPR=  2.4352 1.5135 1.1001
TELE 610 RODES= 875  SBY BEZ 876 TYTT 917 97TB ~9YF TMAT= T2 VOLE + 1250410 3-D S0LID 45

XCyVCy2ZC= 375404 450404  .125+4D4 TEMP= 25,0 TAUMX=  1.6847 SIGE=  3.2527 )

EP= 000608 0000017 7 -.000009 ~.D0B00D 000218 -.000001 EPPR= .000008 000006 -~ 000014
516= 141590 215442 -1.3B0% -.23314-01 143711 -e10054  SIGPR=_ 1471831 _ _ +93575 _ =2.1862 _ R

L= 611 NODES= 877 883 §&B4 EB78 913 916 923 914 MAT=S 2 VCL=  .1250410 3<D SOLID 45

XC YE,2IC= 625704 300 TE5+0h TERP= 25.0 TAUNX=  1.3907 STGE=  Z2.7237
EPs= . 00009 +200008 -.000009 .000002 2030001 000002 EPPR= .03220% .020008% ~.000309

T s16= 245143 24055 -a24213 .23891-02 +55165-01 17861 SIGPR=  2.5252 2.4068 ~.25524
f

EL= £12 NODES= 878 B84 B85 879 914 920 921 915 MAT= 2 VOL=  .1250+410 3-p $OLID 45

XCy*L,2C= 625404  .150+404  .125+04 TEMP= 25.0 TAUMX=  1.41356 $1GE=  2.8135
EP= . CU0409 300009 - 000009 . 005000 -.037301 «0000D2 EPPR= 002009 000309 ~+020209
57 6= 245531 245351 -e250%4 L15687-02  -.52967-01 17813 SIGPR=  2.5644 2.5360 -. 26321

kL= 413 NODES= 879 855 886 BBO 915 321 922 916 MAT= 2 vwOL=  .1250+410 3~p SOLID &%

XCy¥C,20= ~ ,4625+404  250+04 2125404 TEMP= 25.0 TAUMX=  1,284D SIGE= 2.4784
EpQ . D0000Y .000028 - 000008 000000 -.0300021 000002 EPPR= .529330%9 . 000008 -, 000908

TTETG6- 26620 24838 VL 86054-02 ~e57736-01 «17587 SIGPR=  2.6751 2.4351 10723

EL= 414 NODES= &B0 886 587 "881 916 922 923 917 MAT= 2 woL= ~ 21250410 - Tt 3-p SOLID 45~ 7"

WCy¥CyZC= W525404 .350404 125404 TEMP=  25.0 TAUYX= 84288 S16E=  1.4907
Ep= L00060% L 300091 -.000002 .000000 .023302 -000002 EpPR= .0332909 .000001 -.000902

$16= 205572 13455 97577 +36964-03 «17338 ___e17221 SIGPR= 2:5761 1.4321 .89030




TELE TSRO S BT T R T T AT B I RO T 18T AT E Ve = 1250410 3-b SOLID 45
ACa¥Ca2C= 625404 450404 »125+04  TeMP= 25,0 TAUMX=  1.857%14 SIGE=  3.4926 o
LP= . 000009 .G0B001 -.000010 L000L00 .000018 .000002 EPPR= 000005 . 000005 ~-. 000015
S$16= 123163 15205 _ =1.5825 «234E6~01 1.376¢ LW 17195 _SIGPR=  T.3530 _ _ _LEB558 -2.3497 _ e
EL= 416 NODES= 883 889 B8%0 8&4 919 925 926 028 MAT= 2 wpL=  ,1250+10 3-0 SOLID 45
TRO,YES2TETTTUATSINA 500, 125404 TEMP= 25.0 TAUPYX=  1.1835 SIGE= 2.5340
EP= «20CO0s .000s08 -. 000006 ~. Q06000 . 000001 _ =.000005__ EPPR= .000008__ . .000008 -.000007
S1C= 2.6938 2+6893 T 46383 T =~.58077-02 64534-01 -.35880 SIGPR=  2.7433 2.6B74 «39428
EL= &17 NODES= 8§84 850 " 8971 "8BS 920 926 927 921 MAT= 2 voOL= «1250+10 N T T 3-0 SOLID 45
YC,¥Ce2C= «875+04 «150404 «125404  TEMP=  25.0 TAUMA=  1.2742 SIGE=  2.4163
TTEPE Y - 000009 . 00d6o7 — 006000 EGTOTHE; ~.000005 EFPR= .000009 +000008 ~-. 000007
$16= 2.732% 2.8182 . 245786 -.29346-02 -.51813-01 ~.38871 SIGPR=  2.8207_ 27961 «39218
‘L= 418 NOBES= @85 891 892 B8B86 921 927 H28 922 MAT= 2 yOL= «1250+10 ~ ) 3-D SOLID 45
XC,¥C,2C= «275+04 2250404 TTUL125404  TEKP=  25.0 TAUMX= 1.0783 S1GE=  2.0931
EP= . 200008 000008 -.000005 -.000330 ~.000001 -.000005 EPPR= .000008 «000008 -.000005
TTXIGE T EZ.8296 2elbbh .B8178% ~e121B0-01 -.56330-01 ~238613 SIGPR= 2.9012 2.7680 a 74465
vL= 619 NODES= BE6 BP2 893 887 0622 928 929 92T MWAT= 2  VOL= «1250+10 ) T 3-p SOLID 45 77
XC,¥Cs2C=  LB75+04 «350+04 «125404  TCHP=  25.0 TAUMY= 73760 S1IGE>  1.33%5
Ep= 000008 .000001 000001 - .000000 000002 -.000005 EPPR= -000009 000002 -.00000%
S16= 2.7603 1.6467 1.6440 -.10236-01 18313 =-,37801 SIGPR=  2.8796 1.74670 1.4044
EL= 620 NOBES= BE&7 893 894 888 923 929 930 24 MAT= 2 VOLs 21250+10 3=b SOLID 45
XC 4 ¥C 42C= 875404 WE50404 «125404 TEMP= 25.0 TAUMX= 1.7450 SIGE=  3.24B4
EP= . 000008 .000001 -.000008 -.000001 .00No18 ~.000005 EPPR= . «D00009 .000008 -.000013
S1G= 13747 28912 -1.0512 - 7249501 1.3814 -.35624 SIGPR= 1.5524% 099777 ~1.9375
EL="62T NOGES=E &S8% 895 896 BYO 925 93T 932 9726 ¥ATE o VoUE NYEVRAT, 3«Dp SOLID &5
XCs¥CyZL= 112405 500. 125404  TLHPE  25.0 TAUMK=  1.3402 SIGE= 245228 )
Ep= .000003 -000008 T T-,000007 .000000 000001 000011 EPPR= +000008 000005 -.000009
S16= 1.2045 1.9307 ~36326 «65589-02 «53B67-01 286182 SIGPR= _ 1.9347 _ 1.5827 - 745862 _ .
Ll= 622 NODES= 890 896 897 891 926 952 933 927 MHAT= 2 vOL= «1250410 3-p $O0LID 45
P (P o STTZ¥05 S T5U%0% JTZS30% TTENPE T ST TAURX= T 4073 SIGEE  £.5072
Ep= - (100003 .080009 -.000007 =.000000 ~-. 000001 .000011 EPPR= +003309 -000006 _ _ -.000009
§16= 777 1.2282 2.0492 T T ,37434% =~ B4754=-02 -.51461-01 oB&242 S16PR=  2.0518 1.6022 «, 75094
vL= 62% NODES= 891 897 B98 892 027 933 0T4 928 MAT= 2 vOL= «1250+10 N - - 3-D SOLID 45
xC4¥C,2C= .112405 « 250404 .125404 TEMP= 25.0 TAUMX= 1.2310 SIGE=  2.3332
FEs P ITITES ~000U0E =, UTUUUS LT L]4) =. 000007 LU0UOTT EFFR= « 000008 0000066 ~.000008
S16= 1.3078 1.9994 -a.37961-01 1704001 ~.51628-01 88362 S16PR= 2.0009 1.7295 ~ 6107
EL= 624 NODES= 892 898 B899 893 928 934 935 929 MAT= 2 VvOL= «1250+10 3-0 SOLID &5
XC,¥C,2C="7 4112405 £350+404 125404 TEMP=  25.0 TAUMX= JE9R17 SIGE=  1.5568 )
Ep= «C00G03 .000002 100000 .000001 000002 «000011 _EPPR= 000008 0000017 ~.000004
$1G= 1.269% 59582 <1558y RELETX) S8 L NE] SIGPR=  1.9248 95713 12847
EL= 625 NODES= 'B93 B899 903 894 6§29 935 036 933 ¢al= 2 yoL=  L1250+10 - . T T T 3apTsoLIp 450 7
XC.¥L,2C= « 112405 450404 «125404 TEMP=  25.0 TAUMX= 1.7988 SIGE=s  3.1831 _
T TEP= 060005 .000002 -,000008 000003 200017 000010 EpPPR= 000010 000002 -.000014
S16= 6712 -.26273-02 -1.5395 24030 1.2894 274538 SIGPR=  1.2230 <T6508=01 =2.3746




—EC=" 825 NOBESEPUT 907 908 U2 937 ~9&3"T 044 9F8 TNATE T 2 TVOLS T250+ 10 355 s0LI0 4S5
XE, ¥y o2C0=  .125+04&  SDOD. »175¢04  TEMP= 25,0 TRUMK= 24254 S16E= 47916 .
TEp= -.00000¢2 -.0068002 ~°  .000001 000000 .0000C0 .G000OD1  EPPR= .000002 -.000002 -.000002
__S10= -.49033 -. 49085 _=e24561-01 L64236-03  L43726-02 +56339-01 SIGPR= ~o17885-01 =-.A49089  _=.50297_ ____ o
EL= 427 MNODES= 02 908 909 003 938 944 945 939 MAT= 2 VOL=  L.1250+10 3-D SOLID 45
TXC,fCyiC= 2125404 w150+04 2175404 TERPS 2540 TAUNX= W24801 SIGE= J4B8223
EP: -.000502 -.000001 _ _ .0Q00D1 .0poooo -.000001 .000001 EPPR= .000002 . =-.00000% . =.000002
stu s —W4B0090 —.45288 ~214758-01 »55954=03  =,77607-01 L.55055-0% SIGPR= o4AR525-02 =~.46223 - 49117
EL= 628 NODES= 903 909 910 904 939~ 945 946 940 MAT= 2 VOL=  ,1250410 ° sz T 77T 3-=p SDLID 45
XC,¥C,28= «125+04 +250404 2175404 TEMP= 25,0  _ TAUMX= «384586 SIGE=  ,72485
E3= —. 0000072 YTl aYip . 00gaoe3 . o00can .000001 L 000031 EPPR= 000003 -. 000302 ~.000302
§16=  =.41722 _ _=e51506 «23879 «42255-02 J63722-D1 «54986-01 SIGPR= 224870 =.42178 «l.52041
EL- 429 NODES= 904 910 911 905 940 946 947 941 MAT= 2 VOL= 21250410 L _ 3-D SOLID 45
Xe¢,¥C 2C= « 125404 35040477 T J1P5404° TEMP=  25.0 TAUMX= £97064 SIGE=  1.7048
Sp= ~. 000002 ~,300004 000004 «003039 L03023190 008031 EPPR= .033335% ~.0302302 =.030306
L1G= =.h1BES -af5150 whfd33 31014~02 275092 LGLEA6=DY SIGPR=  oB3277 ~e42030 «7.1085
L= 630 NODES= 905 911 912 906 941 947 948 B42 MAT= 2 VOL= +1250+10 - - A I~-p SOLID 45
XC,¥Cy2C= . 125404 2450404 L175404 TEMP=  25.0 TAUMX=  T.2400 SIGE=  2.1524 o
EP= ~. 000002 »000000 ~.000001 .000000 000016 000001 EPPR= .000007 ~-.000902 -.000009
SIG=  =.&BBBT -o42507 - 67029 $14250-01 1.2324 .59958-01 SIGPR= 50256 ~ 68963 ~1.7873
sL=  &31 NODES= 907 913 914 908 943 949 953 944 MAT= 2 WOL= «1253413 3-0 S50LID 45
+LaYCy2C= 375404 500, " 2175404 TEMP= 25.0 TAUMXS . 260315 SIGE= 50367
EP= -. 000002 -.000002 000002 -.000000 000000 -.000001 EPPR= .000002 ~.000002 ~-.000302
$16= -.,52801 ~a 497645 ~-.17258=01 -.40796=03 WL2824=02  =.49482-0%1 SIGPR® =a12470-01 ~.49768 -e53276
TTECETEYZ ORODERE lie 9TE g1s gug 944 950 251 X Y MAaTE 2 viLls L 1e50+10 N 1m0 SOLID 45
XCy¥Lg2C= «375404 150404 «175404 TLup=r 25.0 TAUMX= W26545 SI1GE= +50581
gEp= -.qg0002 -.000001 .000002 003000 -.000201 ~.000201 EPPR= .00D0202 -.000201 =-.000202
$16= ~.51111 -.46037 ~a?5328~02 L11270-03 =.77435=D1 ~.49131~01 §1GPR=S __«98558-02  =.471B2_ __  -.5170% e
EL= 633 NODES= 906 915 916 P10 945 951 952 946 MAT= 2 VOL= «1250+10 3-D SOLID 45
LR Y ') TIT5¥0% - 250%0% T 75+04 TEMP= 2540 TAUIE= « 39083 SIGE= NI TYES
Ep= -. 000002 ~.000002 000003 -.002000 «0730201 -.000001 EPPR= «023033 _ ~.000002 ~.000202
T OSIGE  ~.4S5069 -.52481 «24330 ~a33628-02 +63515-01 ~+48080-01 SIGPR= 25182 ~ek5399 ~a52984
EL= 634 NODES= 910 61& 917 911 946 952 953 947 MAT= 2 VOL= . 1250+10 - - A - 3-p SOLID 45
XC,¥C, 2(= +375+404 «350+04 «175404 TEMP= 25.0 TAUMX= 297183 SIGE= 17111
EPE =2 000TT? =.Juuous < 0D000% =L 00ODoU L 0J0I10 = 000001 EFPR= soooan ¥ —L.qoguneg -. 000906
§16=  =.44230 -o75507 48216 ~.11450=02 74809 ~h 944201 SIGPR= «B3588 44330 -1.1078
LL= 635 NODES= $11 ©17 918 ©12 947 ©53 954 948 MAT= 2 vOL= .1250+1D 3-b SOLID 45
TTXCYYC,Z2C= T W 375404 T 4450404 »175+04 TEMP= 25.0 TAUMX=  1.2320 SIGE= 241403 o oo
Ep= -, 000602 008000 -.000001 ~.000000 000016 -.000001 EPPR= 000007 -.000002 -.000009
S16S  ~.7TE28 “L L L03L = 66007 P YL T A0k 1ee25s =5 508T=-07 SIGPR= NYLEL] el 1716 ~1.7847
EL= 636 NODES= 913 91%° 920 914" 949 955 956 950 "war= 2 VOL=s" .1250+10° ) - Tt T T T 3ep SOLID 45T
XC,¥C,y2L5 625404 S00. «1725404 Tenp=  25.0 TAUMX=  .21081 51GE= 40564 i
TEp=  TT~.000001 -.000002 000001 .003000 .025300 000001 EPPR= L0330D7 ~-.000301 =.000302
5165  =.43961 ~o 48887 -2.82554~01 +14898-02 .42373~02 o752640=-01 S1G6PR= =.67300~D1 =.45481 - 48893




s ™

AET AT TNODESE YT R e TR T YIS Y S 956 IS T TS TTTNAYTE 2 YOLR T1250% 7O T<D oS00 45
XCs¥C 205 625404 150404 «175+04 TEMP=  25.0 TAUMY= 21471 SIGE= 409467
Ep= -, 000001 -.000001 000007 .06a0cn -.000001 ~000G01 EPPR= 000001 -~ 000001 -. 000002
§16= —.42358 -h 4910 _—.72805-01% .22088-02  ~.78382~01 2 74609=-01 SIGPR= =443204701 =o42975 _  =d47263% .
E}= 638 NODES= 915 921 922 914 951 957 958 952 MAT= 2 \VOL= »1250+10 I-D SOLIL 45
TN L YLLICE w625 0% L 25SDFTY T 750 TTERMPE 2550 TAURK= «3SB2E §TGE= 65420
£p= -.G000D 1T -.000002 _.000002 L000C00 » 000001 _ .DODODY  EPPR= .000902 -.000001 . -.000002 _ )
S1G="" «.35449 -.50965" «15538 W 62163-02 W64372-01 .73157-0% SIGPR=  .20099 -~ 36439 -.51556
tL= 439 NODES= 916 922 923 9177 952 958 " 959 953 MAT= 2 VOL=  .1250+10 - T B 3-p SOLID 45
_ACs¥C,2C= 625404 +350+04 $175404  TEMP=  25.0 TAUMK= 496005 $1GE= 1.6759
Ep= -.0000617 -.00000% . 000004 . 000000 .0009310 .000001 EPPR= 000006 «, 000001 ~. 000006
S16=  ~.36812 s 74988 _ 42240 «16859-n2 75697 W 75344=01 SIGPR= W 79765 _ _ =~.37081 -1,1224
EL= 640 NODES= 917 923 924 918 953 959 960 &54 MAT= 2 VOL= .1250+10 o 3~p SOLIP 45
AC,YC42C= WG25+404 2450404 « 175404 TEMP= Eu0 TAUMX= 1.2538 SIGE= 21727
Ep=  =.000001 000000 -.000002 .0020048 000016 ,000001 EPPR= .000007 ~-. 000001 -.,000009
§16="  =L6261b - 40574 -7 1320 L 23064 ~01 Te2616 W 77963-01 SIGPR= 269562 -.62830 -1.8119
CL= 641 NODES= 916 925 926 920 955 961 962 956 MAT= 2 VOL= «1250410 ) - 0T T 3ep SOLIDT 45
¥C,¥C,2C= 875404 500. «175+04 TEMP= 25.0 TAUMX = « L6303 S1GE= .83838
EP= -, 000002 ~. 000002 . 000002 -.000000 LOC0000 -.000004 EPPR=® .000003 -.000002 ~, 000003
$16=  =.560712 ~. 58231 13115 -, 3885702 4570602 ~,27947 SIGPR= «22505 = 45233 -.70100
EL= 42 NODES= 920 926 927 921 956 962 543 957 MAT= 2 VOL=  1250+10 o X I~D SOLID 45
XL, ¥C,2C= 875404 150404 «175+404 TEMP=  25.0 TAUMAS 46717 SIGE= 83942
EpP= -. 000002 ~.(00001% 000002 -.0000800 ~-.000001 -, 000004 EPPR= _ .000003 -.000001 =-.000003
SI16=  =.59484 = b 4450 «14130 “252561=02 =~ 76463=01 -. 27879 SIGPR=  #24228 - 44825 - 69206
LS 64 T HODESTE 02T 927 926 VZZd 957 963 PeL T TSE WAYE ¢ VOTE P AR 3«0 SOLID 453
XC,YL,2C= 875404 « 250404 «175404 TEMP= 25.0 TAUMX= «54157 SIGE=®  $.0353
Ep= -, 000002 -. 000002 .000004 -.000C00 000001 -.000004 EPPR= .000004 -.000002 ~.000003
$16=  =.53657 ~.50642 «39027 ~,82313=02 w62586=01 -, 27565 _SIGPRS  «47006 _ __ =-«50970_ -.561308 o
L= 644 NODES= 922 928 929 923 958 984 945 959 MAT= 2 VOL= .1250+10 I=-p SOLID 45
AV Ty iE TH7TST04 2 350F0% LT 75+04  TEWPE 25.0 TAUMX=  1.0406 SIGE= 1.8641
tp= ~J. 000002 ~. 000004 000005 « 003000 L000310 -. 000003 EPPR= .000007 ~. 000002 ~.000006
v 16=7  ~ 51055 ~a74128 «&2055 ~.68699=02 ThE56 - 26845 S1GPR= «99135 -.53280 ~1.0898
€l= 645 HODES= 623 929 930 924 959 9465 G466 660 MATS 2z WOL= 1250410 T 3«0 SOLID 45
10, ¥C,2C= J8T75404 450404 «175+404 TERP=  25.0 TAUMX=  1.2577 _S16E= 2.1937
TEFS = Onouy? —.gonuno =L 0oonot TR} L 000076 -. 000003 EPPR= .000008 -, 000002 -.000008
S16=  -.313GD -e45923 -.56349 - 42426-01 1.2317 -.24704 S1GPR= 74760 -a.81554 ~1.7678
ELs 44& HODES= 625 031 932 926 961 957 968 962 MATs 2 VOL= . 1250+10 3<D SOLID 1.§ .
eCyYCa2C2 "7 112405 500 175404 TEMP= 25.0 TAUMX=  1.0254 S1GE=  1.7936
EP= -. 000001 -.000002 -0000M 000000 -000000 .000013 EPPR= .000007 -, 000002 ~-. 000007
5IGS = kO7aT Y 1+ X A — 1315y L 3060802 46070072 10161 STIGFHR=E EYIH ~ub9734 -1.2947
EL= 647 MHODBES= 926 932 9313 927 942 968 949 963 vAT= 2 voL= T 1250410 T ° i T T T I-p SOLID “45° T 7
XC,¥C, 2C= » 112405 150404 «175404  TEMP=  25.0 TAUMX=  1.0318 S1GE= 1.7085 5 A
EP= -.000001 ~.000001 000001 -.000000 -, 300301 000013 EPPR= .D00007 -, 0000019 -.000007
$16= =.19§9% - 46302 -.12371 -.,30292-0¢ -e73257=01% 1.0200 SIGPR= 77057 -2 46313 ~-1.2931
3 au
Y
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TELETTE4ET NODESE T YT Y Ty 9 eI T Ty T YT Vs HAT S & VOLE sTZ50+T0 I=DS0LTL 45

XC,¥C 20 « 112405 «250+04 175404 TEMP= 25,0 TAUMA= 1.0387 SIGE=  1.8426 )
“Tgp= -.00o0m -.000002 000002 .000000 .060001 .000013 EPPR= » 000007 -, 000002 -.000006
5162 —.36064 -.52346 _ 10850 £93537-02 W56E80-01 1.0103 _ SIGPR= _ 91288 ~a52399  =~1.1545 e
EL= 649 NODES= 928 934 935 929 G864 97D 971 965 %AI= Z VOL= #1252+412 3=-D $OLID 45
TRCRYCyICS T S 2R0S SIS 0A0G LT75+#0% TLMP= 25,0 TAURR=  1.2386 SIGE= 2.2217
£p= ~-.G00001 -.000003 .0000603 .006001 .000009 .000012 EPPR= _ .00000% _  -.000003 -.000007
SIG=  =.37470 ~.73133 7 7 J3z100° .58385-01 68575 93775 SIGPR= 11,1727 ~a64316 ~1.3046
EL= 450 NODES= 029 035 0347 °030 945 9717 972 0946 MAT= 2 VvVOL= .1250+10 - T T T 3-D SOLID 4S5
XCyYCy26= 112465 450404 «175404 TEMP= 25,0 TAUMX=  1.4070 SIGE=  2.4382
L =L 00009 Loounhan ST ]o] ¥ .000002 .00009% .00009% EPPR= L00D008 -.000201 -.000210
§16=  =,50487 =.38921 _  =.6B518 £ 11757 1.11%1 «83257 SIGPR= _ 90554 _  =.5753D «1,.9085
EL= 451 NODES=s 937 943 944 G638 973 973 980 974 MAT= 2 vOL= »1250+10 . i _3-D sOL1D 45
“XCy YLy, C= +125+04 500. T TL225404 TTEMP=  25.0 TAUMX= 1.7300 S51Ge= ~ 3.4538
Eps= ~, 000011 ~.200011 000011 0030489 -.0239200 000001 EPPR= 033311 ~. 030011 -,000211
516 =~3a44584 =3 4474 —eiiG30~02 w5L7¢0-03  =—a37866-02 W67703-01 SIGPR= & 17717=03 =3 ,4474 ~3.4597
EL= 652 NODES= OI8 944 9457939 974 ¢80 981 975 MAT= 2 VOL= «1250+10 T T T T zep sOLID A4S T
RE,¥C,2C= 125404 «150+04 .225+404 TEWP= 25.0 TAUMXS  1.7684 SIGE=  3.5111_ » .
EP= -. 000011 -.000012 © TL000011% .000000 -.000001 .0000071 EPPR= .000011 -.0006011 -.00091%2
SIG= =3,4856 -3.5302 «62555~04 «85198=-03  -,47368-01 .67225-01 S1GPR= «19928-02 -3.4849 -3,5300
tL= 653 NODES= 939 945 3546 940 975 81 9282 974 MAT= 2 VOL=  41253+13 L I~p SOLID 4§
AC,¥Cy2C= « 125404 © .250404° T.225404 TEMP=  25.0 TAUMX= 1.7860 SIGE=  3.5428
£p= -. 000011 ~.000012 000011 .000000 000001 .000001 EPPR= _ 000011 -.00001% -.000012
T §I6= ~3,4750 «3.5348 T l34665-01 «38271-02 .50352-01 265922-01 SIGPR= 0 36514~01 =3.47561 =3.5354
EL= 654 RODESTE 940 946 947 9&T 976 9BZ GBI 977 WATE 2 VOL=  +1e50+TH I=p sOLIb 45
_XC,YE,2C= 125404 +350404 4225404 TEMP= 25,0 TAUMX=E  1.6593 SIGE=  3.1299 B
EP= -.000011 -.000008 .000010 003008 030206 «D00DOY  EPPR= .020012 -.00000% -.000211
§I1G= ~3,2008 =2.7111 _ _ _ .43581-01 L 26326-02 +449856 64232-0% SIGPR= 11642 ~2.7B25 _ =3.2022 . _
EL= &55 NODES= 941 947 94B 042 977 983 S84 978 MAT= 2 VOL= +1250+10 3-b SOLID 45
XC,1C,2C= 125+ 04 LS 0¥04 w225 +04 TERP= 25.0 TAUMNX=  1.421¢2 SIGE= 2.4619
Ep= -, 000011 -, 000000 . 000005 .000000 .a0a007 000001  EPPR= .000007 -.000002 -, 000331
§16= =2,.5529 TTma94328 T T = 66978-01 +89886-02 #53479 #67626=01 SIGPR= 18772 ~1,1962 ~2.6547
EL= 64586 NODES= 043 949 050 044 979 985 986 980 MAT= 2 VOL®  .1250+10 ° - g 3-p SOLID 45
XC.¥C,2C= «375404 500. «225404 TEMP= 25.0 TaJMx=  1.713% SIGEs  3.4237
EPE ER LI ] =, 000011 L 00007 =~ 000000 «. 009200 «~.000001 EPPR= ,003313% -.006011 -.0D0011
_S16=  =3.4346 _=3.h446 -.18588-01 -.22088~-D3  =.37775~02  =.62731-01 SIGPRT =.17433=01 =3.4378 _ -3,444p
EL= 657 NODES= 944 950 951 ©45 980 985 987 981 MAT= 2 VOL=  ,1250+10 i 3-p sSOLLID 45 N
AC Y0y 2C= «3754047 TL.150404 T T.225+04° TEMP= 25.0 TAUMX = 1.756458 S1GE= 3.4810 )
EP= -. 000071 ~,000012 . 000011 -.000000 -.000001 -,000001 EPPR= .000011% -.000011 -, 000012
S16= =3.4625 =3.52¢81 = 17459=01 - 2e990-0%  =.47188-01 ~ab2118-01 S16PR= =—a15&596=01 -3.,4636 -3,5288
EL= 658 ~ NODES= G945 9517 952 “94467 7981 S8V 988 982 "MAT= 2 vOL= «1250+10 7 - Tt T T T 3LpTsonIn 4SS
XC,¥C,2¢C= «375+04 «250404 225404 TEMP= 25.0 TAUMX= 1.7762 SIGE=  3.5135 _ .
EP= 7 ~,000011 -.000012 ~ 7 .000011% ~-.000000 000201 =-.000001 EPPR= .000311 ~u 300011 -.000012

SIG= ~344555 =3.534% «15014-01 ~.31059-02 «47301-01 ~«61090-01 SIGPR= 1673101 =~3.4565 ~3.5357




ECSTT659 TUNOGESE TGE 05T 05T T 047 T 0829887989983 TARTE 2T voLsT 1250410 3B S6LTD 435
%XCaY¥CIC= 375404 . 350404 .225404 TEMP= 25.0 TAUMK=  1.6394 $16E=  3.,0998 i

EP= -.000011 -. 000008 © .000010 -.00000%5 000206 -.060001 EPPR= .000010 -.0020009 -.000011

JIG=  =3.1763 -2.7100 .28858-01 -.19564=02 L4798 ~.60112-01 §1GPR= 10136 ~2.7812. ~3,1775 . —
EL= 660 NODES= 947 953 954 948 983 989 992 984 MAT= 2 vOL= «1250+10 3-p 50L1D 45
CRENCTICE T L 37s+4 L hs0w04 Li25+04 TEMP=  25.0  TAUMK=  1.4046 SIGE=  2a4329

EP= _ -.000011 -,000000 .000005 -.000000 .000007 -.000001 EPPR= 000007 . -.000002 ~.000011

S16=" -2.4380 -e95517 ~,83537-0% -.12054-01 .53176 ~.63538~01 SIGPR= 156958 ~1.2067 ~2.4395

tL= 661 NODES=T 949 955 056 950 985 991 092 986 MAT= 2 VOL=  +1250+10 3-p SOLID- 45
ACHYC4,2C= 2625+04 500, $225404 TEMP=  25.0 __ TAUMX=  1.7315 SIGE= 344674
TEpE - 0000119 =, 000011 .000011 .000000 =, 000200 .000001 E£PPR= . 000011 -.000011 -.000011

S1G=  =3,4024 -3.4087 «527968-01 1068402  —.38677-02 .69160~01 SIGPR= _.54187-01 -3.4036 ~3.4089

EL= 662 NODES= 950 ©55 037 951 986 992 993 987 MAT= 2 VOL= «1250+10 } 3-D SOLID AS
AC,¥Cy2C= 525404 « 150404 .225404 TEMP= 25.0 TAUMX=  1.7738 SIGE=  3,5175

Ep= -.000011 -.000012 000011 000000 -.000001 000001  EPPR= L000011% ~. 000011 ~.000012

$16=  =3.4287 =3.4895 255275-01 22691e-02  ~+47945-01 o 6B208-01 BIGPR=  o57256=31 =3.,4203% =3.4900

EL= 663 NODES= 951 957 ©58 952 987 993 994 988 MAT= 2 vOL= 1250410 o I-Dp SOLID &S )
XCy¥LyzCs 525404 «250404 2225404 TENP= 25.0 TAUMXS  1.7932 SIGE=  3.5477

Ep= ~-.000011 -.000012 000012 000000 Y .000001 000001 EPPR= .006012 -.000011 -.000012

SIGc  =3.4138 ~3.4928 90664-01 .53012-02 W50668-01 W67423~01 SIGPR=  «92679-D1 ~3.4149 ~3.4938

EL= &64 MNODES= 0S?2 9S8 959 953 GBS G064 995 GREY MAT= 2 NOL= 21250410 i 3=p SOLID 45
XCe¥YC,2C=  #625+04 «350404 225404 TEKP= 25.0 TAUMX=  1.6581 SIGE=  3,1324

EP= ~-.000011 -.000008 .000010 .000000 000006 .000801 EPPR=  _ 00001 -.000009 -, 000011

SI1G= ~=3,1488 =2.46701 +91674~01 £ 3849702 65441 L67153-01 S5I16PR=  «16587 ~2.7428 ~3,1503
LTSS ROEESE T USI WSy WET US4 YEOTTU9R T 9GE 990 wAT=E 2 VOL= «1250+10 T-p SOLID 45
XCy¥Cy2L= 625404 450404 #225+04 TeEMP= 25.0 TAUMX=  1.4179 S1GE=  2.456%

EP= -.000011 -.020000 000005 .000000 .000007 000001 EPPR= 000007 ~.000002 -.000011

516 ~245961 -.88947 -a22131-0% 020186-01 «53915 +69033-01 SIGPR= _ e23790__ __ ~1.1476 __ _ =~2.597% e .
L= 6646 NODES= 055 061 962 956 991 997 998 992 HMAT= 2 VOL= 21250410 3-0 SOLID 45
HE, YV, 26E LB75+04 500 L 225F04  TEMFE 2540 TAUMK=  1.8518 §iGe=  1.6026

EP= -.000013 ~.000011 .00001% -.000000 -.000000 ~,00002 EPPR= .000011 -.000011 ~.000313

5I6= =3.,8212 T =3.6169 -.13126 -.37189-02  =.35702-0D2 =~.15790 SIGPR= =.12451 ~3.6169 ~3,8281
EL= 667 NODES= 956 962 9§43 957 992 998 999 993 MAT= 2 VoL=  .1250+10 3=p SOLID 45
XCs¥YC,2C=  LB75404 150404 225404  TEMP= 25.0 TAUMX=  1.B685 SIGE= 3,459 —

EP= =,o000T3 =.0000712 »00007TY =L 000000 =. 0006007 -=.000002 EPPR= .000012 -.000012 ~-.000013

S1G6=  =3.8540 -3.7000 -.13147 “.68248-02  =.46475-01 -.15791 SIGPR= =s12419 =~3.7001 ~3,8612

EL= 668 NODES= 957 963 964 958 993 5§59 1000 994 HAT= 2 VOL= .1250+10 Z=b SOLID 45
XC,¥ly2C= «875+04 2250404 2225404 TEMPs 25,0 TAUNMX=  1.88D9 S16Es  3.689d

Ep= -.000013 -. 000012 . 000012 ~.000000 000001 -,000002 EPPR= 000012 ~. 000012 ~-.0600013

SIGE =3.8450 =3.70%9 —.GEE03-01 - 499041 -02 L G793=D1 -.15560 SIGPR= =o89665=01 ~3.7326 -3,8515
AL= 649 HNODES= OS5E 964 965 959 994 1000 1001 995 MAT= 2 voL= ~ ,1250+10 ) ) - 3-p SOLID 45
L, Y0 26 875404 350404 2225404 Temps 25,0 TAUBR=  1.7698 $I6E=  3.2804

Ep= -.000012 ~-.000008 000010 ~.000000 .000004 «.000082 EPPR= 000010 ~-.000009 -.000012
_S$16= _ -3.5290 ~2.8656 ~e72330-01 -.18318-02 bbb -, 14994 SIGPR= 235127=02 =2.0345 «3,5340




= ECST6TO TNODES=E 9SG RS 986 9607905 1007 0027 996 THATSE 2 TVOLE «1250+10 3= soLip 45
%Ly YL,2E= «8725+04 450404 «225+404  TEMP= 25,0 TAUMN=  1.5174 S1GE=  2.63272
TEPs -.000012 -.000000 000006 -.000000 .000007 ~-.000002 EPPR= + 000007 -.000002 ~-. 000012
SI6=  =2.9495 -1.0928 =+17157 ~«25577-01 53244 ~s14046 SIGPR®  o78175=-031 ~1.3354 ~2.9566 — e
EL= 671 NObES= 981 967 968 962 997 1003 1004 698 “AT= 2 VOL= +1252412 3-p SOLIDB 45
TRCLYCHICET U ESGS 500% ZZ5¥04 TENPT 25.00 TRUMKS  1.5976 S1GE=  2.990%3
Ep= =, 000006 -.0000117 __ _.000009 .000000 ~.000000 .000007 EPPR= ~000009 -.000007 _ -.000011
SIG= -2.1939 -3.0038 .30582=01 .30112~02  -.38%87-02 51342 SIGPR=  «192140 -2a3044 -3.0039
EL= 672 KODES= 9482 948 96% 963 9%8 1004 1005 999 vaAT= 2 VOL= 21250+10 B ) 3-D SOLLID 45
_ XCe¥CyIC=  .112+05 +150+04 «225404 TEMP=_ 25.0 __TAUKX=  1.6379 __SI1GE= 249711
EP= -. 000008 -.000072 .00000% .000000 -.000301 .000007 EPPR= 000010 ~-.000007 ~-.0000312
S1G6=  -2.2147 ~3.0815 «B2777-01 «19158-02 = 44204-01 «51558 SIGPR™ 19364 ~243269 -3,0822
EL= 673 KODES= 943 969 970 %64 969 1005 1006 1000 MAT= 2 VOL= «1250+10 ) 3~p SOLLID 4§
ALy ¥L,28= 2 112+05 « 250404 «225+04 TEMP= 25.0 TAUMX= 1.6558 51GE= 3.0073
__Ep= -, 008004 -.000012 . 000009 -.005000 000001 .G0D007 EPPR= .003010 -.000007 ~.000312
5IG= =2.2375 =3.0916 « 11254 -.561306-03 4576801 «50900 SIGPR= 221863 ~2.3429 =-3.0926
EL= &74 NODES= 964 970 971 965 1000 1006 1007 1001 wMAT= 2 VvOL= 1250410 i 3=p SOLID 45 i
XCy¥YCy2C= « 112405 «350+04 225404 TEMP= 25.0 TAUMK = 13539 SIGE= 2.5779 .
Ep= -. 000007 -.000008 000008 000000 .000005 000006 EPPR= «002009 -«000007 ~-.000309
$16= ~2.0853 -243522 « 11390 «10358-02 40949 JAELTY SIGPR= + 26963 -2.1551% ~2,4381
EL= &75 NODES= 965 971 972 966 1001 1067 1008 1002 ®MAT= 2 VOL= «1250410 . 3-p SOL1D 4§
XCyYCLalC= «112+05 «450404 «225+404 TEMP= 25.0 TAUMX= 1.0468 S1GE= 1.8276
Ep= -.000007 ~. 000001 000004 000000 .0000046 000005 EPPR= 020006 -2 000002 -+ 000008
516 —1.6697 - 75737 a27927-02 152346~01% «4B834 41647 S1GPR= «31541 ~a96155 -1.7781
*hk ELEMa STRESS CALC. TIMES
TYPE NUMBER STIF TOTAL (P AVE CP .
1 675 45  263.250D -390 . o _ o e
2as STEP 1 1TER 1 COMPLETE. TIHWE= .00co00 KDIS= 1 KTEMP= 0 CUM. ITER.= 1
STORAGE REGUIREMENTS (DECIMAL} FOR STRESS AND FORCE CALCULATIONS CP= 210B.149 o
SYZE OF ABS= 64472 MENORY= 7100 TOTAL® 71572 MEMORY AVaILasLe= 30000
£
CORE NEEDED TO LOAD = 64462 QQ
THAXIAUN WORK AREA USED = 15692 =
MAXIMUM TOTAL MEMDRY USED = 80154 L. .

1989920 WORDS WRITTEN ON BLOCKS 1 AND 2
619396 WORDS WRITTEN ON BLOCK 3

2687 ACTIVE DEGREES OF FREEDOM

10946 ReMoeSs WAVEFRONT_

MATRIX SOLUTION TIME ESTIMATE {UNIVALY =

1290.83 SELONDS.




